

Magnolia Public Schools

Academic Committee Meeting

Date and Time Thursday February 16, 2023 at 5:00 PM PST

Location

https://zoom.us/j/95296224921?pwd=SE1KQ3JoYUIDcW5NbFRicWFkZERVQT09

Meeting ID: 952 9622 4921 Passcode: 359662 One tap mobile: +16694449171,,95296224921# US

All members of the public can participate by calling in using the numbers provided above.

In compliance with the Americans with Disabilities Act (ADA) and upon request, Magnolia Public Schools may furnish reasonable auxiliary aids and services to qualified individuals with disabilities. Members of the public who need special accommodations or translation are strongly encouraged to contact Magnolia Public Schools at least 24 hours in advance of the Board meeting so assistance can be assured.

Any public records relating to an agenda item for an open session which are distributed to all, or a majority of all, of the Board Members shall be available for public inspection. Magnolia Public Schools values public comment during Board meetings. Pursuant to AB 361 members of the public may address the Board during the Public Comment period on the day of the board meeting without the need to complete a public speaker form. We limit individual speakers to three (3) minutes and speakers with interpreters to six (6) minutes. For any questions regarding this meeting email board@magnoliapublicschools.org or call 213-628-3634 Ext. 21101.

Academic Committee Members: Ms. Diane Gonzalez, Chair Ms. Sandra Covarrubias Mrs. Esra Eldem Tunc Mr. Daniel Sheehan (alternate)

CEO and Superintendent: Mr. Alfredo Rubalcava

Agenda

	Purpose	Presenter	Time
I. Opening Items			5:00 PM
A. Call the Meeting to Order			1 m
B. Record Attendance and Guests			1 m
C. Approval of the Agenda	Vote		1 m
D. Public Comments			3 m
E. Approval of Minutes for Regular Academic Committee Meeting on October 13, 2022	Approve Minutes		1 m
II. Recommended Action Items			5:07 PM
A. Recommending to Approve Houghton Mifflin Harcourt (HMH) as New Math Curriculum Provider	Vote	Traci Lewin	15 m
III. Discussion Item			5:22 PM
A. Academic Updates	Discuss	Erdinc Acar	35 m
IV. Closing Items			5:57 PM
A. Adjourn Meeting			1 m

Coversheet

Approval of Minutes for Regular Academic Committee Meeting on October 13, 2022

I. Opening Items
E. Approval of Minutes for Regular Academic Committee Meeting on
Approve Minutes
Minutes for Academic Committee Meeting on October 13, 2022

Magnolia Public Schools - Academic Committee Meeting - Agenda - Thursday February 16, 2023 at 5:00 PM



Magnolia Public Schools

Minutes

Academic Committee Meeting

Date and Time Thu Oct 13, 2022 at 5:00 PM

Location

APPRO

https://zoom.us/j/95296224921?pwd=SE1KQ3JoYUIDcW5NbFRicWFkZERVQT09

Meeting ID: 952 9622 4921 Passcode: 359662 One tap mobile: +16694449171,,95296224921# US

All members of the public can participate by calling in using the numbers provided above.

In compliance with the Americans with Disabilities Act (ADA) and upon request, Magnolia Public Schools may furnish reasonable auxiliary aids and services to qualified individuals with disabilities. Members of the public who need special accommodations or translation are strongly encouraged to contact Magnolia Public Schools at least 24 hours in advance of the Board meeting so assistance can be assured.

Any public records relating to an agenda item for an open session which are distributed to all, or a majority of all, of the Board Members shall be available for public inspection. Magnolia Public Schools values public comment during Board meetings. Pursuant to AB 361 members of the public may address the Board during the Public Comment period on the day of the board meeting without the need to complete a public speaker form. We limit individual speakers to three (3) minutes and speakers with interpreters to six (6) minutes. For any questions regarding this meeting email board@magnoliapublicschools.org or call 213-628-3634 Ext. 21101.

Academic Committee Members: Ms. Diane Gonzalez, Chair Ms. Sandra Covarrubias Mrs. Esra Eldem Tunc Mr. Daniel Sheehan (alternate)

CEO and Superintendent: Mr. Alfredo Rubalcava

Committee Members Present

D. Gonzalez (remote), E. Eldem Tunc (remote), S. Covarrubias (remote)

Committee Members Absent

None

Guests Present

J. Obuchi (remote)

I. Opening Items

A. Call the Meeting to Order

D. Gonzalez called a meeting of the Academic Committee of Magnolia Public Schools to order on Thursday Oct 13, 2022 at 5:01 PM.

B. Record Attendance and Guests

C. Approval of the Agenda

D. Gonzalez made a motion to approve the agenda as presented.

S. Covarrubias seconded the motion.

The committee **VOTED** unanimously to approve the motion.

Roll Call

- D. Gonzalez Aye
- E. Eldem Tunc Aye
- S. Covarrubias Aye

D. Public Comments

There were no public comments

E. Approval of Minutes for Regular Academic Committee Meeting on March 17, 2022

S. Covarrubias made a motion to approve the minutes from Academic Committee Meeting on 03-17-22.

D. Gonzalez seconded the motion. The committee **VOTED** unanimously to approve the motion.

Roll Call

E. Eldem Tunc Aye D. Gonzalez Aye S. Covarrubias Aye

II. Discussion Item

A. Academic Updates

E.Acar, the Chief Academic Officer, and other members of the Academic Team provided updates to the committee members. The following items were discussed: general updates, special education updates, assessment results, instructional programs and support, college programs updates, student attendance data, and program updates from MPS Home Office Academic Team Members.

III. Closing Items

A. Adjourn Meeting

There being no further business to be transacted, and upon motion duly made, seconded and approved, the meeting was adjourned at 5:59 PM.

Respectfully Submitted, D. Gonzalez

Coversheet

Recommending to Approve Houghton Mifflin Harcourt (HMH) as New Math Curriculum Provider

Section:II. Recommended Action ItemsItem:A. Recommending to Approve Houghton Mifflin Harcourt (HMH) as NewMath Curriculum ProviderVotePurpose:VoteSubmitted by:Agenda Item #IIA Rec to approve updated.pdf





Agenda Item:	IIA: Recommended Action Items
Date:	February 16, 2023
To:	Magnolia Educational & Research Foundation dba Magnolia Public Schools ("MPS") Academic
	Committee (the "Committee")
From:	Alfredo Rubalcava, CEO & Superintendent
Staff Lead(s):	Traci Lewin, Director of Math Programs
RE:	Recommending to Approve Houghton Mifflin Harcourt (HMH) as New Math Curriculum
	Provider

Action Proposed for Board Recommendation:

I move that the MPS Board of Directors Academic Committee recommend HMH as new math curriculum provider.

Purpose:

To adopt new mathematics curriculum to better support instruction of common core math standards.

Background:

The math materials that are currently being used were adopted in 2014 with the implementation of common core state standards. The materials were adopted for an eight-year cycle, thus the current math materials will expire at the end of the 2022/2023 school year. Curriculum review and reflection sessions were held with elementary and math teachers and school site leaders to determine if our current materials met the needs of the organization. It was determined that it would be best to embark on a curriculum adoption process instead of continuing with the current materials, as they did not meet the aliment to common core state standards. In addition, a vote was conducted regarding the high school mathematics pathway. Majority of teachers (76%) and school leaders (58.3%) voted to return to the traditional mathematics pathway as it would better serve our students.

<u>Analysis:</u>

To support the process of adopting new mathematics materials, we applied for and were selected to receive support from the CalCurriulum Mathematics Materials Adoption Cohort for both the 2019/2020 and 2020/2021 school years. The cohort allowed us to participate in professional development to design a curriculum adoption process to meet the needs of our organization. It was extremely beneficial to participate in the cohort as it allowed us to have a clear process and timeline for this math curriculum adoption.

Being that this is an off-cycle materials adoption, <u>California Ed Code 60201</u>, that allows for off-cycle adoption of materials, was followed closely. As part of the Ed Code, we ensured standards-aligned materials were selected and that the majority of the curriculum adoption committee is composed of subject or grade-level teachers. During the summer of 2022, we held an intensive materials study. A teacher representative from each school site, and each grade band (TK-2, 3-5, 6-8, HS) attended to hear





from publishers and review materials. The committee, made up of only teacher representative and one English Learner expert, then narrowed down the selections to two curricula to move forward for final consideration.

During the first semester of the 2022/2023 school year, the elementary and math teachers across the organization participated in lesson studies, material reviews, publisher presentations, and discussions regarding the two curricula being considered. In December of 2022 math teachers voted for their choice of materials and in January 2023 elementary teachers voted for their selection. When all votes were tallied, Houghton Mifflin Harcourt (MHM) Into Math/ Into AGA was the choice for math curriculum with 66.7% of the vote.

Budget Implications:

The estimated cost of a five-year adoption of HMH is projected to be approximately \$742,570.64 and will be incorporated into the 2023-24 Adopted Budget for MPS.

Both print and digital math materials for TK/K through high school Algebra II for all five years are included in the quote, as is professional learning, teacher materials, and hands-on learning materials. Consumable workbooks for each student would be replaced each year for the duration of the five-year adoption.

Exhibits:

- Pg. 3: MPS materials Adoption Process
- Pg. 5: Curriculum Adoption Intensive Materials Investigation Outline
- Pg. 15: Quote from HMH
- Pg. 31: All School quotes from HMH
- Pg. 101: Presentation



History

Magnolia Public Schools last adopted mathematics materials during the 2014/2015 school year with the release of the California Common Core State Standards. At that time, McGraw Hill My Math (elementary), Glencoe Math Courses I-3 (middle school), and McGraw Hill Integrated Mathematics I-IV (high school) were selected by the MPS curriculum adoption committee for organization-wide adoption. The materials were adopted for an eight-year cycle, thus the current math materials will expire at the end of the 2022/2023 school year.

Since the previous mathematics materials adoption, there have been new mathematics curricula, materials, resources, and guidance released to support students in learning mathematics in alignment with California Common Core State Standards, as well as the Standards for Mathematical Practices. With that in mind, as the expiration date of our current materials approaches, it is time we engage in the curriculum adoption process to select updated mathematics curricula and materials to support all students in learning mathematics at a high level.

To support the process of adopting new mathematics materials, we applied for and were selected to receive support from the CalCurriulum Mathematics Materials Adoption Cohort for both the 2019/2020 and 2020/2021 school years. The cohort, which is a grant-funded partnership between EdReports and Pivot Learning, provides school districts and CMOs with support in creating a process to select high-quality, standards-aligned materials to support all students. The cohort allowed us to participate in professional development to design a curriculum adoption process that will meet the needs of our organization. The <u>final report</u> written by CalCurriculum shared the findings from the cohort and recommendations to district and charter management organizations regarding adopting materials off-cycle.

Process

The Establishing the Process Document was one of the tools provided to the members of the CalCurriculum Cohort. It is an outline of the committee members, parameters, stakeholder mapping and engagement strategies and timeline for the project. This document is used to track progress and next steps.

Establishing the Process Document

Magnolia Public Schools - Academic Committee Meeting - Agenda - Thursday February 16, 2023 at 5:00 PM



Magnolia Public Schools Mathematics Materials Adoption Process





Stage 1: Introduction of Project and Activation of Educational Partners

During this stage, communication with stakeholders regarding the upcoming expiration of the current curriculum and the need for updated mathematics materials was established. Professional development was provided to teachers and school leaders around the need for accelerated learning and the importance of covering grade level standards with the full intent of the California Common Core State Standards. Further professional development for math teachers was conducted around the shifts in mathematics instruction, focus coherence, and rigor. In order to promote full transparency, the project timeline was shared and discussed with specific tasks and items that are to be conducted monthly.

The first activity conducted was to establish a collective vision for mathematics education across Magnolia Public Schools and align it to the Student Learner Outcomes (SLOs) developed as part of the Portrait of a Graduate project. Math teachers, elementary teachers, Education Specialists, School Psychologists, Dean of Academics, Dean of Students, Principals, and Home Office staff gave input regarding what they would like to see in mathematics classrooms across the organization. During the December 2021 Math Department meeting, math teachers reviewed the feedback and aligned it to the SLOs. The steering committee reviewed all the feedback to determine non-negotiables that need to be included in future curriculum to ensure the vision for mathematics instruction and the SLOs are present in every mathematics classroom across Magnolia.

Another activity and decision that was made during this stage was determining high school mathematics pathways. During the implementation of California Common Core State Standards, schools and LEAs were given the choice to select the traditional high school mathematics pathway, Algebra I, Geometry, and Algebra II, or the integrated mathematics pathway, Integrated Mathematics I, II, III. MPS decided to select the integrated mathematics pathway. With the adoption of new curriculum this was a decision we needed to revisit. Pros and cons for each mathematics pathway were presented to the MPS high school math teachers and school leaders. They were then surveyed to determine which pathway they preferred.

Math Teacher Survey Results:



Currently, we offer the Integrated Math Pathway with Integrated Math I, II, and III. The other option is to offer the traditional math pathway of Algebra...u feel we should offer at Magnolia Public Schools? ^{25 responses}



School Leaders Survey Results:

Currently, we offer the Integrated Math Pathway with Integrated Math I, II, and III. The other option is to offer the traditional math pathway of Algebra...u feel we should offer at Magnolia Public Schools? 12 responses



With the majority of survey responses in favor of returning to the traditional mathematics pathway, it was determined that it would be best to find a curriculum to support the traditional mathematics pathway.

Stage 2: Research

After establishing a collective vision, aligning practices to the student learner outcomes, and determining non-negotiables for the organization, the next stage is to engage in research of current mathematics materials available. Before engaging in research, the mathematics pathways, especially at the high school level, were revisited, compared to the draft of the updated California Mathematics Framework, and



revised based on feedback. A <u>rubric</u> was developed based on the non-negotiables and mathematics materials criteria to ensure each set of materials was evaluated objectively.

Using the <u>rubric</u> and reports from EdReports.org, the steering committee engaged in months-long research of available mathematics materials for TK-12th grade. The committee identified the top rated standards-aligned materials for further review by the larger curriculum committee.

Math teachers were given the opportunity to apply to be a member of the math materials curriculum committee. A short application was created and math teachers were invited to complete the application if interested in being a committee member. In order to ensure equity among the schools, each grade band (TK-2, 3-5, 6-8, & HS) served by the school was allowed to have one representative. School Principals were then given the list of applicants and asked to approve or not approve them for the committee.

The committee members were welcomed to the committee and provided some general information to prepare for their role as a committee member. They were asked to review the <u>edreports.org website</u> to gain familiarity with the reports and resources available from the organization. In addition, the committee members were asked to review the draft of the <u>2022 revision to the California Mathematics</u> <u>Framework</u> in order to have an understanding of the changes that are being recommended.

Publishers of the top rated materials were invited to present to the curriculum committee during a <u>week-long intensive investigation</u> during the summer of 2022. The first day of the week was dedicated to professional development around the importance of high-quality and standards-aligned instructional materials and the rubrics used during the investigation process. Background information was provided for all the materials being presented. The next three days were spent interviewing publishers and learning more about the materials and how they could meet the needs of MPS scholars. Curriculum committee members rated each of the materials using the materials investigation rubric. The final day of the materials investigation included time for feedback and reflection. The committee then engaged in a consensus regarding the materials and which two should be field tested during the 1st semester of the 2022/2023 school year.

Stage 3: Field Test

After the intensive materials study, teachers participated in a materials review, lesson study and field test of lessons from the two curricula that were selected by the curriculum adoption committee.



Current units of study for unit I and 2 included I-2 lessons from each of the curricula. Teachers for each grade level collaborated and determined which lesson(s) from each of the curricula they wanted to use with students. They planned the timeline for when to deliver the lessons as well as discussed how they would teach and introduce the lessons. The teachers had a rubric to rate the materials based on ease of use, time needed for planning, timing of lesson, and student reception of lesson materials. Students were given a short feedback form to complete to share their thoughts about the lesson and materials as compared to the current materials being used in the classroom.

During the November 2022 Math Department PLC, the publishers being reviewed were invited to present to all teachers (elementary and secondary math teachers). The publishers presented an overview of their materials and answered questions posed by the teachers. This allowed teachers to interact directly with the publisher representatives and provide an opportunity for the publishers to present on how their materials would best support our students.

During the December 2022 Math Department PLC, the math teachers were given time to discuss the curricula before casting their vote. Elementary teachers were given the opportunity to continue reviewing the materials until January 2023, at which time they were asked to cast their votes.

Stage 4: Voting, Board Approval, and Adoption

During the lesson studies, pulse checks were completed to get an idea for which curricula teachers and students were leaning towards. The final vote took place in December 2022 for secondary teachers and in January 2023 for elementary teachers.

Voting results

Voting was conducted via Google Forms and sent out via email to elementary and math teachers. Teachers were given 7 days to cast their votes and provide feedback regarding which of the curricula they would like for Magnolia Public Schools to adopt. There were a total of 33 votes received and representation from each school site.

Overall voting results:



Which of the materials would you like to propose MPS adopts for its math curriculum? ^{33 responses}



In addition to voting for one of the curricula, teachers were asked to identify why they chose the materials they ultimately selected. Here are some of the responses from the teachers regarding their choice of HMH Into Math:

- "The material and the content of the HMH is well-designed and organized. It also allows for differentiating instruction." -Math Teacher at MSA-3
- "The ease of the book, awesome examples, and ideas it provides to help get conversations/teaching with students." -Math Teacher at MSA-Bell
- "HMH emphasizes the importance of establishing conceptual understanding and reinforces that understanding with procedural practice." -Math Teacher at MSA-2
- "Into Math has more opportunities for mathematical discourse; Into Math felt more accessible to students (ex: English learners, families, etc); options for warm-ups; language objectives. The mathematics components are interwoven with SEL and language supports AND having a variety of high-quality resources readily available so I don't need to spend my own money on TPT or even use extra time to make my own resources" -Math Teacher at MSA-5
- "This had more problem solving and hands-on activities. There are also CGI strategies in this program." -Elementary Teacher at MSA-SA
- "More user friendly and more online resources for students." Math Teacher at MSA-SD
- "I love the interaction it allows and real time teacher assessment." Math Teacher at MSA-4

The above quotes are just a snapshot of the feedback provided by teachers, yet they provide a comprehensive picture as to why 66.7% of the votes were to move forward with HMH Into Math.



Stage 5: Implementation

The new curriculum will be adopted for an initial five (5) year term. This will allow for the proper training and implementation of the curriculum with fidelity.

Curriculum Package

HMH offers a plethora of materials and resources. The curriculum package we are proposing for adoption would include both physical and digital materials for both students and teachers. In order to ensure students have the opportunity to participate in hands-on activities and make sense of mathematical concepts, manipulative kits are also included in the package.

In order to ensure implementation with fidelity, proper professional learning needs to occur on a regular basis. The initial professional learning needs to occur prior to elementary and math teachers leaving for summer break, ideally, this initial professional learning opportunity will take place in April. HMH has a "Getting Started" training that will be provided. HMH describes their "Getting Started" training as "This two-hour Getting Started session introduces teachers to their new program's structure, essential resources, and implementation recommendations. Teachers will also explore Ed, HMH's teaching and learning platform, and the professional learning pathway on Ed. Getting Started is the initial step toward a successful first 30 days. Ongoing training and support will be also provided on Ed. There, teachers will access a guided learning pathway based on their grade level and implementation timeline. A recommended sequence of topics, which includes live sessions, videos, interactive media, and related resources, will help teachers plan, teach, and assess student learning using their new HMH program. After teachers complete each pathway topic, they receive a certificate of completion." Additionally, teachers will have digital teacher materials available prior to summer break. Pacing guides will be created based on the new materials and provided to teachers.

During the 2023 summer symposium, there will be additional professional learning provided by HMH. This will allow teachers to gain further insight into the curriculum and how to best use it in their classrooms. Collaboration time will be included during this session to allow teachers to collaborate and work together with others that teach the same grade level and content. This will be conducted as part of HMH's Blended Coaching Membership. They describe this as "Blended Coaching brings the coaching experience into a small group context and opens up communication among teachers and/or instructional coaches. It is a collaborative conversation, focused on deepening understanding of student work, student learning targets, instructional practices, goal setting, and action steps. The introductory blended coaching annual membership powered by HMH Coaching Studio provides within the term of the



membership one (1) in-person coaching day, four (4) 30-minute live online sessions, and HMH Coaching Studio licenses, designed for up to 20 teachers." This would be designed by the grade band to focus on specific strategies and supports that are unique to each grade band of students.

The Blended Coaching membership would allow for ongoing professional learning to continue so teachers can grow their knowledge regarding the curriculum and promising practices for instruction. The customized learning pathway on Ed will allow us to ensure new teachers are onboarded properly and understand the robust supports that are available in the new materials.

The complete quote from Houghton Mifflin Harcourt is provided as a separate exhibit and details exactly what materials are being purchased and the exactcost for those materials.

Curriculum Adoption Intensive Materials Investigation

Background: As part of the curriculum adoption process and <u>California Ed Code 60201</u>, that allows for off-cycle adoption of materials, we need to ensure standards-aligned materials are selected and that the majority of the curriculum adoption committee is composed of subject or grade-level teachers. To ensure that the curriculum adoption committee is majority teachers and that time and space is dedicated to an in-depth, intensive investigation of curriculum available, a week-long materials investigation has been established.

Process: During the materials investigation, participants will engage in professional development in selecting high-quality curriculum using an equity lens, criteria for materials and the materials review rubrics. Participants will then engage in deep dives of curriculum meeting the criteria for materials and engaging with publishers. Finally, participants will make recommendations for up to two curricula to field test across the organization during the 1st semester of the 2022/2023 school year.

Logistics: Each school site will have a representative from each grade band (elementary, middle school, and high school) attend and fully participate in the materials investigation. Each participant will commit to attending the full materials investigation, engage fully in activities, and provide feedback. The materials investigation will take place from Monday, June 20, 2022 through Friday, June 24, 2022. The schedule and objective for each day is outlined below.

Day	Date	Time	Objective
Monday	6/20/22	9am-4pm	 Participants will engage in professional development in selecting high quality math materials, understand the criteria for materials, and receive training in the use of the materials adoption rubrics.
Tuesday	6/21/22	9am-1pm	 Participants will Review and participate in the publisher presentation for curriculums #1 & #2 Provide feedback and complete the adoption rubric for curriculums #1 & #2
Wednesday	6/22/22	9am-1pm	 Participants will Review and participate in the publisher presentation for curriculums #3 & #4 Provide feedback and complete the adoption rubric for curriculums #3 & #4
Thursday	6/23/22	9am-1pm	 Participants will Review and participate in the publisher presentation for curriculums #5 & #6

			 Provide feedback and complete the adoption rubric for curriculums #5 & #6
Friday	6/24/22	9am-1pm	 Participants will Review materials presented throughout the week Finalize rubric scores Engage in a conversation regarding materials Participate in a consensus regarding which two materials to field test

The format of the materials investigation will be hybrid. Participants will have the choice to participate in person from the Home Office or join via Zoom. Should a participant decide to join via Zoom, they agree to keep their cameras on. All participants agree to be fully engaged during the entire investigation and complete any work that is assigned. As this process will only work if all participants are fully committed to the investigation, failure to do so will result in being removed from the committee.

Compensation: Participants will be compensated at the summer rate of \$50 per hour for 24 hours of work. This is a total of \$1,200 per participant.

Number of participants: The number of participants is as follows:

MSA-1:	2 participants- 1 middle school math teacher & 1 high school math teacher
MSA-2:	2 participants- 1 middle school math teacher & 1 high school math teacher
MSA-3:	2 participants- 1 middle school math teacher & 1 high school math teacher
MSA-4:	1 participant- 1 high school math teacher
MSA-5:	2 participants- 1 middle school math teacher & 1 high school math teacher
MSA-6:	1 participant- 1 middle school math teacher
MSA-7:	2 participants- 1 TK-2 & 1 3-5 elementary school math teacher
MSA-8:	1 participant- 1 middle school math teacher
MSA-SD:	1 participant- 1 middle school math teacher
MSA-SA:	3 participants- 1 elementary math teacher, 1 middle school math teacher & 1 high
school math te	eacher

In addition, in order to ensure all students are represented, an Ed Specialist who supports mathematics from each grade band (elementary, middle and high school) and an ELD Coordinator from each grade band will also be included in the materials investigation.

School leaders are encouraged to participate in the investigation as well, however to ensure that teachers make up the majority of the committee, each school may send one representative to officially participate in the materials investigation.

The Home Office will have members of the Academic Team participating in the investigation as well. The final number of participants will be determined once the school participants have been

identified. Again, this is to ensure compliance with the majority of the committee being composed of teachers.



Houghton Mifflin Harcourt

Proposal #008619162

Prepared For Magnolia Ed & Research Fdn

Attention: Jenny Obuchi jobuchi@magnoliapublicschools.org

For the Purchase of:

Into Math K-8 and AGA 5 year

Prepared By Suzy Robins suzy.robins@hmhco.com

Please submit this proposal with your purchase order.

Purchase orders or duly executed service agreements for **Professional Services** purchased, must be submitted at least 30 days before the service event date.

For greater detail, the complete Terms of Purchases may be reviewed here: <u>http://www.hmhco.com/common/terms-conditions</u>

Send <u>Check Payments</u> to: Houghton Mifflin Harcourt Publishing Company 14046 Collections Center Drive Chicago, IL 60693 Attention: Jenny Obuchi jobuchi@magnoliapublicschools.org

HMH Confidential and Proprietary

Send <u>Orders</u> to: k12orders@hmhco.com FAX: 800-269-5232 HMH Orders 9400 Southpark Center Loop Orlando, FL 32819-8647

Please submit this form with your purchase order

	ISBN		Title	Price	Quantity	Value of All Material	Free Materials Quantity
S	<u>Gi</u> tudent Digital L	rade K icenses					
1789388	9780358398677 Includes:	Into Math Student License Digita Resources 5 Year Digital Grade K-		\$90.00	102	\$9,180.00	
т	otal for Student	Digital Licenses		\$9,180.00			
Т	eacher Digital L	icenses					
1808534	9780358555780 Includes: Into Math Digital Access to Teache	Into Math Teacher License Digita Teacher Resources 5 Year Grades er's Corner		\$375.00			4
т	otal for Teacher	Digital Licenses		\$0.00			
Α	la Carte Items	Available for Purchase					
Т	eacher Material	S					
1732957	9781328613998	Into Math Premium Manipulative	s Kit Grade K	\$378.90	4	\$1,515.60	
1753079	9780358132653	Into Math Teacher Edition Collec	tion Grade K	\$150.00	4	\$600.00	
1749826	9780358111931	Into Math Planning and Pacing G	uide Grade K	\$19.45	4	\$77.80	
1749808	9780358111757	Into Math TE Flipchart Grade K		\$109.90	4	\$439.60	
1749802	9780358111696	Into Math Unit Project Cards Gra	de K	\$14.85	4	\$59.40	
1749820	9780358111870	Into Math Game and Activity Car	ds Grade K	\$14.85	4	\$59.40	
1729167	9781328584106	Into Math Math Reader Collectio	n Grade K	\$31.60	4	\$126.40	
S	tudent Materials	5					
1814925	9780358608776	2020 Into Math Student Edition C Homework Journal Set 5 Year P		\$35.00	102	\$3,570.00	
Т	otal for A la Car	te Items Available for Purcha	ase	\$6,448.20			
T	0.1.1/			<u> </u>			
l otal fo	or Grade K			\$15,628.20			
	tudent Digital L						
1789388	9780358398677 Includes: Digital Student Implementation	Resources 5 Year Digital Grade K-		\$90.00	80	\$7,200.00	
Т	otal for Student	Digital Licenses		\$7,200.00			
Hough 14046	Check Payment nton Mifflin Harco Collections Cen go, IL 60693	urt Publishing Company	Attention: Jenny Obuchi jobuchi@magnoliapublicschools.org HMH Confidential and Proprietary		Send <u>Ord</u> k12orders@hi FAX: 800-20 HMH Or 9400 Southpark	mhco.com 69-5232 ders Center Loop	
	008619162	Sold:0000698750 Ship:000	0698750 Page 2 of 13	Please submit	Orlando, FL 32 this form with yo		der

	ISBN		Title	Price	Quantity	Value of All Material	Free Materials Quantity
Т	eacher Digital L	icenses					
1808534	9780358555780 Includes:	Into Math Teacher License Digit	al 5 Year Grades K-5	\$375.00			4
		Teacher Resources 5 Year Grade er's Corner	s K-5				
т	otal for Teacher	Digital Licenses		\$0.00			
Α	la Carte Items	Available for Purchase					
Т	eacher Materials	S					
1732958	9781328614308	Into Math Premium Manipulative	es Kit Grade 1	\$378.90	4	\$1,515.60	
1753080	9780358132660	Into Math Teacher Edition Colle	ction Grade 1	\$150.00	4	\$600.00	
1749827	9780358111948	Into Math Planning and Pacing	Guide Grade 1	\$19.45	4	\$77.80	
1749809	9780358111764	Into Math TE Flipchart Grade 1		\$109.90	4	\$439.60	
1749803	9780358111702	Into Math Unit Project Cards Gr	ade 1	\$14.85	4	\$59.40	
1749821	9780358111887	Into Math Game and Activity Ca	rds Grade 1	\$14.85	4	\$59.40	
1729168	9781328584113	Into Math Math Reader Collection	on Grade 1	\$37.80	4	\$151.20	
S	tudent Materials	6					
1814926	9780358608783	2020 Into Math Student Edition Homework Journal Set 5 Year F		\$35.00	80	\$2,800.00	
т	otal for A la Car	te Items Available for Purch	ase	\$5,703.00			
<u>Total fo</u>	or Grade 1			\$12,903.00			
S	<u>Gi</u> tudent Digital Li	r <u>ade 2</u> icenses					
1789388	9780358398677 Includes:	Into Math Student License Digit	al 5 Year Grades K-5	\$90.00	71	\$6,390.00	
	Digital Student Implementation	Resources 5 Year Digital Grade K Success	-5				
Т	otal for Student	Digital Licenses		\$6,390.00			
Т	eacher Digital L	icenses					
1808534		Into Math Teacher License Digit	al 5 Year Grades K-5	\$375.00			3
	Includes: Into Math Digital Access to Teache	Teacher Resources 5 Year Grade er's Corner	s K-5				
Т	otal for Teacher	Digital Licenses		\$0.00			
А	la Carte Items /	Available for Purchase					
Hough	Check Payment ton Mifflin Harco Collections Cen	urt Publishing Company	Attention: Jenny Obuchi jobuchi@magnoliapublicschools.org		Send <u>Ord</u> k12orders@hr FAX: 800-26	mhco.com	
	go, IL 60693		HMH Confidential and Proprietary		HMH Or 9400 Southpark Orlando, EL 31	Center Loop	
	008619162	Sold:0000698750 Ship:000	00698750 Page 3 of 13	Please submit th	Orlando, FL 32 nis form with yo	our purchase or	ler

	ISBN		Title	Price	Quantity	Value of All Material	Free Materials Quantity
Т	eacher Materials	5					
1732959	9781328614315	Into Math Premium Manipulatives I	Kit Grade 2	\$378.90	3	\$1,136.70	
1753081	9780358132677	Into Math Teacher Edition Collection	on Grade 2	\$150.00	3	\$450.00	
1749828	9780358111955	Into Math Planning and Pacing Gu	ide Grade 2	\$19.45	3	\$58.35	
1749810	9780358111771	Into Math TE Flipchart Grade 2		\$109.90	3	\$329.70	
1749804	9780358111719	Into Math Unit Project Cards Grade	2	\$14.85	3	\$44.55	
1749822	9780358111894	Into Math Game and Activity Cards	Grade 2	\$14.85	3	\$44.55	
1729169	9781328584120	Into Math Math Reader Collection	Grade 2	\$44.10	3	\$132.30	
S	tudent Materials	;					
1814927	9780358608790	2020 Into Math Student Edition Co Homework Journal Set 5 Year Prin		\$35.00	71	\$2,485.00	
Т	otal for A la Car	te Items Available for Purchas	e	\$4,681.15			
Total fo	or Grade 2			\$11,071.15			
s	<u>Gi</u> tudent Digital Li	rade 3 censes					
1789388	9780358398677 Includes: Digital Student I Implementation	Into Math Student License Digital 5 Resources 5 Year Digital Grade K-5 Success	5 Year Grades K-5	\$90.00	80	\$7,200.00	
Т	otal for Student	Digital Licenses		\$7,200.00			
Т	eacher Digital L	icenses					
1808534	9780358555780 Includes: Into Math Digital ⁻ Access to Teache	Into Math Teacher License Digital Feacher Resources 5 Year Grades K n's Corner		\$375.00			4
Т	otal for Teacher	Digital Licenses		\$0.00			
Α	la Carte Items	Available for Purchase					
Т	eacher Materials	5					
1732960	9781328614322	Into Math Premium Manipulatives I	Kit Grade 3	\$378.90	4	\$1,515.60	
1753082	9780358132684	Into Math Teacher Edition Collection	on Grade 3	\$150.00	4	\$600.00	
1749829	9780358111962	Into Math Planning and Pacing Gu	ide Grade 3	\$19.45	4	\$77.80	
1749811	9780358111788	Into Math TE Flipchart Grade 3		\$109.90	4	\$439.60	
1749805	9780358111726	Into Math Unit Project Cards Grade	23	\$14.85	4	\$59.40	
Hough 14046	Check Payment ton Mifflin Harco Collections Cent go, IL 60693	urt Publishing Company	Attention: Jenny Obuchi jobuchi@magnoliapublicschools.org		Send <u>Orde</u> k12orders@hr FAX: 800-26 HMH Ord	mhco.com 69-5232	
	008619162	Sold:0000698750 Ship:00006	HMH Confidential and Proprietary 698750 Page 4 of 13	Please submit t	9400 Southpark Orlando, FL 32	Center Loop 2819-8647	ler
	000010102					ai purchase on	

ISBN		Title	Price	Quantity	Value of All Material	Free Materials Quantity
1749823 9780358111900	Into Math Game and Activity Card	Is Grade 3	\$14.85	4	\$59.40	
1729170 9781328584137	Into Math Math Reader Collection	Grade 3	\$37.80	4	\$151.20	
Student Materia	ls					
1814928 9780358608806	2020 Into Math Student Edition C Homework Journal Set 5 Year Pri		\$35.00	80	\$2,800.00	
Total for A la Ca	rte Items Available for Purcha	se	\$5,703.00			
Total for Grade 3			\$12,903.00			
<u>G</u> Student Digital I	Grade 4 Licenses					
1789388 9780358398677	Into Math Student License Digital	5 Year Grades K-5	\$90.00	93	\$8,370.00	
Includes: Digital Studen Implementatio	t Resources 5 Year Digital Grade K-8 n Success	5				
Total for Studen	t Digital Licenses		\$8,370.00			
Teacher Digital	Licenses					
1808534 9780358555780 Includes: Into Math Digital Access to Teach	I Teacher Resources 5 Year Grades		\$375.00			4
Total for Teache	er Digital Licenses		\$0.00			
A la Carte Items	Available for Purchase					
Teacher Materia	Is					
1732961 9781328614339	Into Math Premium Manipulatives	Kit Grade 4	\$378.90	4	\$1,515.60	
1753083 9780358132691	Into Math Teacher Edition Collect	ion Grade 4	\$150.00	4	\$600.00	
1749830 9780358111979	Into Math Planning and Pacing G	uide Grade 4	\$19.45	4	\$77.80	
1749812 9780358111795	Into Math TE Flipchart Grade 4		\$109.90	4	\$439.60	
1749806 9780358111733	Into Math Unit Project Cards Grad	le 4	\$14.85	4	\$59.40	
1749824 9780358111917	Into Math Game and Activity Card	ls Grade 4	\$14.85	4	\$59.40	
1729171 9781328584144	Into Math Math Reader Collection	Grade 4	\$44.10	4	\$176.40	
Student Materia	ls					
1814929 9780358608813	2020 Into Math Student Edition C Homework Journal Set 5 Year Pri		\$35.00	93	\$3,255.00	
Total for A la Ca	rte Items Available for Purcha	se	\$6,183.20			
Send <u>Check Paymen</u> Houghton Mifflin Harc 14046 Collections Ce Chicago, IL 60693	ourt Publishing Company	Attention: Jenny Obuchi jobuchi@magnoliapublicschools.org		Send <u>Ord</u> k12orders@hi FAX: 800-20 HMH Or 9400 Soutboark	mhco.com 69-5232 ders	
008619162	Sold:0000698750 Ship:0000	HMH Confidential and Proprietary 698750 Page 5 of 13	Please submit th	9400 Southpark Orlando, FL 32 his form with yo	2819-8647	ler

ISBN		Title	Price	Quantity	Value of All Material	Free Materials Quantity
Total for Grade 4			\$14,553.20			
Student Digital	<u>Grade 5</u> Licenses					
1789388 978035839867 Includes: Digital Studer Implementati	nt Resources 5 Year Digital Grade K-		\$90.00	100	\$9,000.00	
Total for Stude	nt Digital Licenses		\$9,000.00			
Teacher Digital	Licenses					
808534 978035855578 Includes: Into Math Digita Access to Teac	al Teacher Resources 5 Year Grades		\$375.00			4
Total for Teach	er Digital Licenses		\$0.00			
A la Carte Items	Available for Purchase					
Teacher Materia	als					
732962 978132861434	6 Into Math Premium Manipulatives	Kit Grade 5	\$378.90	4	\$1,515.60	
753084 978035813270	Into Math Teacher Edition Collect	ion Grade 5	\$150.00	4	\$600.00	
749831 978035811198	Into Math Planning and Pacing G	uide Grade 5	\$19.45	4	\$77.80	
749813 978035811180	I Into Math TE Flipchart Grade 5		\$109.90	4	\$439.60	
749807 978035811174	Into Math Unit Project Cards Grad	de 5	\$14.85	4	\$59.40	
749825 9780358111924	Into Math Game and Activity Care	ds Grade 5	\$14.85	4	\$59.40	
729172 978132858415	I Into Math Math Reader Collection	n Grade 5	\$50.50	4	\$202.00	
Student/Distric	Materials					
814930 978035860882	2020 Into Math Student Edition C Homework Journal Set 5 Year Pr		\$35.00	100	\$3,500.00	
Total for A la C	arte Items Available for Purcha	se	\$6,453.80			
otal for Grade 5			\$15,453.80			
Student Digital	<u>Grade 6</u> Licenses					
789391 978035839870 Includes:	7 Into Math Student License Digital	5 Year Grades 6-8	\$90.00	708	\$63,720.00	
Send <u>Check Payme</u> Houghton Mifflin Hard 14046 Collections Ce Chicago, IL 60693	court Publishing Company	Attention: Jenny Obuchi jobuchi@magnoliapublicschools.org		Send <u>Ord</u> k12orders@hi FAX: 800-20 HMH Or A400 Southpark	mhco.com 69-5232 ders	
		HMH Confidential and Proprietary		9400 Southpark Orlando, FL 32	2819-8647	
008619162	Sold:0000698750 Ship:0000	0698750 Page 6 of 13	Please submit t	nis form with yo	our purchase orde	r

	ISBN		Title	Price	Quantity	Value of All Material	Materia Quantit
	Digital Student R Implementation S	esources 5 Year Digital Grade 6-8 Success	3				
То	otal for Student	Digital Licenses		\$63,720.00			
Те	eacher Digital Li	icenses					
08546	9780358555902	Into Math Teacher License Digita	al 5 Year Grades 6-8	\$375.00			11
	Includes: Into Math Digital 1 Access to Teache	Feacher Resources 5 Year Grades r's Corner	s 6-8				
То	otal for Teacher	Digital Licenses		\$0.00			
AI	la Carte Items A	Available for Purchase					
Те	eacher Materials	5					
32973	9781328614353	Into Math Premium Manipulative	es Kit Grades 6-8	\$378.90	11	\$4,167.90	
50434	9780358116301	Into Math Planning and Pacing C	Guide Grade 6	\$19.45	11	\$213.95	
6245	9780358157038	Into Math Teacher Edition Collect	ction Grade 6	\$150.00	11	\$1,650.00	
St	udent Materials	;					
35490	9780358223597	Into Math Student Edition (Cons	umable) 5 Year Print Grade 6	\$35.00	708	\$24,780.00	
	otal for A la Car	te Items Available for Purch	ase	\$30,811.85			
То	r Grade 6		ase	\$30,811.85 \$94,531.85			
To otal for Str	r Grade 6 Gr udent Digital Li 9780358398707 Includes:	rade 7 censes Into Math Student License Digita	al 5 Year Grades 6-8		720	\$64,800.00	
To otal for Str	r Grade 6 Gr udent Digital Li 9780358398707 Includes:	rade 7 censes Into Math Student License Digita esources 5 Year Digital Grade 6-8	al 5 Year Grades 6-8	\$94,531.85	720	\$64,800.00	
To otal for Str 89391	r Grade 6 Gr udent Digital Li 9780358398707 Includes: Digital Student R Implementation S	rade 7 censes Into Math Student License Digita esources 5 Year Digital Grade 6-8	al 5 Year Grades 6-8	\$94,531.85	720	\$64,800.00	
To otal for Str 89391 To	r Grade 6 Gr udent Digital Li 9780358398707 Includes: Digital Student R Implementation S	rade 7 censes Into Math Student License Digita esources 5 Year Digital Grade 6-8 Success Digital Licenses	al 5 Year Grades 6-8	\$94,531.85 \$90.00	720	\$64,800.00	
To otal for Str 39391 To Te 08546	r Grade 6 Gr udent Digital Li 9780358398707 Includes: Digital Student R Implementation S otal for Student eacher Digital Li 9780358555902 Includes:	rade 7 censes Into Math Student License Digita esources 5 Year Digital Grade 6-8 Success Digital Licenses icenses Into Math Teacher License Digita	al 5 Year Grades 6-8	\$94,531.85 \$90.00	720	\$64,800.00	11
To otal for Str 39391 To Te 08546	r Grade 6 Gr udent Digital Li 9780358398707 Includes: Digital Student R Implementation S otal for Student eacher Digital Li 9780358555902 Includes: Into Math Digital T Access to Teache	rade 7 censes Into Math Student License Digita esources 5 Year Digital Grade 6-8 Success Digital Licenses icenses Into Math Teacher License Digita Feacher Resources 5 Year Grades	al 5 Year Grades 6-8	\$94,531.85 \$90.00 \$64,800.00 \$375.00	720	\$64,800.00	11
To otal for Str 39391 To D8546 To	r Grade 6 Gr udent Digital Li 9780358398707 Includes: Digital Student R Implementation S otal for Student eacher Digital Li 9780358555902 Includes: Into Math Digital T Access to Teacher	rade 7 censes Into Math Student License Digita esources 5 Year Digital Grade 6-8 Success Digital Licenses icenses Into Math Teacher License Digita Feacher Resources 5 Year Grades ar's Corner Digital Licenses	al 5 Year Grades 6-8	\$94,531.85 \$90.00 \$64,800.00	720	\$64,800.00	11
To ptal for Str 39391 To D8546 To A I	r Grade 6 Gr udent Digital Li 9780358398707 Includes: Digital Student R Implementation S otal for Student eacher Digital Li 9780358555902 Includes: Into Math Digital T Access to Teacher otal for Teacher Ia Carte Items A	rade 7 censes Into Math Student License Digital esources 5 Year Digital Grade 6-8 Success Digital Licenses Into Math Teacher License Digital Feacher Resources 5 Year Grades ar's Corner Digital Licenses Available for Purchase	al 5 Year Grades 6-8	\$94,531.85 \$90.00 \$64,800.00 \$375.00	720	\$64,800.00	11
To <u>otal for</u> Str 39391 To D8546 To A I Te	r Grade 6 Gr udent Digital Li 9780358398707 Includes: Digital Student R Implementation S otal for Student eacher Digital Li 9780358555902 Includes: Into Math Digital T Access to Teacher otal for Teacher la Carte Items A eacher Materials	rade 7 censes Into Math Student License Digita esources 5 Year Digital Grade 6-8 Success Digital Licenses Into Math Teacher License Digita Feacher Resources 5 Year Grades r's Corner Digital Licenses Available for Purchase	al 5 Year Grades 6-8 3 al 5 Year Grades 6-8 s 6-8	\$94,531.85 \$90.00 \$64,800.00 \$375.00 \$0.00	720		11
To <u>otal for</u> Str 39391 To Te 08546 To A I Te	r Grade 6 Gr udent Digital Li 9780358398707 Includes: Digital Student R Implementation S otal for Student eacher Digital Li 9780358555902 Includes: Into Math Digital T Access to Teacher otal for Teacher la Carte Items A eacher Materials	rade 7 censes Into Math Student License Digital esources 5 Year Digital Grade 6-8 Success Digital Licenses Into Math Teacher License Digital Feacher Resources 5 Year Grades ar's Corner Digital Licenses Available for Purchase	al 5 Year Grades 6-8 3 al 5 Year Grades 6-8 s 6-8	\$94,531.85 \$90.00 \$64,800.00 \$375.00	720	\$64,800.00	11
To <u>otal for</u> Str 39391 To Te 08546 To A I Te 32973 Send <u>C</u> Hought 14046 (r Grade 6 Gr udent Digital Li 9780358398707 Includes: Digital Student R Implementation S otal for Student eacher Digital Li 9780358555902 Includes: Into Math Digital T Access to Teacher Ia Carte Items A eacher Materials 9781328614353	rade 7 censes Into Math Student License Digita esources 5 Year Digital Grade 6-8 Success Digital Licenses Into Math Teacher License Digita Feacher Resources 5 Year Grades r's Corner Digital Licenses Available for Purchase S Into Math Premium Manipulative S to: urt Publishing Company	al 5 Year Grades 6-8 3 al 5 Year Grades 6-8 s 6-8	\$94,531.85 \$90.00 \$64,800.00 \$375.00 \$0.00		\$4,167.90 lers to: mhco.com 69-5232	

ISBN		Title	Price	Quantity	Value of All Material	Free Materials Quantity
1750436 9780358116325	Into Math Planning and Pacing G	uide Grade 7	\$19.45	11	\$213.95	
1756246 9780358157045	Into Math Teacher Edition Collec	tion Grade 7	\$150.00	11	\$1,650.00	
Student Material	s					
1765491 9780358223603	Into Math Student Edition (Consu	mable) 5 Year Print Grade 7	\$35.00	720	\$25,200.00	
Total for A la Ca	rte Items Available for Purcha	se	\$31,231.85			
Total for Grade 7			\$96,031.85			
<u>A</u> Student Digital L	<u>ccelerated 7 (Grade 7)</u> icenses					
1789391 9780358398707 Includes: Digital Student F Implementation	Resources 5 Year Digital Grade 6-8	5 Year Grades 6-8	\$90.00	45	\$4,050.00	
Total for Student			\$4,050.00			
Teacher Digital L	icenses					
1808546 9780358555902 Includes: Into Math Digital Access to Teach	Teacher Resources 5 Year Grades		\$375.00			4
	r Digital Licenses		\$0.00			
A la Carte Items	Available for Purchase					
Teacher Material	S					
1732973 9781328614353	Into Math Premium Manipulatives	s Kit Grades 6-8	\$378.90	4	\$1,515.60	
1750439 9780358116356	Into Math Planning and Pacing G	uide Accelerated 7	\$19.45	4	\$77.80	
1756250 9780358157083	Into Math Teacher Edition Collec	tion Accelerated 7	\$150.00	4	\$600.00	
Student Material	S					
1765495 9780358223702	Into Math Student Edition (Consu	mable) 5 Year Print Accelerated 7	\$35.00	45	\$1,575.00	
Total for A la Ca	rte Items Available for Purcha	ISE	\$3,768.40			
Total for Accelerated	1 7 (Grade 7)		\$7,818.40			
<u>G</u> Student Digital L	rade 8 icenses					
1789391 9780358398707 Includes:	Into Math Student License Digita	5 Year Grades 6-8	\$90.00	765	\$68,850.00	
Send <u>Check Payment</u> Houghton Mifflin Harco 14046 Collections Cer Chicago, IL 60693	ourt Publishing Company	Attention: Jenny Obuchi jobuchi@magnoliapublicschools.org HMH Confidential and Proprietary	Ş	Send <u>Ord</u> k12orders@h FAX: 800-2 HMH O 9400 Southpark	mhco.com 69-5232 rders Center Loop	
008619162	Sold:0000698750 Ship:000	0698750 Page 8 of 13	Please submit th	Orlando, FL 3 is form with yo		ler

ISBN		Title	Price	Quantity	Value of All Material	Free Materia Quantit
Digital Student F	Resources 5 Year Digital Grade 6-8 Success					
Total for Student	Digital Licenses		\$68,850.00			
Teacher Digital L	icenses					
08546 9780358555902 Includes:	Into Math Teacher License Digita	al 5 Year Grades 6-8	\$375.00			11
	Teacher Resources 5 Year Grades er's Corner	6-8				
Total for Teacher	r Digital Licenses		\$0.00			
A la Carte Items	Available for Purchase					
Teacher Material	s					
32973 9781328614353	Into Math Premium Manipulative	s Kit Grades 6-8	\$378.90	11	\$4,167.90	
50438 9780358116349	Into Math Planning and Pacing G	Guide Grade 8	\$19.45	11	\$213.95	
56247 9780358157052	Into Math Teacher Edition Collec	tion Grade 8	\$150.00	11	\$1,650.00	
Student Material	S					
	Into Math Student Edition (Const	umable) 5 Year Print Grade 8	\$35.00	765	\$26,775.00	
5492 9780358223610						
	rte Items Available for Purcha	ase	\$32,806.85			
Total for A la Car	rte Items Available for Purcha	ase	\$32,806.85 \$101,656.85			
65492 9780358223610 Total for A la Car otal for Grade 8	rte Items Available for Purcha	ase				
Total for A la Car otal for Grade 8	lgebra 1	ase				
Total for A la Car <u>otal for Grade 8</u> <u>A</u> Student Digital L 89394 9780358398738 Includes: Digital Student	Igebra 1 icenses Into Algebra 1 Student License D Resource 5 Year Digital Algebra 1			393	\$35,370.00	
Total for A la Car <u>otal for Grade 8</u> <u>A</u> Student Digital L 1023934 9780358398738 Includes:	Igebra 1 icenses Into Algebra 1 Student License E Resource 5 Year Digital Algebra 1 Success		\$101,656.85	393	\$35,370.00	
Total for A la Car otal for Grade 8 A Student Digital L 89394 9780358398738 Includes: Digital Student Implementatior	Igebra 1 icenses Into Algebra 1 Student License E Resource 5 Year Digital Algebra 1 Success t Digital Licenses		\$101,656.85 \$90.00	393	\$35,370.00	
Total for A la Car otal for Grade 8 Student Digital L 89394 9780358398738 Includes: Digital Student Implementation Total for Student Teacher Digital L 08500 9780358555209 Includes:	Igebra 1 icenses Into Algebra 1 Student License D Resource 5 Year Digital Algebra 1 o Success Digital Licenses icenses Into Algebra 1 Teacher License D	Digital 5 Year	\$101,656.85 \$90.00	393	\$35,370.00	11
Total for A la Car otal for Grade 8 Student Digital L B9394 9780358398738 Includes: Digital Student Implementation Total for Student Teacher Digital L D8500 97803585555209 Includes:	Igebra 1 icenses Into Algebra 1 Student License D Resource 5 Year Digital Algebra 1 Success Digital Licenses .icenses Into Algebra 1 Teacher License I gital Teacher Resources 5 Year	Digital 5 Year	\$101,656.85 \$90.00 \$35,370.00	393	\$35,370.00	11
Total for A la Car otal for Grade 8 A Student Digital L 39394 9780358398738 Includes: Digital Student Implementation Total for Student Teacher Digital L 08500 9780358555209 Includes: Into Algebra 1 Di Access to Teach	Igebra 1 icenses Into Algebra 1 Student License D Resource 5 Year Digital Algebra 1 Success Digital Licenses .icenses Into Algebra 1 Teacher License I gital Teacher Resources 5 Year	Digital 5 Year	\$101,656.85 \$90.00 \$35,370.00	393	\$35,370.00	11
Total for A la Car otal for Grade 8 A Student Digital L 39394 9780358398738 Includes: Digital Student Implementation Total for Student Teacher Digital L 08500 9780358555209 Includes: Into Algebra 1 Di Access to Teacher Total for Teacher	Igebra 1 icenses Into Algebra 1 Student License E Resource 5 Year Digital Algebra 1 Success Digital Licenses icenses Into Algebra 1 Teacher License I gital Teacher Resources 5 Year er's Corner	Digital 5 Year	\$101,656.85 \$90.00 \$35,370.00 \$375.00	393	\$35,370.00	11
Total for A la Car otal for Grade 8 A Student Digital L 39394 9780358398738 Includes: Digital Student Implementation Total for Student Teacher Digital L 08500 9780358555209 Includes: Into Algebra 1 Di Access to Teacher Total for Teacher	Igebra 1 icenses Into Algebra 1 Student License D Resource 5 Year Digital Algebra 1 a Success it Digital Licenses Into Algebra 1 Teacher License D gital Teacher Resources 5 Year er's Corner r Digital Licenses Available for Purchase	Digital 5 Year	\$101,656.85 \$90.00 \$35,370.00 \$375.00	393	\$35,370.00	11
Total for A la Car otal for Grade 8 A Student Digital L B3394 9780358398738 Includes: Digital Student Implementation Total for Student Teacher Digital L D8500 9780358555209 Includes: Into Algebra 1 Di Access to Teacher A la Carte Items Teacher Material	Igebra 1 icenses Into Algebra 1 Student License E Resource 5 Year Digital Algebra 1 Success Digital Licenses Into Algebra 1 Teacher License I gital Teacher Resources 5 Year er's Corner r Digital Licenses Available for Purchase s	Digital 5 Year	\$101,656.85 \$90.00 \$35,370.00 \$375.00	393	\$35,370.00	11
Total for A la Car A A Student Digital L 89394 9780358398738 Includes: Digital Student Digital Student Implementation Total for Student 1mplementation Total for Student Total for Student 1mplementation Total for Student Digital Student 1mplementation Total for Student Digital for Teacher Access to Teach Total for Teacher A la Carte Items Teacher Material Teacher Material 42482 9780358055303 Send Check Payment Check Payment	Igebra 1 icenses Into Algebra 1 Student License E Resource 5 Year Digital Algebra 1 Success Digital Licenses Into Algebra 1 Teacher License I gital Teacher Resources 5 Year er's Corner r Digital Licenses Available for Purchase s Into Algebra 1 Teacher Edition	Digital 5 Year	\$101,656.85 \$90.00 \$35,370.00 \$375.00 \$0.00		\$1,650.00 lers to: mhco.com	11

ISBN		Title	Price	Quantity	Value of All Material	Free Materials Quantity
1750380 97803581193	88 Into Algebra 1 Planning and Pac	ing Guide Grade 9	\$10.35	11	\$113.85	
Student Mater	rials					
1705762 97813289518	16 Into Algebra 1 Student Edition		\$45.00	393	\$17,685.00	
1771584 97803582647	29 Into Algebra 1 Journal and Pract	ice Workbook 5 Year Print	\$43.00	393	\$16,899.00	
Total for A la	Carte Items Available for Purch	ase	\$36,347.85			
Total for Algebra 1			¢74 747 95			
Total for Algebra	<u>L</u>		\$71,717.85			
Student Digita	<u>Advanced 1 (Grade 8)</u> al Licenses					
1789391 97803583987 Includes: Digital Stude Implementati	nt Resources 5 Year Digital Grade 6-8		\$90.00	25	\$2,250.00	
Total for Stud	ent Digital Licenses		\$2,250.00			
Teacher Digita	al Licenses					
1808546 97803585559	02 Into Math Teacher License Digit	al 5 Year Grades 6-8	\$375.00			3
	ital Teacher Resources 5 Year Grades acher's Corner	6-8				
Total for Teac	her Digital Licenses		\$0.00			
A la Carte Iten	ns Available for Purchase					
Teacher Mater	rials					
1732973 97813286143	53 Into Math Premium Manipulative	s Kit Grades 6-8	\$378.90	3	\$1,136.70	
1750435 97803581163	18 Into Math Planning and Pacing C	Guide Advanced 1	\$19.45	3	\$58.35	
1756248 97803581570	69 Into Math Teacher Edition Collect	tion Advanced 1	\$150.00	3	\$450.00	
Student Mater	ials					
1765493 97803582236	89 Into Math Student Edition (Cons	umable) 5 Year Print Advanced 1	\$35.00	25	\$875.00	
Total for A la	Carte Items Available for Purch	ase	\$2,520.05			
Total for Advance	d 1 (Grade 8)		\$4,770.05			
Student Digita	<u>Geometry</u> al Licenses					
1789400 97803583987 Includes:	90 Into Geometry Student License I	Digital 5 Year	\$90.00	406	\$36,540.00	
Send <u>Check Paym</u> Houghton Mifflin Ha 14046 Collections C Chicago, IL 60693	arcourt Publishing Company	Attention: Jenny Obuchi jobuchi@magnoliapublicschools. HMH Confidential and Propriet	-	Send <u>Ord</u> k12orders@h FAX: 800-2 HMH O 9400 Southpark	imhco.com 69-5232 rders	
008619162	2 Sold:0000698750 Ship:000	-	-	Orlando, FL 3		r
		Powered by BoardOnTrack	ouse ousmitt	while		31 of 148

ISBN		Title	Price	Quantity	Value of All Material	Materia Quantii
Digital Student Implementatior	Resource 5 Year Digital Geometry					
Total for Student	t Digital Licenses		\$36,540.00			
Teacher Digital L	icenses					
08522 9780358555322 Includes:	Into Geometry Teacher License I	Digital 5 Year	\$375.00			11
	igital Teacher Resources 5 Year er's Corner					
Total for Teache	r Digital Licenses		\$0.00			
A la Carte Items	Available for Purchase					
Teacher Material	s					
42563 9780358055310	Into Geometry Teacher Edition		\$150.00	11	\$1,650.00	
50381 9780358119395	Into Geometry Planning and Pac	ing Guide Grade 10	\$10.35	11	\$113.85	
Student Material	s					
42480 9780358055280	Into Geometry Student Edition		\$45.00	406	\$18,270.00	
71586 9780358264743	Into Geometry Journal and Pract	ice Workbook 5 Year Print	\$43.00	406	\$17,458.00	
			\$37,491.85			
Total for A la Car	rte Items Available for Purcha	150	ψ07, 4 01.00			
otal for Geometry		150	\$74,031.85			
Dtal for Geometry A Student Digital L 89397 9780358398769 Includes:	Igebra 2 icenses Into Algebra 2 Student License D			416	\$37,440.00	
Dtal for Geometry A Student Digital L 89397 9780358398769 Includes:	Igebra 2 icenses Into Algebra 2 Student License D Resource 5 Year Digital Algebra 2		\$74,031.85	416	\$37,440.00	
Dital for Geometry A Student Digital L 89397 9780358398769 Includes: Digital Student Implementation	Igebra 2 icenses Into Algebra 2 Student License D Resource 5 Year Digital Algebra 2		\$74,031.85	416	\$37,440.00	
Dtal for Geometry A Student Digital L 89397 9780358398769 Includes: Digital Student Implementation	Igebra 2 icenses Into Algebra 2 Student License D Resource 5 Year Digital Algebra 2 Success t Digital Licenses		\$74,031.85 \$90.00	416	\$37,440.00	
Dital for Geometry A Student Digital L 89397 9780358398769 Includes: Digital Student Implementation Total for Student Teacher Digital L 08528 9780358555384 Includes:	Igebra 2 icenses Into Algebra 2 Student License D Resource 5 Year Digital Algebra 2 o Success t Digital Licenses icenses Into Algebra 2 Teacher License D	ligital 5 Year	\$74,031.85 \$90.00	416	\$37,440.00	9
Dital for Geometry A Student Digital L 89397 9780358398769 Includes: Digital Student Implementation Total for Student Teacher Digital L 08528 9780358555384 Includes:	Igebra 2 icenses Into Algebra 2 Student License D Resource 5 Year Digital Algebra 2 n Success t Digital Licenses icenses Into Algebra 2 Teacher License D igital Teacher Resources 5 Year	ligital 5 Year	\$74,031.85 \$90.00 \$37,440.00	416	\$37,440.00	9
Dital for Geometry A Student Digital L 89397 9780358398769 Includes: Digital Student Implementation Total for Student Teacher Digital L 08528 9780358555384 Includes: Into Algebra 2 Di Access to Teach	Igebra 2 icenses Into Algebra 2 Student License D Resource 5 Year Digital Algebra 2 n Success t Digital Licenses icenses Into Algebra 2 Teacher License D igital Teacher Resources 5 Year	ligital 5 Year	\$74,031.85 \$90.00 \$37,440.00	416	\$37,440.00	9
Dtal for Geometry A Student Digital L 89397 9780358398769 Includes: Digital Student Implementation Total for Student Teacher Digital L 08528 9780358555384 Includes: Into Algebra 2 Di Access to Teach Total for Teacher	Igebra 2 icenses Into Algebra 2 Student License D Resource 5 Year Digital Algebra 2 n Success t Digital Licenses icenses Into Algebra 2 Teacher License D gital Teacher Resources 5 Year er's Corner	ligital 5 Year	\$74,031.85 \$90.00 \$37,440.00 \$375.00	416	\$37,440.00	9
Dital for Geometry A Student Digital L 89397 9780358398769 Includes: Digital Student Implementation Total for Student Teacher Digital L 08528 9780358555384 Includes: Into Algebra 2 Di Access to Teach Total for Teacher	Igebra 2 icenses Into Algebra 2 Student License D Resource 5 Year Digital Algebra 2 Success I Digital Licenses Into Algebra 2 Teacher License D Igital Teacher Resources 5 Year er's Corner I Digital Licenses Available for Purchase	ligital 5 Year	\$74,031.85 \$90.00 \$37,440.00 \$375.00	416	\$37,440.00	9
Detail for Geometry A Student Digital L 89397 9780358398769 Includes: Digital Student Digital Student Implementation Total for Student Implementation Total for Student Includes: 108528 9780358555384 Includes: Into Algebra 2 Di Access to Teach Total for Teached Total for Teached A la Carte Items	Igebra 2 icenses Into Algebra 2 Student License D Resource 5 Year Digital Algebra 2 Success I Digital Licenses Into Algebra 2 Teacher License D Igital Teacher Resources 5 Year er's Corner I Digital Licenses Available for Purchase	ligital 5 Year	\$74,031.85 \$90.00 \$37,440.00 \$375.00	416	\$37,440.00	9
Detail for Geometry A Student Digital L 89397 9780358398769 Includes: Digital Student Digital Student Implementation Total for Student Teacher Digital L 08528 9780358555384 Includes: Into Algebra 2 Di Access to Teach Total for Teacher A la Carte Items Teacher Material 42564 9780358055327 Send Check Payment	Igebra 2 icenses Into Algebra 2 Student License D Resource 5 Year Digital Algebra 2 Success I Digital Licenses Into Algebra 2 Teacher License D Igital Teacher Resources 5 Year er's Corner I Digital Licenses Available for Purchase Into Algebra 2 Teacher Edition	ligital 5 Year	\$74,031.85 \$90.00 \$37,440.00 \$375.00 \$0.00		\$1,350.00 lers to: imhco.com 69-5232	9

ISBN	Title	Price	Quantity	Value of All Material	Free Materials Quantity
1750382 9780358119401	Into Algebra 2 Planning and Pacing Guide Grade 11	\$10.35	9	\$93.15	
Student Materials	3				
1742481 9780358055297	Into Algebra 2 Student Edition	\$45.00	416	\$18,720.00	
1771585 9780358264736	Into Algebra 2 Journal and Practice Workbook 5 Year Print	\$43.00	416	\$17,888.00	
Total for A la Car	te Items Available for Purchase	\$38,051.15			
<u>Total for Algebra 2</u>		\$75,491.15			

Total Savings: Subtotal Purchase Amount:	\$35,250.00 \$608,562.20
Shipping & Handling:	\$63,011.13
Sales Tax:	\$29,565.33
Total Cost of Proposal (PO Amount):	\$701,138.66

Send <u>Check Payments</u> to: Houghton Mifflin Harcourt Publishing Company 14046 Collections Center Drive Chicago, IL 60693

Attention: Jenny Obuchi jobuchi@magnoliapublicschools.org

HMH Confidential and Proprietary

Powered by BoardOnTrack

Send <u>Orders</u> to: k12orders@hmhco.com FAX: 800-269-5232 HMH Orders 9400 Southpark Center Loop Orlando, FL 32819-8647 Date of Proposal: 2002 at 5:00 PM Expiration Date: 3/24/2023

Magnolia Ed & Research Fdn

Total Cost of Proposal (PO Amount): \$701,138.66

Thank you for considering HMH as your partner. We are committed to providing an excellent experience and delivering ongoing, highquality service to our customers. To meet these goals, we want to ensure you are aware of the below Terms of Purchase. These terms help us process your order quickly, efficiently, and accurately, ensuring successful delivery and implementation of our solutions.

- · Please return this cost proposal with your signed purchase order that matches product, prices and shipping charges.
- Provide the exact address for *delivery* of print materials. The shipping address may be your district warehouse or individual school sites, but it is essential that this is accurate.

Sold to:

250 E 1St St

Magnolia Educ and Research Found

Los Angeles, CA 90012-3811

- Please supply the name of each important district point of contact for all aspects of the solution including their direct contact information (email/phone):
 - o Point of Contact for Print materials
 - o Point of Contact for Digital materials
 - o Point of Contact for Scheduling Professional Development
- Please confirm that we have the correct 'Ship to' and 'Sold to' information on the cost proposal.
- Ship to: Magnolia Educ and Research Found
 - 250 E 1St St Los Angeles, CA 90012-3811
- · Please provide funding start and end dates.
- · Please note that all products and services will be billed upon the processing of your purchase order.
- · Our payment terms are 30 days from the invoice date.
- Print subscription material quantities may be adjusted across grades for like products, to accommodate enrollment fluctuations, quantities cannot be adjusted between different programs or copyrights.
- · Our shipping terms are FOB shipping point. The shipping term for your proposal is Destination.
- Any proposed shipping or tax amount provided on this proposal, is based on the Ship To account location quoted within.
- If the location of your delivery changes, please include the proper sales tax and shipping charges for that location in the applicable Purchase Order
- Should any of these Terms of Sale conflict with any preprinted terms on your purchase order, the HMH terms of service shall apply.

Thank you in advance for supplying us with the necessary information at time of purchase.

Our goal is to ensure your success throughout the duration of this agreement, which starts with a highly successful delivery of our solution.

For greater detail, the complete Terms of Purchase may be reviewed here: http://www.hmhco.com/common/terms-conditions

Date of Proposal: 2/7/2023

Proposal Expiration Date: 3/24/2023

Houghton Mifflin Harcourt

Send <u>Check Payments</u> to: Houghton Mifflin Harcourt Publishing Company 14046 Collections Center Drive Chicago, IL 60693 Attention: Jenny Obuchi jobuchi@magnoliapublicschools.org

HMH Confidential and Proprietary

Send <u>Orders</u> to: k12orders@hmhco.com FAX: 800-269-5232 HMH Orders 9400 Southpark Center Loop Orlando, FL 32819-8647

008619162 Sold:0000698750 Ship:0000698750 F

Page 13 of 13

Please submit this form with your purchase order



Houghton Mifflin Harcourt

Proposal #008622935

Prepared For

Magnolia Ed & Research Fdn

250 E 1st St Ste 1500 Los Angeles CA 90012

> Attention: Traci Lewin

For the Purchase of:

Into Math K-8 and AGA PD

Prepared By Suzy Robins suzy.robins@hmhco.com

Please submit this proposal with your purchase order.

Purchase orders or duly executed service agreements for **Professional Services** purchased, must be submitted at least 30 days before the service event date.

For greater detail, the complete Terms of Purchases may be reviewed here: <u>http://www.hmhco.com/common/terms-conditions</u>

Send <u>Check Payments</u> to: Houghton Mifflin Harcourt Publishing Company 14046 Collections Center Drive Chicago, IL 60693 Attention: Traci Lewin

HMH Confidential and Proprietary

Send <u>Orders</u> to: k12orders@hmhco.com FAX: 800-269-5232 HMH Orders 9400 Southpark Center Loop Orlando, FL 32819-8647

ISBN	Title	Price	Quantity	Value of All Material	Free Materials Quantity
<u>P</u> 1729422 9781328588357	rofessional Development Into Math Getting Started: Introduction to Into Math Live Online 2- Hour Grades K-5	\$800.00	1	\$800.00	
1729407 9781328588203	Getting Started: Introduction to Into Math 6-8 Live Online 2-Hour	\$800.00	2	\$1,600.00	
1729407 9781328588203	Getting Started: Introduction to Into Math 6-8 Live Online 2-Hour	\$800.00			2
1729437 9781328588500	Getting Started: Introduction to Into AGA 9-12 Live Online 2-Hour	\$800.00	2	\$1,600.00	
1729437 9781328588500	Getting Started: Introduction to Into AGA 9-12 Live Online 2-Hour	\$800.00			2
Coaching					
1832625 9780358726326	Into Math Blended Coaching Introductory Membership 1 Year Grades K-5	\$7,500.00	1	\$7,500.00	
1832624 9780358726319	Into Math Blended Coaching Introductory Membership 1 Year Grades 6-8	\$7,500.00	1	\$7,500.00	
1832619 9780358726265	Into AGA Blended Coaching Introductory Membership 1 Year Grades 9-12	\$7,500.00	1	\$7,500.00	
Total for Coachir	ng	\$22,500.00			
Total for Professiona	I Development	\$26,500.00			

Total Savings: Subtotal Purchase Amount:	\$3,200.00 \$26,500.00
Shipping & Handling:	\$0.00
Sales Tax:	\$0.00
Total Cost of Proposal (PO Amount):	\$26,500.00

Send Check Payments to:		Attention:	Send Orders to:
Houghton Mifflin Harcour	Publishing Company	Traci Lewin	k12orders@hmhco.com
14046 Collections Center	Drive		FAX: 800-269-5232
Chicago, IL 60693			HMH Orders
	HMH	Confidential and Proprieta	y 9400 Southpark Center Loop
		-	Orlando, FL 32819-8647
008622935	Sold:0000698750 Ship:0000698750	Page 2 of 3	Please submit this form with your purchase order
Date of Proposal: 2/10/2023 at 5:00 PM Proposal: 2/10/2023 at 5:00 PM Proposal: 10/2023 at 5:00 PM Proposal: 10/2024 at 5:00 PM Proposal: 10/2024 at 5:00 PM Proposal: 10/2024 at 5:0

Magnolia Ed & Research Fdn

Total Cost of Proposal (PO Amount): \$26,500.00

Thank you for considering HMH as your partner. We are committed to providing an excellent experience and delivering ongoing, highquality service to our customers. To meet these goals, we want to ensure you are aware of the below Terms of Purchase. These terms help us process your order quickly, efficiently, and accurately, ensuring successful delivery and implementation of our solutions.

- · Please return this cost proposal with your signed purchase order that matches product, prices and shipping charges.
- Provide the exact address for *delivery* of print materials. The shipping address may be your district warehouse or individual school sites, but it is essential that this is accurate.

Sold to:

250 E 1St St

Magnolia Educ and Research Found

Los Angeles, CA 90012-3811

- Please supply the name of each important district point of contact for all aspects of the solution including their direct contact information (email/phone):
 - o Point of Contact for Print materials
 - o Point of Contact for Digital materials
 - o Point of Contact for Scheduling Professional Development
- Please confirm that we have the correct 'Ship to' and 'Sold to' information on the cost proposal.
- Ship to: Magnolia Educ and Research Found
 - 250 E 1St St Los Angeles, CA 90012-3811
- · Please provide funding start and end dates.
- · Please note that all products and services will be billed upon the processing of your purchase order.
- · Our payment terms are 30 days from the invoice date.
- Print subscription material quantities may be adjusted across grades for like products, to accommodate enrollment fluctuations, quantities cannot be adjusted between different programs or copyrights.
- · Our shipping terms are FOB shipping point. The shipping term for your proposal is Destination.
- Any proposed shipping or tax amount provided on this proposal, is based on the Ship To account location quoted within.
- · If the location of your delivery changes, please include the proper sales tax and shipping charges for that location in the applicable Purchase Order
- Should any of these Terms of Sale conflict with any preprinted terms on your purchase order, the HMH terms of service shall apply.

Thank you in advance for supplying us with the necessary information at time of purchase.

Our goal is to ensure your success throughout the duration of this agreement, which starts with a highly successful delivery of our solution.

For greater detail, the complete Terms of Purchase may be reviewed here: http://www.hmhco.com/common/terms-conditions

Date of Proposal: 2/10/2023

Proposal Expiration Date: 3/27/2023

Houghton Mifflin Harcourt

Send <u>Check Payments</u> to: Houghton Mifflin Harcourt Publishing Company 14046 Collections Center Drive Chicago, IL 60693 Attention: Traci Lewin Send <u>Orders</u> to: k12orders@hmhco.com FAX: 800-269-5232 HMH Orders 9400 Southpark Center Loop Orlando, FL 32819-8647

HMH Confidential and Proprietary

0

008622935 Sold:0000698750 Ship:0000698750 F

Page 3 of 3



Houghton Mifflin Harcourt

Proposal #008619682

Prepared For

Magnolia Science Academy 1

18238 Sherman Way Reseda CA 91335

Attention: Traci Lewin tlewin@magnoliapublicschools.org

For the Purchase of:

Into Math 6-8 and AGA 5 year

Prepared By Suzy Robins suzy.robins@hmhco.com

Please submit this proposal with your purchase order.

Purchase orders or duly executed service agreements for **Professional Services** purchased, must be submitted at least 30 days before the service event date.

For greater detail, the complete Terms of Purchases may be reviewed here: <u>http://www.hmhco.com/common/terms-conditions</u>

Send <u>Check Payments</u> to: Houghton Mifflin Harcourt Publishing Company 14046 Collections Center Drive Chicago, IL 60693

Attention: Traci Lewin tlewin@magnoliapublicschools.org Send <u>Orders</u> to: k12orders@hmhco.com FAX: 800-269-5232 HMH Orders 9400 Southpark Center Loop Orlando, FL 32819-8647

HMH Confidential and Proprietary

	ISBN		Title	Price	Quantity	Value of All Material	Free Materials Quantity
S	<u>Gi</u> tudent Digital Li	rade 6 icenses					
1789391	9780358398707 Includes: Digital Student R Implementation S	Into Math Student License Digita esources 5 Year Digital Grade 6-8 Success		\$90.00	108	\$9,720.00	
Т	otal for Student	Digital Licenses		\$9,720.00			
Т	eacher Digital L	icenses					
1808546	9780358555902 Includes: Into Math Digital Access to Teache	Into Math Teacher License Digit Teacher Resources 5 Year Grade: er's Corner		\$375.00			1
Т	otal for Teacher	Digital Licenses		\$0.00			
Α	la Carte Items	Available for Purchase					
Т	eacher Materials	5					
1732973	9781328614353	Into Math Premium Manipulative	s Kit Grades 6-8	\$378.90	1	\$378.90	
1750434	9780358116301	Into Math Planning and Pacing (Guide Grade 6	\$19.45	1	\$19.45	
1756245	9780358157038	Into Math Teacher Edition Collect	ction Grade 6	\$150.00	1	\$150.00	
S	tudent Materials	6					
1765490	9780358223597	Into Math Student Edition (Cons	umable) 5 Year Print Grade 6	\$35.00	108	\$3,780.00	
Т	otal for A la Car	te Items Available for Purch	ase	\$4,328.35			
Tatalfa	- Out de O			<u> </u>			
<u>l otal fo</u>	or Grade 6			\$14,048.35			
Si	<u>Gi</u> tudent Digital Li	r <u>ade 7</u> icenses					
1789391	9780358398707 Includes:	Into Math Student License Digita	al 5 Year Grades 6-8	\$90.00	110	\$9,900.00	
		esources 5 Year Digital Grade 6-8 Success	3				
Т	otal for Student	Digital Licenses		\$9,900.00			
Т	eacher Digital L	icenses					
1808546	9780358555902 Includes: Into Math Digital	Into Math Teacher License Digit		\$375.00			1
	Access to Teache						
Т	otal for Teacher	Digital Licenses		\$0.00			
Hough 14046	Check Payment Iton Mifflin Harco Collections Cen go, IL 60693	urt Publishing Company	Attention: Traci Lewin tlewin@magnoliapublicschools.org		Send <u>Ord</u> k12orders@hr FAX: 800-26 HMH Or	mhco.com 69-5232 ders	
	000010000		HMH Confidential and Proprietary		9400 Southpark Orlando, FL 32	2819-8647	
	008619682	Sold:0000698750 Ship:000	0106321 Page 2 of 7 P	riease submit th	is form with you	ir purchase orde	er

ISI	BN		Title	Price	Quantity	Value of All Material	Free Materials Quantity
A la Car	rte Items A	vailable for Purchase					
Teacher	r Materials						
1732973 97813	328614353	Into Math Premium Manipulatives	s Kit Grades 6-8	\$378.90	1	\$378.90	
1750436 97803	358116325	Into Math Planning and Pacing G	uide Grade 7	\$19.45	1	\$19.45	
1756246 97803	358157045	Into Math Teacher Edition Collec	tion Grade 7	\$150.00	1	\$150.00	
Student	t Materials						
1765491 97803	358223603	Into Math Student Edition (Consu	imable) 5 Year Print Grade 7	\$35.00	110	\$3,850.00	
Total fo	or A la Cart	e Items Available for Purcha	ise	\$4,398.35			
Total for Gra	<u>de 7</u>			\$14,298.35			
	C -	ada 9					
Student	t Digital Lie	<u>ade 8</u> censes					
1789391 97803 Includ	358398707 Jes [.]	Into Math Student License Digita	5 Year Grades 6-8	\$90.00	125	\$11,250.00	
Digita		esources 5 Year Digital Grade 6-8 success					
Total fo	r Student	Digital Licenses		\$11,250.00			
Teacher	r Digital Li	censes					
	358555902	Into Math Teacher License Digita	l 5 Year Grades 6-8	\$375.00			1
		eacher Resources 5 Year Grades	6-8				
		Digital Licenses		\$0.00			
		vailable for Purchase		ŶŨĨŎŎ			
	r Materials						
	328614353	, Into Math Premium Manipulatives	Kit Crades 6.8	\$378.90	1	\$378.90	
	358116349	Into Math Planning and Pacing G		\$19.45	1	\$19.45	
1756247 97803		Into Math Teacher Edition Collec		\$150.00	1	\$150.00	
	t Materials			<i>\</i>		\$100.00	
1765492 97803		Into Math Student Edition (Consu	imable) 5 Year Print Grade 8	\$35.00	125	\$4,375.00	
		e Items Available for Purcha		\$4,923.35	120	ψ1,010.00	
				¥4,020.00			
Total for Gra	de 8			\$16,173.35			
14046 Collec Chicago, IL 6	ifflin Harcou ctions Cent	urt Publishing Company	Attention: Traci Lewin tlewin@magnoliapublicschools.org HMH Confidential and Proprietar	-	Send <u>Ord</u> k12orders@h FAX: 800-2 HMH Or 9400 Southpark Orlando, FL 3	mhco.com 69-5232 ders Center Loop 2819-8647	

ISBN		Title	Price	Quantity	Value of All Material	Free Materials Quantity
<u>A</u> Student Digital L	lgebra 1 icenses					
1789394 9780358398738 Includes: Digital Student Implementatior	Into Algebra 1 Student License D Resource 5 Year Digital Algebra 1	igital 5 Year	\$90.00	95	\$8,550.00	
Total for Student			\$8,550.00			
Teacher Digital L	icenses					
808500 9780358555209 Includes: Into Algebra 1 Di Access to Teach	Into Algebra 1 Teacher License I gital Teacher Resources 5 Year er's Corner	Digital 5 Year	\$375.00			1
Total for Teacher	r Digital Licenses		\$0.00			
A la Carte Items	Available for Purchase					
Teacher Material	s					
742482 9780358055303	Into Algebra 1 Teacher Edition		\$150.00	1	\$150.00	
750380 9780358119388	Into Algebra 1 Planning and Paci	ng Guide Grade 9	\$10.35	1	\$10.35	
Student Material	S					
705762 9781328951816	Into Algebra 1 Student Edition		\$45.00	95	\$4,275.00	
771584 9780358264729	Into Algebra 1 Journal and Practi	ce Workbook 5 Year Print	\$43.00	95	\$4,085.00	
Total for A la Car	te Items Available for Purcha	ase	\$8,520.35			
otal for Algebra 1			\$17,070.35			
<u>G</u> Student Digital L	<u>eometry</u> icenses					
789400 9780358398790 Includes: Digital Student Implementatior	Into Geometry Student License E Resource 5 Year Digital Geometry Success	Digital 5 Year	\$90.00	100	\$9,000.00	
Total for Student	Digital Licenses		\$9,000.00			
Teacher Digital L	icenses					
808522 9780358555322 Includes: Into Geometry Di Access to Teach	Into Geometry Teacher License I igital Teacher Resources 5 Year er's Corner	Digital 5 Year	\$375.00			1
Total for Teacher	r Digital Licenses		\$0.00			
Send <u>Check Payment</u> Houghton Mifflin Harco 14046 Collections Cen Chicago, IL 60693	ourt Publishing Company	Attention: Traci Lewin tlewin@magnoliapublicschools.org		Send <u>Ord</u> k12orders@h FAX: 800-2 HMH Or 0400 Cautherard	mhco.com 69-5232 rders	
		HMH Confidential and Proprietary		9400 Southpark	Center Loop	

ISBN		Title	Price	Quantity	Value of All Material	Free Materials Quantity
A la Carte Items A	vailable for Purchase					
Teacher Materials	;					
1742563 9780358055310	Into Geometry Teacher Edition		\$150.00	1	\$150.00	
1750381 9780358119395	Into Geometry Planning and Pacing	ng Guide Grade 10	\$10.35	1	\$10.35	
Student Materials						
1742480 9780358055280	Into Geometry Student Edition		\$45.00	100	\$4,500.00	
1771586 9780358264743	Into Geometry Journal and Practic	e Workbook 5 Year Print	\$43.00	100	\$4,300.00	
Total for A la Cart	e Items Available for Purcha	se	\$8,960.35			
Total for Geometry			\$17,960.35			
Alg Student Digital Lie	<u>gebra 2</u> censes					
1789397 9780358398769 Includes: Digital Student F Implementation	Into Algebra 2 Student License Di Resource 5 Year Digital Algebra 2 Success	gital 5 Year	\$90.00	120	\$10,800.00	
Total for Student	Digital Licenses		\$10,800.00			
Teacher Digital Li	censes					
1808528 9780358555384 Includes: Into Algebra 2 Dig Access to Teache	Into Algebra 2 Teacher License D ital Teacher Resources 5 Year r's Comer	igital 5 Year	\$375.00			1
Total for Teacher			\$0.00			
A la Carte Items A	vailable for Purchase					
Teacher Materials	i					
1742564 9780358055327	Into Algebra 2 Teacher Edition		\$150.00	1	\$150.00	
1750382 9780358119401	Into Algebra 2 Planning and Pacir	g Guide Grade 11	\$10.35	1	\$10.35	
Student Materials						
1742481 9780358055297	Into Algebra 2 Student Edition		\$45.00	120	\$5,400.00	
1771585 9780358264736	Into Algebra 2 Journal and Practic	e Workbook 5 Year Print	\$43.00	120	\$5,160.00	
Total for A la Cart	e Items Available for Purcha	se	\$10,720.35			
Total for Algebra 2			\$21,520.35			
Total IVI Algebra 2			Ψ 2 1,020.00			
Send <u>Check Payments</u> Houghton Mifflin Harcou 14046 Collections Cent Chicago, IL 60693	urt Publishing Company	Attention: Traci Lewin tlewin@magnoliapublicschools.org		Send <u>Ord</u> k12orders@h FAX: 800-20 HMH Or	mhco.com 69-5232	
008619682	Sold:0000698750 Ship:0000	HMH Confidential and Proprietary 106321 Page 5 of 7	Please submit th	9400 Southpark Orlando, FL 3 his form with you	2819-8647	ər

15	SBN	Title	Price	Quantity	Value of All Material	Free Materials Quantity
	Total Savings:		\$2,250.00			
	Subtotal Purchase Amoun Shipping & Handling: Sales Tax:	nt:	\$101,071.10 \$13,013.15 \$5,212.17			
	Total Cost of Proposal (PO A	Amount):	\$119,296.42			J

Send <u>Check Payments</u> to: Houghton Mifflin Harcourt Publishing Company 14046 Collections Center Drive Chicago, IL 60693

Attention: Traci Lewin tlewin@magnoliapublicschools.org

HMH Confidential and Proprietary

Send <u>Orders</u> to: k12orders@hmhco.com FAX: 800-269-5232 HMH Orders 9400 Southpark Center Loop Orlando, FL 32819-8647

Page 6 of 7 Please submit

Date of Proposal: 2/0/2/2/3 at 5:00 PM Froposal: 2/0/2/2/3 at 5:00 PM Froposal Tor Froposal Tor

Magnolia Science Academy 1

Total Cost of Proposal (PO Amount): \$119,296.42

Thank you for considering HMH as your partner. We are committed to providing an excellent experience and delivering ongoing, highquality service to our customers. To meet these goals, we want to ensure you are aware of the below Terms of Purchase. These terms help us process your order quickly, efficiently, and accurately, ensuring successful delivery and implementation of our solutions.

- · Please return this cost proposal with your signed purchase order that matches product, prices and shipping charges.
- Provide the exact address for *delivery* of print materials. The shipping address may be your district warehouse or individual school sites, but it is essential that this is accurate.
- Please supply the name of each important district point of contact for all aspects of the solution including their direct contact information (email/phone):
 - o Point of Contact for Print materials
 - o Point of Contact for Digital materials
 - o Point of Contact for Scheduling Professional Development
- Please confirm that we have the correct 'Ship to' and 'Sold to' information on the cost proposal.
- Ship to: Magnolia Science Academy 1 18238 Sherman Way

Reseda, CA 91335-4550

Sold to:

Magnolia Educ and Research Found 250 E 1St St Los Angeles, CA 90012-3811

Please provide funding start and end dates.

- · Please note that all products and services will be billed upon the processing of your purchase order.
- · Our payment terms are 30 days from the invoice date.
- Print subscription material quantities may be adjusted across grades for like products, to accommodate enrollment fluctuations, quantities cannot be adjusted between different programs or copyrights.
- · Our shipping terms are FOB shipping point. The shipping term for your proposal is Destination.
- Any proposed shipping or tax amount provided on this proposal, is based on the Ship To account location quoted within.
- If the location of your delivery changes, please include the proper sales tax and shipping charges for that location in the applicable Purchase Order
- Should any of these Terms of Sale conflict with any preprinted terms on your purchase order, the HMH terms of service shall apply.

Thank you in advance for supplying us with the necessary information at time of purchase.

Our goal is to ensure your success throughout the duration of this agreement, which starts with a highly successful delivery of our solution.

For greater detail, the complete Terms of Purchase may be reviewed here: http://www.hmhco.com/common/terms-conditions

Date of Proposal: 2/8/2023

Proposal Expiration Date: 3/25/2023

Houghton Mifflin Harcourt

Send <u>Check Payments</u> to: Houghton Mifflin Harcourt Publishing Company 14046 Collections Center Drive Chicago, IL 60693 Attention: Traci Lewin tlewin@magnoliapublicschools.org

HMH Confidential and Proprietary

Send <u>Orders</u> to: k12orders@hmhco.com FAX: 800-269-5232 HMH Orders 9400 Southpark Center Loop Orlando, FL 32819-8647

Page 7 of 7

Please submit this form with your purchase order

Powered by BoardOnTrack



Houghton Mifflin Harcourt

Proposal #008619684

Prepared For

Magnolia Science Academy 2

17125 Victory Blvd Lake Balboa CA 91406

Attention: Traci Lewin tlewin@magnoliapublicschools.org

For the Purchase of:

Into Math 6-8 and AGA 5 year

Prepared By Suzy Robins suzy.robins@hmhco.com

Please submit this proposal with your purchase order.

Purchase orders or duly executed service agreements for **Professional Services** purchased, must be submitted at least 30 days before the service event date.

For greater detail, the complete Terms of Purchases may be reviewed here: <u>http://www.hmhco.com/common/terms-conditions</u>

Send <u>Check Payments</u> to: Houghton Mifflin Harcourt Publishing Company 14046 Collections Center Drive Chicago, IL 60693

Attention: Traci Lewin tlewin@magnoliapublicschools.org

HMH Confidential and Proprietary

Send <u>Orders</u> to: k12orders@hmhco.com FAX: 800-269-5232 HMH Orders 9400 Southpark Center Loop Orlando, FL 32819-8647

	ISBN		Title	Price	Quantity	Value of All Material	Free Materials Quantity
S	<u>Gr</u> tudent Digital Li	rade 6 censes					
1789391	9780358398707 Includes: Digital Student R Implementation S	Into Math Student License Digita esources 5 Year Digital Grade 6-8 Success		\$90.00	105	\$9,450.00	
Т	otal for Student	Digital Licenses		\$9,450.00			
Т	eacher Digital Li	icenses					
1808546	9780358555902 Includes: Into Math Digital T Access to Teache	Into Math Teacher License Digita Feacher Resources 5 Year Grades er's Corner		\$375.00			1
Т	otal for Teacher	Digital Licenses		\$0.00			
А	la Carte Items A	Available for Purchase					
Т	eacher Materials	5					
1732973	9781328614353	Into Math Premium Manipulative	s Kit Grades 6-8	\$378.90	1	\$378.90	
1750434	9780358116301	Into Math Planning and Pacing G	uide Grade 6	\$19.45	1	\$19.45	
1756245	9780358157038	Into Math Teacher Edition Collect	tion Grade 6	\$150.00	1	\$150.00	
S	tudent Materials	5					
1765490	9780358223597	Into Math Student Edition (Const	ımable) 5 Year Print Grade 6	\$35.00	105	\$3,675.00	
Т	otal for A la Car	te Items Available for Purcha	ase	\$4,223.35			
Total fo	or Grade 6			\$13,673.35			
	<u>or Grade 6</u>			φ13,073.35			
S	<u>Gr</u> tudent Digital Li	r <u>ade 7</u> censes					
1789391	9780358398707 Includes: Digital Student R Implementation S	Into Math Student License Digita esources 5 Year Digital Grade 6-8 Success		\$90.00	90	\$8,100.00	
Т	otal for Student	Digital Licenses		\$8,100.00			
Т	eacher Digital Li	icenses					
1808546	Includes:	Into Math Teacher License Digita Feacher Resources 5 Year Grades r's Corner		\$375.00			1
Т		Digital Licenses		\$0.00			
Hough 14046	Check Payments nton Mifflin Harco Collections Cent go, IL 60693	urt Publishing Company	Attention: Traci Lewin tlewin@magnoliapublicschools.org		Send <u>Ord</u> k12orders@hr FAX: 800-26 HMH Or	mhco.com 69-5232 ders	
	008619684	Sold:0000698750 Ship:000	HMH Confidential and Proprietary 0518779 Page 2 of 8 F	Please submit th	9400 Southpark Orlando, FL 32 his form with you	2819-8647	er

ISBN		Title	Price	Quantity	Value of All Material	Free Materials Quantity
A la Carte Item	s Available for Purchase					
Teacher Materi	als					
1732973 978132861435	3 Into Math Premium Manipulativ	es Kit Grades 6-8	\$378.90	1	\$378.90	
1750436 978035811632	5 Into Math Planning and Pacing	Guide Grade 7	\$19.45	1	\$19.45	
1756246 978035815704	5 Into Math Teacher Edition Colle	ection Grade 7	\$150.00	1	\$150.00	
Student Materia	als					
1765491 978035822360	3 Into Math Student Edition (Con	sumable) 5 Year Print Grade 7	\$35.00	90	\$3,150.00	
Total for A la C	arte Items Available for Purc	hase	\$3,698.35			
Total for Grade 7			\$11,798.35			
	Accelerated 7					
Student Digital						
1789391 978035839870 Includes:	7 Into Math Student License Digit	tal 5 Year Grades 6-8	\$90.00	20	\$1,800.00	
Digital Studen Implementatio	t Resources 5 Year Digital Grade 6- n Success	8				
Total for Stude	nt Digital Licenses		\$1,800.00			
Teacher Digital	Licenses					
1808546 978035855590 Includes:	2 Into Math Teacher License Dig	ital 5 Year Grades 6-8	\$375.00			1
	al Teacher Resources 5 Year Grade cher's Corner	es 6-8				
Total for Teach	er Digital Licenses		\$0.00			
A la Carte Item	s Available for Purchase					
Teacher Materi	als					
1732973 978132861435	3 Into Math Premium Manipulativ	es Kit Grades 6-8	\$378.90	1	\$378.90	
1750439 978035811635	6 Into Math Planning and Pacing	Guide Accelerated 7	\$19.45	1	\$19.45	
1756250 978035815708	3 Into Math Teacher Edition Colle	ection Accelerated 7	\$150.00	1	\$150.00	
Student Materia	als					
1765495 978035822370	2 Into Math Student Edition (Con	sumable) 5 Year Print Accelerated 7	\$35.00	20	\$700.00	
Total for A la C	arte Items Available for Purcl	hase	\$1,248.35			
Total for Accelerate	ed 7		\$3,048.35			
Send Check Payme	nts to:	Attention:		Send <u>Ord</u>	ers to:	
	court Publishing Company	Traci Lewin tlewin@magnoliapublicschools.org		k12orders@h FAX: 800-2	mhco.com	
Chicago, IL 60693		HMH Confidential and Proprietary		HMH Or 9400 Southpark	ders	
008619684	Sold:0000698750 Shin:00		Please submit this	Orlando, FL 3	2819-8647	<u></u>

ISBN		Title	Price	Quantity	Value of All Material	Free Materials Quantity
<u>Gr</u> Student Digital Li	rade 8 censes					
	Into Math Student License Digital 5 esources 5 Year Digital Grade 6-8	Year Grades 6-8	\$90.00	85	\$7,650.00	
Implementation S Total for Student			\$7,650.00			
Teacher Digital Li	-					
1808546 9780358555902 Includes:	Into Math Teacher License Digital § Feacher Resources 5 Year Grades 6		\$375.00			1
Total for Teacher	Digital Licenses		\$0.00			
A la Carte Items A	Available for Purchase					
Teacher Materials	6					
732973 9781328614353	Into Math Premium Manipulatives F	(it Grades 6-8	\$378.90	1	\$378.90	
750438 9780358116349	Into Math Planning and Pacing Gui	de Grade 8	\$19.45	1	\$19.45	
756247 9780358157052	Into Math Teacher Edition Collection	n Grade 8	\$150.00	1	\$150.00	
Student Materials	;					
1765492 9780358223610	Into Math Student Edition (Consum	able) 5 Year Print Grade 8	\$35.00	85	\$2,975.00	
Total for A la Car	te Items Available for Purchas	e	\$3,523.35			
Total for Grade 8			\$11,173.35			
<u>Al</u> Student Digital Li	gebra 1 censes					
1789394 9780358398738 Includes: Digital Student I Implementation	Into Algebra 1 Student License Dig Resource 5 Year Digital Algebra 1 Success	ital 5 Year	\$90.00	80	\$7,200.00	
Total for Student	Digital Licenses		\$7,200.00			
Teacher Digital Li	icenses					
808500 9780358555209 Includes: Into Algebra 1 Dig Access to Teache	Into Algebra 1 Teacher License Dig jital Teacher Resources 5 Year r's Corner	ital 5 Year	\$375.00			1
Total for Teacher	Digital Licenses		\$0.00			
Send <u>Check Payments</u> Houghton Mifflin Harco 14046 Collections Cent Chicago, IL 60693	urt Publishing Company	Attention: Traci Lewin tlewin@magnoliapublicschools.org HMH Confidential and Proprietary		Send <u>Ord</u> k12orders@hi FAX: 800-2i HMH Or 9400 Southpark	mhco.com 69-5232 ders Center Loop	
008619684	Sold:0000698750 Ship:00005		Please submit th	Orlando, FL 3	2819-8647	or

ISBN		Title	Price	Quantity	Value of All Material	Free Materials Quantity
A la Carte Items	Available for Purchase					
Teacher Materials	S					
1742482 9780358055303	Into Algebra 1 Teacher Edition		\$150.00	1	\$150.00	
1750380 9780358119388	Into Algebra 1 Planning and Pacir	g Guide Grade 9	\$10.35	1	\$10.35	
Student Materials	5					
1705762 9781328951816	Into Algebra 1 Student Edition		\$45.00	80	\$3,600.00	
1771584 9780358264729	Into Algebra 1 Journal and Practic	e Workbook 5 Year Print	\$43.00	80	\$3,440.00	
Total for A la Car	te Items Available for Purcha	se	\$7,200.35			
			<u> </u>			
Total for Algebra 1			\$14,400.35			
<u>Ge</u> Student Digital Li	<u>eometry</u> icenses					
1789400 9780358398790 Includes: Digital Student I Implementation	Into Geometry Student License D Resource 5 Year Digital Geometry Success	gital 5 Year	\$90.00	75	\$6,750.00	
Total for Student	Digital Licenses		\$6,750.00			
Teacher Digital L	icenses					
1808522 9780358555322 Includes: Into Geometry Dig Access to Teache	Into Geometry Teacher License D gital Teacher Resources 5 Year er's Corner	igital 5 Year	\$375.00			1
Total for Teacher	· Digital Licenses		\$0.00			
A la Carte Items	Available for Purchase					
Teacher Materials	S					
1742563 9780358055310	Into Geometry Teacher Edition		\$150.00	1	\$150.00	
1750381 9780358119395	Into Geometry Planning and Pacin	ng Guide Grade 10	\$10.35	1	\$10.35	
Student Materials	5					
1742480 9780358055280	Into Geometry Student Edition		\$45.00	75	\$3,375.00	
1771586 9780358264743	Into Geometry Journal and Practic	e Workbook 5 Year Print	\$43.00	75	\$3,225.00	
Total for A la Car	te Items Available for Purcha	se	\$6,760.35			
Total for Geometry			\$13,510.35			
Send <u>Check Payment</u> Houghton Mifflin Harco 14046 Collections Ceni Chicago, IL 60693	ourt Publishing Company	Attention: Traci Lewin tlewin@magnoliapublicschools.org HMH Confidential and Proprietary		Send <u>Ord</u> k12orders@h FAX: 800-2 HMH Or 9400 Southpark	mhco.com 69-5232 ders Center Loop	
008619684	Sold:0000698750 Ship:0000		Please submit th	Orlando, FL 3)r

	ISBN	Title	Price	Quantity	Value of All Material	Free Materials Quantity
s	<u>Al</u> tudent Digital Li	<u>gebra 2</u> icenses				
1789397	Includes:	Into Algebra 2 Student License Digital 5 Year Resource 5 Year Digital Algebra 2 Success	\$90.00	75	\$6,750.00	
т	otal for Student	Digital Licenses	\$6,750.00			
т	eacher Digital L	icenses				
1808528	Includes:	Into Algebra 2 Teacher License Digital 5 Year gital Teacher Resources 5 Year er's Corner	\$375.00			1
т	otal for Teacher	Digital Licenses	\$0.00			
А	la Carte Items	Available for Purchase				
т	eacher Materials	5				
1742564	9780358055327	Into Algebra 2 Teacher Edition	\$150.00	1	\$150.00	
1750382	9780358119401	Into Algebra 2 Planning and Pacing Guide Grade 11	\$10.35	1	\$10.35	
s	tudent Materials	3				
1742481	9780358055297	Into Algebra 2 Student Edition	\$45.00	75	\$3,375.00	
1771585	9780358264736	Into Algebra 2 Journal and Practice Workbook 5 Year Print	\$43.00	75	\$3,225.00	
т	otal for A la Car	te Items Available for Purchase	\$6,760.35			
			• • • • • • • • • • • • • • • • • • •			
Total fo	or Algebra 2		\$13,510.35			

Sales Tax: \$4,161.27	Shipping & Handling: \$10,387.20	Sales Tax:	\$4,161.27
	301.114.43		
	Subtotal Durabasa Amounti 691 114 AE	Subtotal Purchase Amount:	\$81,114.45

Send <u>Check Payments</u> to: Houghton Mifflin Harcourt Publishing Company 14046 Collections Center Drive Chicago, IL 60693

Attention: Traci Lewin tlewin@magnoliapublicschools.org Send <u>Orders</u> to: k12orders@hmhco.com FAX: 800-269-5232 HMH Orders 9400 Southpark Center Loop Orlando, FL 32819-8647

HMH Confidential and Proprietary

ISBN	Title	Price	Quantity	Value of All Material	Free Materials Quantity
------	-------	-------	----------	--------------------------	-------------------------------

Send <u>Check Payments</u> to: Houghton Mifflin Harcourt Publishing Company 14046 Collections Center Drive Chicago, IL 60693

Attention: Traci Lewin tlewin@magnoliapublicschools.org Send <u>Orders</u> to: k12orders@hmhco.com FAX: 800-269-5232 HMH Orders 9400 Southpark Center Loop Orlando, FL 32819-8647

HMH Confidential and Proprietary

Powered by BoardOnTrack

Date of Proposal: 2/0/2/2/3 at 5:00 PM Froposal: 2/0/2/2/3 at 5:00 PM Froposal Tor Froposal Tor

Magnolia Science Academy 2

Total Cost of Proposal (PO Amount): \$95,662.92

Thank you for considering HMH as your partner. We are committed to providing an excellent experience and delivering ongoing, highquality service to our customers. To meet these goals, we want to ensure you are aware of the below Terms of Purchase. These terms help us process your order quickly, efficiently, and accurately, ensuring successful delivery and implementation of our solutions.

- · Please return this cost proposal with your signed purchase order that matches product, prices and shipping charges.
- Provide the exact address for *delivery* of print materials. The shipping address may be your district warehouse or individual school sites, but it is essential that this is accurate.

Sold to:

250 E 1St St

Magnolia Educ and Research Found

Los Angeles, CA 90012-3811

- Please supply the name of each important district point of contact for all aspects of the solution including their direct contact information (email/phone):
 - o Point of Contact for Print materials
 - o Point of Contact for Digital materials
 - o Point of Contact for Scheduling Professional Development
- Please confirm that we have the correct 'Ship to' and 'Sold to' information on the cost proposal.
- Ship to: Magnolia Science Academy 2 17125 Victory Blvd
 - Van Nuys, CA 91406-5455
- · Please provide funding start and end dates.
- · Please note that all products and services will be billed upon the processing of your purchase order.
- · Our payment terms are 30 days from the invoice date.
- Print subscription material quantities may be adjusted across grades for like products, to accommodate enrollment fluctuations, quantities cannot be adjusted between different programs or copyrights.
- · Our shipping terms are FOB shipping point. The shipping term for your proposal is Destination.
- Any proposed shipping or tax amount provided on this proposal, is based on the Ship To account location quoted within.
- If the location of your delivery changes, please include the proper sales tax and shipping charges for that location in the applicable Purchase Order
- Should any of these Terms of Sale conflict with any preprinted terms on your purchase order, the HMH terms of service shall apply.

Thank you in advance for supplying us with the necessary information at time of purchase.

Our goal is to ensure your success throughout the duration of this agreement, which starts with a highly successful delivery of our solution.

For greater detail, the complete Terms of Purchase may be reviewed here: http://www.hmhco.com/common/terms-conditions

Date of Proposal: 2/8/2023

Proposal Expiration Date: 3/25/2023

Houghton Mifflin Harcourt

Send <u>Check Payments</u> to: Houghton Mifflin Harcourt Publishing Company 14046 Collections Center Drive Chicago, IL 60693 Attention: Traci Lewin tlewin@magnoliapublicschools.org Send <u>Orders</u> to: k12orders@hmhco.com FAX: 800-269-5232 HMH Orders 9400 Southpark Center Loop Orlando, FL 32819-8647

008619684 Sold:0000698750 Ship:0000518779

HMH Confidential and Proprietary
8779 Page 8 of 8



Houghton Mifflin Harcourt

Proposal #008619685

Prepared For

Magnolia Science Academy 3

1254 E Helmick St Carson CA 90746

Attention: Traci Lewin tlewin@magnoliapublicschools.org

For the Purchase of:

Into Math 6-8 and AGA 5 year

Prepared By Suzy Robins suzy.robins@hmhco.com

Please submit this proposal with your purchase order.

Purchase orders or duly executed service agreements for **Professional Services** purchased, must be submitted at least 30 days before the service event date.

For greater detail, the complete Terms of Purchases may be reviewed here: <u>http://www.hmhco.com/common/terms-conditions</u>

Send <u>Check Payments</u> to: Houghton Mifflin Harcourt Publishing Company 14046 Collections Center Drive Chicago, IL 60693 Attention: Traci Lewin tlewin@magnoliapublicschools.org

HMH Confidential and Proprietary

Send <u>Orders</u> to: k12orders@hmhco.com FAX: 800-269-5232 HMH Orders 9400 Southpark Center Loop Orlando, FL 32819-8647

	ISBN		Title	Price	Quantity	Value of All Material	Free Materials Quantity
S	<u>Gi</u> tudent Digital Li	rade 6 icenses					
1789391	9780358398707 Includes:	Into Math Student License Digita esources 5 Year Digital Grade 6-8		\$90.00	60	\$5,400.00	
т	otal for Student	Digital Licenses		\$5,400.00			
т	eacher Digital L	icenses					
1808546	9780358555902 Includes: Into Math Digital Access to Teache	Into Math Teacher License Digita Teacher Resources 5 Year Grades er's Corner		\$375.00			2
т	otal for Teacher	Digital Licenses		\$0.00			
A	la Carte Items	Available for Purchase					
т	eacher Material	5					
1732973	9781328614353	Into Math Premium Manipulative	s Kit Grades 6-8	\$378.90	2	\$757.80	
1750434	9780358116301	Into Math Planning and Pacing G	Guide Grade 6	\$19.45	2	\$38.90	
1756245	9780358157038	Into Math Teacher Edition Collect	tion Grade 6	\$150.00	2	\$300.00	
S	tudent Materials	3					
1765490	9780358223597	Into Math Student Edition (Const	umable) 5 Year Print Grade 6	\$35.00	60	\$2,100.00	
т	otal for A la Car	te Items Available for Purcha	ase	\$3,196.70			
Total fo				¢0 500 70			
<u>Total IC</u>	or Grade 6			\$8,596.70			
S	<u>Gi</u> tudent Digital Li	r <u>ade 7</u> icenses					
1789391	9780358398707 Includes: Digital Student R Implementation S	esources 5 Year Digital Grade 6-8		\$90.00	50	\$4,500.00	
т	otal for Student	Digital Licenses		\$4,500.00			
т	eacher Digital L	icenses					
1808546	9780358555902 Includes: Into Math Digital ⁻ Access to Teache	Teacher Resources 5 Year Grades		\$375.00			2
т	otal for Teacher	Digital Licenses		\$0.00			
Hough 14046	Check Payment nton Mifflin Harco Collections Cen go, IL 60693	urt Publishing Company	Attention: Traci Lewin tlewin@magnoliapublicschools.org HMH Confidential and Proprietary		Send <u>Ord</u> e k12orders@hr FAX: 800-26 HMH Or 9400 Southpark	nhco.com 69-5232 ders	
	008619685	Sold:0000698750 Ship:000		lease submit thi	Orlando, FL 32	2819-8647	er

ISBN	Title	Price	Quantity	Value of All Material	Free Materials Quantity
A la Carte Items	Available for Purchase				
Teacher Material	ls				
1732973 9781328614353	Into Math Premium Manipulatives Kit Grades 6-8	\$378.90	2	\$757.80	
1750436 9780358116325	Into Math Planning and Pacing Guide Grade 7	\$19.45	2	\$38.90	
1756246 9780358157045	Into Math Teacher Edition Collection Grade 7	\$150.00	2	\$300.00	
Student Material	s				
1765491 9780358223603	Into Math Student Edition (Consumable) 5 Year Print Grade 7	\$35.00	50	\$1,750.00	
Total for A la Ca	rte Items Available for Purchase	\$2,846.70			
Total for Grade 7		\$7,346.70			
<u>A</u> Student Digital L	ccelerated 7 icenses				
1789391 9780358398707 Includes:	Into Math Student License Digital 5 Year Grades 6-8	\$90.00	15	\$1,350.00	
	Resources 5 Year Digital Grade 6-8 Success				
Total for Student	t Digital Licenses	\$1,350.00			
Teacher Digital L	icenses				
1808546 9780358555902 Includes:	Into Math Teacher License Digital 5 Year Grades 6-8	\$375.00			2
	Teacher Resources 5 Year Grades 6-8 er's Corner				
Total for Teache	r Digital Licenses	\$0.00			
A la Carte Items	Available for Purchase				
Teacher Material	ls				
1732973 9781328614353	Into Math Premium Manipulatives Kit Grades 6-8	\$378.90	2	\$757.80	
1750439 9780358116356	Into Math Planning and Pacing Guide Accelerated 7	\$19.45	2	\$38.90	
1756250 9780358157083	Into Math Teacher Edition Collection Accelerated 7	\$150.00	2	\$300.00	
Student Material	s				
1765495 9780358223702	Into Math Student Edition (Consumable) 5 Year Print Accelerated 7	\$35.00	15	\$525.00	
Total for A la Ca	rte Items Available for Purchase	\$1,621.70			
Total for Accelerated	17	\$2,971.70			
		·			
Send <u>Check Payment</u> Houghton Mifflin Harco 14046 Collections Cer Chicago, IL 60693	burt Publishing Company Traci Lewin ter Drive tlewin@magnoliapublicschools.or	-	Send <u>Ord</u> k12orders@h FAX: 800-2 HMH Ol	mhco.com 69-5232 rders	
	HMH Confidential and Proprieta	ry	9400 Southpark Orlando, FL 3		

ISBN		Title	Price	Quantity	Value of All Material	Free Materials Quantity
<u>Gr</u> Student Digital Lie	ade 8 censes					
1789391 9780358398707 Includes: Digital Student Re Implementation S	Into Math Student License Digital esources 5 Year Digital Grade 6-8 uccess	5 Year Grades 6-8	\$90.00	80	\$7,200.00	
Total for Student			\$7,200.00			
Teacher Digital Li	censes					
1808546 9780358555902 Includes: Into Math Digital T Access to Teacher	Into Math Teacher License Digital eacher Resources 5 Year Grades r's Corner		\$375.00			2
Total for Teacher	Digital Licenses		\$0.00			
A la Carte Items A	vailable for Purchase					
Teacher Materials						
1732973 9781328614353	Into Math Premium Manipulatives	Kit Grades 6-8	\$378.90	2	\$757.80	
1750438 9780358116349	Into Math Planning and Pacing G	ide Grade 8	\$19.45	2	\$38.90	
1756247 9780358157052	Into Math Teacher Edition Collect	on Grade 8	\$150.00	2	\$300.00	
Student Materials						
1765492 9780358223610	Into Math Student Edition (Consu	nable) 5 Year Print Grade 8	\$35.00	80	\$2,800.00	
Total for A la Cart	e Items Available for Purcha	Se	\$3,896.70			
Total for Grade 8			\$11,096.70			
<u>Alc</u> Student Digital Lic	gebra 1 censes					
1789394 9780358398738 Includes: Digital Student F Implementation	Into Algebra 1 Student License Di Resource 5 Year Digital Algebra 1 Success	gital 5 Year	\$90.00	65	\$5,850.00	
Total for Student	Digital Licenses		\$5,850.00			
Teacher Digital Li	censes					
1808500 9780358555209 Includes: Into Algebra 1 Dig Access to Teacher	Into Algebra 1 Teacher License D ital Teacher Resources 5 Year 's Corner	gital 5 Year	\$375.00			3
Total for Teacher	Digital Licenses		\$0.00			
Send <u>Check Payments</u> Houghton Mifflin Harcou 14046 Collections Cente Chicago, IL 60693	irt Publishing Company	Attention: Traci Lewin tlewin@magnoliapublicschools.org		Send <u>Ord</u> k12orders@hi FAX: 800-2i HMH Or	mhco.com 69-5232 rders	
		HMH Confidential and Proprietary		9400 Southpark Orlando, FL 32		

ISBN		Title	Price	Quantity	Value of All Material	Free Materials Quantity
A la Carte Items	Available for Purchase					
Teacher Material	s					
1742482 9780358055303	Into Algebra 1 Teacher Edition		\$150.00	3	\$450.00	
1750380 9780358119388	Into Algebra 1 Planning and Pac	ing Guide Grade 9	\$10.35	3	\$31.05	
Student Materials	6					
1705762 9781328951816	Into Algebra 1 Student Edition		\$45.00	65	\$2,925.00	
1771584 9780358264729	Into Algebra 1 Journal and Pract	ice Workbook 5 Year Print	\$43.00	65	\$2,795.00	
Total for A la Car	te Items Available for Purch	ase	\$6,201.05			
Total for Algebra 1			\$12,051.05			
Student Digital L 1789391 9780358398707 Includes:	dvanced 1 icenses Into Math Student License Digita Resources 5 Year Digital Grade 6-8		\$90.00	15	\$1,350.00	
Total for Student	Success		\$1,350.00			
Teacher Digital L	icenses					
Includes:	Into Math Teacher License Digit Teacher Resources 5 Year Grades er's Corner		\$375.00			2
Total for Teacher	^r Digital Licenses		\$0.00			
A la Carte Items	Available for Purchase					
Teacher Material	s					
1732973 9781328614353	Into Math Premium Manipulative	s Kit Grades 6-8	\$378.90	2	\$757.80	
1750435 9780358116318	Into Math Planning and Pacing C	Guide Advanced 1	\$19.45	2	\$38.90	
1756248 9780358157069	Into Math Teacher Edition Collect	tion Advanced 1	\$150.00	2	\$300.00	
Student Materials	5					
1765493 9780358223689	Into Math Student Edition (Cons	umable) 5 Year Print Advanced 1	\$35.00	15	\$525.00	
Total for A la Car	te Items Available for Purch	ase	\$1,621.70			
Total for Advanced 1			\$2,971.70			
			, <u>, , ,</u>	_		
Send <u>Check Payment</u> Houghton Mifflin Harco 14046 Collections Cen Chicago, IL 60693	ourt Publishing Company	Attention: Traci Lewin tlewin@magnoliapublicschools.org HMH Confidential and Proprietary		Send <u>Ord</u> k12orders@h FAX: 800-2 HMH Or 9400 Southpark	mhco.com 69-5232 ders Center Loop	
008619685	Sold:0000698750 Ship:000	0557600 Page 5 of 8	Please submit th	Orlando, FL 3	2819-8647 J <mark>r purchase ord</mark> e	ər

ISBN	Title		Price	Quantity	Value of All Material	Free Materials Quantity
<u>Ge</u> Student Digital Li	eometry censes					
1789400 9780358398790	Into Geometry Student License Digital 5 Year		\$90.00	65	\$5,850.00	
Includes: Digital Student I Implementation	Resource 5 Year Digital Geometry Success					
Total for Student			\$5,850.00			
Teacher Digital Li	censes					
1808522 9780358555322 Includes: Into Geometry Dig Access to Teache	Into Geometry Teacher License Digital 5 Year ital Teacher Resources 5 Year r's Comer	r	\$375.00			3
Total for Teacher	Digital Licenses		\$0.00			
A la Carte Items A	wailable for Purchase					
Teacher Materials						
1742563 9780358055310	Into Geometry Teacher Edition		\$150.00	3	\$450.00	
750381 9780358119395	Into Geometry Planning and Pacing Guide Gr	ade 10	\$10.35	3	\$31.05	
Student Materials						
1742480 9780358055280	Into Geometry Student Edition		\$45.00	65	\$2,925.00	
1771586 9780358264743	Into Geometry Journal and Practice Workbook	k 5 Year Print	\$43.00	65	\$2,795.00	
Total for A la Cart	e Items Available for Purchase		\$6,201.05			
Total for Geometry			\$12,051.05			
<u>Al</u> Student Digital Li	<u>gebra 2</u> censes					
1789397 9780358398769 Includes: Digital Student I Implementation	Into Algebra 2 Student License Digital 5 Year Resource 5 Year Digital Algebra 2 Success		\$90.00	80	\$7,200.00	
Total for Student	Digital Licenses		\$7,200.00			
Teacher Digital Li	censes					
808528 9780358555384 Includes: Into Algebra 2 Dig Access to Teache	Into Algebra 2 Teacher License Digital 5 Year ital Teacher Resources 5 Year r's Corner		\$375.00			3
Total for Teacher	Digital Licenses		\$0.00			
Send <u>Check Payments</u> Houghton Mifflin Harco 14046 Collections Cent Chicago, IL 60693	urt Publishing Company er Drive tlewin@	Attention: Traci Lewin Imagnoliapublicschools.org		Send <u>Ord</u> k12orders@hi FAX: 800-20 HMH Or	mhco.com 69-5232 ders	
008619685	HMH Co Sold:0000698750 Ship:0000557600	Page 6 of 8	Please submit thi	9400 Southpark Orlando, FL 3	2819-8647	

ISBN	Title	Price	Quantity	Value of All Material	Free Materials Quantity
A la Carte Items	Available for Purchase				
Teacher Material	s				
1742564 9780358055327	Into Algebra 2 Teacher Edition	\$150.00	3	\$450.00	
1750382 9780358119401	Into Algebra 2 Planning and Pacing Guide Grade 11	\$10.35	3	\$31.05	
Student Material	S				
1742481 9780358055297	Into Algebra 2 Student Edition	\$45.00	80	\$3,600.00	
1771585 9780358264736	Into Algebra 2 Journal and Practice Workbook 5 Year Print	\$43.00	80	\$3,440.00	
Total for A la Car	rte Items Available for Purchase	\$7,521.05			
Total for Algebra 2		\$14,721.05			

otal Cost of Proposal (PO Amount):	\$85,474.66
Shipping & Handling: Sales Tax:	\$9,319.33 \$4,348.68
Subtotal Purchase Amount:	\$71,806.65
Total Savings:	\$7,125.00

Send <u>Check Payments</u>		2014	Attention: Traci Lewin	Send <u>Orders</u> to: k12orders@hmhco.com
Houghton Mifflin Harcourt Publishing Company 14046 Collections Center Drive Chicago, IL 60693		,	@magnoliapublicschools.c	0
		НМН С	confidential and Propriet	etary 9400 Southpark Center Loop Orlando, FL 32819-8647
008619685	Sold:0000698750	Ship:0000557600	Page 7 of 8	Please submit this form with your purchase order

Date of Proposal: 2/0/2/2/3 at 5:00 PM Froposal: 2/0/2/2/3 at 5:00 PM Froposal Tor Froposal Tor

Magnolia Science Academy 3

Total Cost of Proposal (PO Amount): \$85,474.66

Thank you for considering HMH as your partner. We are committed to providing an excellent experience and delivering ongoing, highquality service to our customers. To meet these goals, we want to ensure you are aware of the below Terms of Purchase. These terms help us process your order quickly, efficiently, and accurately, ensuring successful delivery and implementation of our solutions.

- · Please return this cost proposal with your signed purchase order that matches product, prices and shipping charges.
- Provide the exact address for *delivery* of print materials. The shipping address may be your district warehouse or individual school sites, but it is essential that this is accurate.
- Please supply the name of each important district point of contact for all aspects of the solution including their direct contact information (email/phone):
 - o Point of Contact for Print materials
 - o Point of Contact for Digital materials
 - o Point of Contact for Scheduling Professional Development
- Please confirm that we have the correct 'Ship to' and 'Sold to' information on the cost proposal.
- Ship to: Magnolia Science Academy 3 1254 E Helmick St

Carson, CA 90746-3164

Sold to:

Magnolia Educ and Research Found 250 E 1St St Los Angeles, CA 90012-3811

- · Please provide funding start and end dates.
- · Please note that all products and services will be billed upon the processing of your purchase order.
- · Our payment terms are 30 days from the invoice date.
- Print subscription material quantities may be adjusted across grades for like products, to accommodate enrollment fluctuations, quantities cannot be adjusted between different programs or copyrights.
- · Our shipping terms are FOB shipping point. The shipping term for your proposal is Destination.
- Any proposed shipping or tax amount provided on this proposal, is based on the Ship To account location quoted within.
- If the location of your delivery changes, please include the proper sales tax and shipping charges for that location in the applicable Purchase Order
- Should any of these Terms of Sale conflict with any preprinted terms on your purchase order, the HMH terms of service shall apply.

Thank you in advance for supplying us with the necessary information at time of purchase.

Our goal is to ensure your success throughout the duration of this agreement, which starts with a highly successful delivery of our solution.

For greater detail, the complete Terms of Purchase may be reviewed here: http://www.hmhco.com/common/terms-conditions

Date of Proposal: 2/8/2023

Proposal Expiration Date: 3/25/2023

Houghton Mifflin Harcourt

Send <u>Check Payments</u> to: Houghton Mifflin Harcourt Publishing Company 14046 Collections Center Drive Chicago, IL 60693 Attention: Traci Lewin tlewin@magnoliapublicschools.org Send <u>Orders</u> to: k12orders@hmhco.com FAX: 800-269-5232 HMH Orders 9400 Southpark Center Loop Orlando, FL 32819-8647

HMH Confidential and Proprietary



Houghton Mifflin Harcourt

Proposal #008619687

Prepared For

Magnolia Science Academy 4

11330 Graham PI Ste B9 Los Angeles CA 90064

Attention: Traci Lewin tlewin@magnoliapublicschools.org

For the Purchase of:

Into Math AGA 5 year

Prepared By Suzy Robins suzy.robins@hmhco.com

Please submit this proposal with your purchase order.

Purchase orders or duly executed service agreements for **Professional Services** purchased, must be submitted at least 30 days before the service event date.

For greater detail, the complete Terms of Purchases may be reviewed here: <u>http://www.hmhco.com/common/terms-conditions</u>

Send <u>Check Payments</u> to: Houghton Mifflin Harcourt Publishing Company 14046 Collections Center Drive Chicago, IL 60693 Attention: Traci Lewin tlewin@magnoliapublicschools.org Send <u>Orders</u> to: k12orders@hmhco.com FAX: 800-269-5232 HMH Orders 9400 Southpark Center Loop Orlando, FL 32819-8647

HMH Confidential and Proprietary

	ISBN		Title	Price	Quantity	Value of All Material	Free Materials Quantity
S	<u>Al</u> tudent Digital Li	<u>gebra 1</u> censes					
1789394	9780358398738 Includes:	Into Algebra 1 Student License Dig Resource 5 Year Digital Algebra 1	jital 5 Year	\$90.00	28	\$2,520.00	
т	otal for Student	Digital Licenses		\$2,520.00			
т	eacher Digital Li	icenses					
1808500	9780358555209 Includes: Into Algebra 1 Dig Access to Teache	Into Algebra 1 Teacher License Di jital Teacher Resources 5 Year r's Corner	gital 5 Year	\$375.00			2
т	otal for Teacher	Digital Licenses		\$0.00			
A	la Carte Items A	Available for Purchase					
т	eacher Materials	5					
1742482	9780358055303	Into Algebra 1 Teacher Edition		\$150.00	2	\$300.00	
1750380	9780358119388	Into Algebra 1 Planning and Pacin	g Guide Grade 9	\$10.35	2	\$20.70	
S	tudent Materials	;					
1705762	9781328951816	Into Algebra 1 Student Edition		\$45.00	28	\$1,260.00	
1771584	9780358264729	Into Algebra 1 Journal and Practic	e Workbook 5 Year Print	\$43.00	28	\$1,204.00	
т	otal for A la Carl	te Items Available for Purchas	Se	\$2,784.70			
Total fo	or Algebra 1			\$5,304.70			
s	<u>Ge</u> tudent Digital Li	eometry censes					
1789400	9780358398790 Includes: Digital Student F Implementation	Into Geometry Student License Di Resource 5 Year Digital Geometry Success	gital 5 Year	\$90.00	36	\$3,240.00	
т	otal for Student	Digital Licenses		\$3,240.00			
т	eacher Digital Li	icenses					
1808522	9780358555322 Includes: Into Geometry Dig Access to Teache	Into Geometry Teacher License D gital Teacher Resources 5 Year r's Corner	igital 5 Year	\$375.00			2
т	otal for Teacher	Digital Licenses		\$0.00			
Hough 14046	Collections Cent go, IL 60693	urt Publishing Company ter Drive	Attention: Traci Lewin tlewin@magnoliapublicschools.or HMH Confidential and Proprietar	-	Send <u>Ord</u> k12orders@hi FAX: 800-20 HMH Or 0400 Southpark Orlando, FL 32	mhco.com 69-5232 ders Center Loop 2819-8647	
	008619687	Sold:0000698750 Ship:0000	487678 Page 2 of 5	riease submit this	s ionni with you	ii purchase orde	1

ISBN		Title	Price	Quantity	Value of All Material	Free Materials Quantity
A la Carte Items	Available for Purchase					
Teacher Materia	lls					
1742563 9780358055310	Into Geometry Teacher Edition		\$150.00	2	\$300.00	
1750381 9780358119395	Into Geometry Planning and Pac	cing Guide Grade 10	\$10.35	2	\$20.70	
Student Materia	ls					
1742480 9780358055280	Into Geometry Student Edition		\$45.00	36	\$1,620.00	
1771586 9780358264743	Into Geometry Journal and Prac	tice Workbook 5 Year Print	\$43.00	36	\$1,548.00	
Total for A la Ca	arte Items Available for Purch	ase	\$3,488.70			
Total for Geometry			\$6,728.70			
<u>A</u> Student Digital	<u>Algebra 2</u> Licenses					
	t Resource 5 Year Digital Algebra 2	-	\$90.00	36	\$3,240.00	
Implementatic Total for Studer	n Success		\$3,240.00			
Teacher Digital	Licenses					
1808528 9780358555384 Includes: Into Algebra 2 E Access to Teac	Digital Teacher Resources 5 Year	Digital 5 Year	\$375.00			2
Total for Teache	er Digital Licenses		\$0.00			
A la Carte Items	Available for Purchase					
Teacher Materia	lls					
1742564 9780358055327	Into Algebra 2 Teacher Edition		\$150.00	2	\$300.00	
1750382 9780358119401	Into Algebra 2 Planning and Pac	ing Guide Grade 11	\$10.35	2	\$20.70	
Student Materia	ls					
1742481 9780358055297	Into Algebra 2 Student Edition		\$45.00	36	\$1,620.00	
1771585 9780358264736	Into Algebra 2 Journal and Pract	tice Workbook 5 Year Print	\$43.00	36	\$1,548.00	
Total for A la Ca	arte Items Available for Purch	ase	\$3,488.70			
Total for Algebra 2			\$6,728.70			
Send <u>Check Paymer</u> Houghton Mifflin Harc 14046 Collections Ce Chicago, IL 60693	court Publishing Company	Attention: Traci Lewin tlewin@magnoliapublicschools.org		Send <u>Ord</u> k12orders@h FAX: 800-2 HMH Or	mhco.com 69-5232 rders	
	0.11000000750.01:000	HMH Confidential and Proprietary		9400 Southpark Orlando, FL 3		

Please submit this form with your purchase order

Powered by BoardOnTrack

ISBN	Title	Price	Quantity	Value of All Material	Free Materials Quantity
	Total Savings:	\$2,250.00			
_	Subtotal Purchase Amount: Shipping & Handling: Sales Tax:	\$18,762.10 \$2,662.50 \$1,180.37			
	Total Cost of Proposal (PO Amount):	\$22,604.97			

Send <u>Check Payments</u> to: Houghton Mifflin Harcourt Publishing Company 14046 Collections Center Drive Chicago, IL 60693

Attention: Traci Lewin tlewin@magnoliapublicschools.org

HMH Confidential and Proprietary

Send <u>Orders</u> to: k12orders@hmhco.com FAX: 800-269-5232 HMH Orders 9400 Southpark Center Loop Orlando, FL 32819-8647

Date of Proposal: 2/0/2/2/3 at 5:00 PM Proposal: 2/0/2/2/3 at 5:00 PM Proposal: 10r Proposal: 2/0/2/2/3 at 5:00 PM Proposal: 2/0/2/2/3 at 5:00 PM Proposal: 2/0/2/3 at 5:00 PM Propo

Magnolia Science Academy 4

Total Cost of Proposal (PO Amount): \$22,604.97

Thank you for considering HMH as your partner. We are committed to providing an excellent experience and delivering ongoing, highquality service to our customers. To meet these goals, we want to ensure you are aware of the below Terms of Purchase. These terms help us process your order quickly, efficiently, and accurately, ensuring successful delivery and implementation of our solutions.

- · Please return this cost proposal with your signed purchase order that matches product, prices and shipping charges.
- Provide the exact address for *delivery* of print materials. The shipping address may be your district warehouse or individual school sites, but it is essential that this is accurate.

Sold to:

250 E 1St St

Magnolia Educ and Research Found

Los Angeles, CA 90012-3811

- Please supply the name of each important district point of contact for all aspects of the solution including their direct contact information (email/phone):
 - o Point of Contact for Print materials
 - o Point of Contact for Digital materials
 - o Point of Contact for Scheduling Professional Development
- Please confirm that we have the correct 'Ship to' and 'Sold to' information on the cost proposal.
- Ship to: Magnolia Science Academy 4
 - 11330 Graham Pl Los Angeles, CA 90064-3725
- · Please provide funding start and end dates.
- · Please note that all products and services will be billed upon the processing of your purchase order.
- · Our payment terms are 30 days from the invoice date.
- Print subscription material quantities may be adjusted across grades for like products, to accommodate enrollment fluctuations, quantities cannot be adjusted between different programs or copyrights.
- · Our shipping terms are FOB shipping point. The shipping term for your proposal is Destination.
- Any proposed shipping or tax amount provided on this proposal, is based on the Ship To account location quoted within.
- If the location of your delivery changes, please include the proper sales tax and shipping charges for that location in the applicable Purchase Order
- Should any of these Terms of Sale conflict with any preprinted terms on your purchase order, the HMH terms of service shall apply.

Thank you in advance for supplying us with the necessary information at time of purchase.

Our goal is to ensure your success throughout the duration of this agreement, which starts with a highly successful delivery of our solution.

For greater detail, the complete Terms of Purchase may be reviewed here: http://www.hmhco.com/common/terms-conditions

Date of Proposal: 2/8/2023

Proposal Expiration Date: 3/25/2023

Houghton Mifflin Harcourt

Send <u>Check Payments</u> to: Houghton Mifflin Harcourt Publishing Company 14046 Collections Center Drive Chicago, IL 60693 Attention: Traci Lewin tlewin@magnoliapublicschools.org

HMH Confidential and Proprietary

Send <u>Orders</u> to: k12orders@hmhco.com FAX: 800-269-5232 HMH Orders 9400 Southpark Center Loop Orlando, FL 32819-8647

008619687 Sold:0000698750 Ship:0000487678

Page 5 of 5



Houghton Mifflin Harcourt

Proposal #008619690

Prepared For

Magnolia Science Academy 5

18238 Sherman Way Reseda CA 91335

Attention: Traci Lewin tlewin@magnoliapublicschools.org

For the Purchase of:

Into Math 6-8 and AGA 5 year

Prepared By Suzy Robins suzy.robins@hmhco.com

Please submit this proposal with your purchase order.

Purchase orders or duly executed service agreements for **Professional Services** purchased, must be submitted at least 30 days before the service event date.

For greater detail, the complete Terms of Purchases may be reviewed here: <u>http://www.hmhco.com/common/terms-conditions</u>

Send <u>Check Payments</u> to: Houghton Mifflin Harcourt Publishing Company 14046 Collections Center Drive Chicago, IL 60693

Attention: Traci Lewin tlewin@magnoliapublicschools.org

HMH Confidential and Proprietary

Send <u>Orders</u> to: k12orders@hmhco.com FAX: 800-269-5232 HMH Orders 9400 Southpark Center Loop Orlando, FL 32819-8647

	ISBN		Title	Price	Quantity	Value of All Material	Free Materials Quantity
s	<u>Gr</u> Student Digital Li	rade 6 censes					
1789391	9780358398707 Includes: Digital Student R Implementation S	Into Math Student License Digita esources 5 Year Digital Grade 6-8 Success		\$90.00	35	\$3,150.00	
т	otal for Student	Digital Licenses		\$3,150.00			
т	eacher Digital Li	icenses					
1808546	9780358555902 Includes: Into Math Digital T Access to Teache	Into Math Teacher License Digit Feacher Resources 5 Year Grade: r's Corner		\$375.00			1
т	otal for Teacher	Digital Licenses		\$0.00			
A	la Carte Items A	Available for Purchase					
т	eacher Materials	5					
1732973	9781328614353	Into Math Premium Manipulative	es Kit Grades 6-8	\$378.90	1	\$378.90	
1750434	9780358116301	Into Math Planning and Pacing (Guide Grade 6	\$19.45	1	\$19.45	
1756245	9780358157038	Into Math Teacher Edition Collect	ction Grade 6	\$150.00	1	\$150.00	
S	tudent Materials	3					
1765490	9780358223597	Into Math Student Edition (Cons	umable) 5 Year Print Grade 6	\$35.00	35	\$1,225.00	
т	otal for A la Car	te Items Available for Purch	ase	\$1,773.35			
	0			<u> </u>			
<u>l otal fo</u>	or Grade 6			\$4,923.35			
S	<u>Gr</u> Student Digital Li	rade 7 icenses					
1789391	9780358398707 Includes: Digital Student R Implementation S	Into Math Student License Digita esources 5 Year Digital Grade 6-8 Success		\$90.00	30	\$2,700.00	
т	otal for Student	Digital Licenses		\$2,700.00			
т	eacher Digital Li	icenses					
1808546	9780358555902 Includes: Into Math Digital T Access to Teache	Feacher Resources 5 Year Grade		\$375.00			1
т	otal for Teacher	Digital Licenses		\$0.00			
Hough 14046	Check Payments hton Mifflin Harco Collections Cent go, IL 60693	urt Publishing Company	Attention: Traci Lewin tlewin@magnoliapublicschools.org		Send <u>Ord</u> k12orders@hi FAX: 800-20 HMH Or 9400 Southpark	mhco.com 69-5232 ders	
	008619690	Sold:0000698750 Ship:000	HMH Confidential and Proprietary 00528106 Page 2 of 7	Please submit th	9400 Southpark Orlando, FL 32 is form with you	2819-8647	er

ISBN		Title	Price	Quantity	Value of All Material	Free Materials Quantity
A la Carte Items	Available for Purchase					
Teacher Materials	s					
1732973 9781328614353	Into Math Premium Manipulative	s Kit Grades 6-8	\$378.90	1	\$378.90	
1750436 9780358116325	Into Math Planning and Pacing G	Guide Grade 7	\$19.45	1	\$19.45	
1756246 9780358157045	Into Math Teacher Edition Collec	tion Grade 7	\$150.00	1	\$150.00	
Student Materials	5					
1765491 9780358223603	Into Math Student Edition (Consu	ımable) 5 Year Print Grade 7	\$35.00	30	\$1,050.00	
Total for A la Carte Items Available for Purchase		\$1,598.35				
Total for Grade 7			\$4,298.35			
Gital L	<u>rade 8</u> icenses					
1789391 9780358398707 Includes:	Into Math Student License Digita	l 5 Year Grades 6-8	\$90.00	40	\$3,600.00	
	Resources 5 Year Digital Grade 6-8 Success					
Total for Student	Digital Licenses		\$3,600.00			
Teacher Digital L	icenses					
1808546 9780358555902	Into Math Teacher License Digita	ıl 5 Year Grades 6-8	\$375.00			1
Includes: Into Math Digital Access to Teache	Teacher Resources 5 Year Grades	6-8				
			\$0.00			
Total for Teacher			\$0.00			
	Available for Purchase					
Teacher Material						
1732973 9781328614353	Into Math Premium Manipulatives Kit Grades 6-8		\$378.90	1	\$378.90	
1750438 9780358116349	Into Math Planning and Pacing Guide Grade 8		\$19.45	1	\$19.45	
1756247 9780358157052	Into Math Teacher Edition Collec	tion Grade 8	\$150.00	1	\$150.00	
Student Materials						
1765492 9780358223610 Into Math Student Edition (Consumable) 5 Year Print Grade 8			\$35.00	40	\$1,400.00	
Total for A la Car	te Items Available for Purcha	ase	\$1,948.35			
Total for Grade 8			\$5,548.35			
			· •			
Send Check Payment		Attention:		Send <u>Ord</u>		
14046 Collections Cen	ourt Publishing Company ter Drive	Traci Lewin tlewin@magnoliapublicschools.org		k12orders@h FAX: 800-2	69-5232	
Chicago, IL 60693		HMH Confidential and Proprietary		HMH Or 9400 Southpark Orlando, FL 3	Center Loop	
008619690	Sold:0000698750 Ship:000	0528106 Page 3 of 7	Please submit th			er

ISBN	Title		Price	Quantity	Value of All Material	Free Materials Quantity
<u>AI</u> Student Digital Li	gebra 1 censes					
1789394 9780358398738 Includes: Digital Student I Implementation	Into Algebra 1 Student License Dig Resource 5 Year Digital Algebra 1 Success	\$90.00	45	\$4,050.00		
Total for Student	Digital Licenses		\$4,050.00			
Teacher Digital Li	icenses					
1808500 9780358555209 Includes: Into Algebra 1 Dig Access to Teache	Into Algebra 1 Teacher License Dig gital Teacher Resources 5 Year p's Corner	jital 5 Year	\$375.00			1
Total for Teacher	Digital Licenses		\$0.00			
A la Carte Items A	Available for Purchase					
Teacher Materials	5					
1742482 9780358055303	Into Algebra 1 Teacher Edition		\$150.00	1	\$150.00	
1750380 9780358119388	Into Algebra 1 Planning and Pacing	g Guide Grade 9	\$10.35	1	\$10.35	
Student Materials	;					
1705762 9781328951816	328951816 Into Algebra 1 Student Edition			45	\$2,025.00	
1771584 9780358264729	8264729 Into Algebra 1 Journal and Practice Workbook 5 Year Print			45	\$1,935.00	
Total for A la Car	te Items Available for Purchas	e	\$4,120.35			
Total for Algebra 1			\$8,170.35			
<u>Ge</u> Student Digital Li	eometry censes					
1789400 9780358398790 Includes: Digital Student I Implementation	Into Geometry Student License Dig Resource 5 Year Digital Geometry Success	ital 5 Year	\$90.00	40	\$3,600.00	
Total for Student	Digital Licenses		\$3,600.00			
Teacher Digital Li	icenses					
 808522 9780358555322 Into Geometry Teacher License Digital 5 Year Includes: Into Geometry Digital Teacher Resources 5 Year Access to Teacher's Corner 			\$375.00			1
Total for Teacher	Digital Licenses		\$0.00			
Send <u>Check Payments</u> Houghton Mifflin Harco 14046 Collections Cent Chicago, IL 60693	urt Publishing Company	Attention: Traci Lewin tlewin@magnoliapublicschools.org HMH Confidential and Proprietary	,	Send <u>Ord</u> k12orders@h FAX: 800-2 HMH Or 9400 Southpark	mhco.com 69-5232 ders Center Loop	
008619690	Sold:0000698750 Ship:00005	i28106 Page 4 of 7 P	lease submit thi	Orlando, FL 3		<u>er</u>

ISBN		Title	Price	Quantity	Value of All Material	Free Materials Quantity
A la Carte Item	s Available for Purchase					
Teacher Mater	als					
742563 978035805531	0 Into Geometry Teacher Edition		\$150.00	1	\$150.00	
750381 978035811939	5 Into Geometry Planning and Pa	cing Guide Grade 10	\$10.35	1	\$10.35	
Student Materi	als					
742480 978035805528	0 Into Geometry Student Edition		\$45.00	40	\$1,800.00	
771586 978035826474	13 Into Geometry Journal and Prac	tice Workbook 5 Year Print	\$43.00	40	\$1,720.00	
Total for A la C	arte Items Available for Purch	ase	\$3,680.35			
Fotal for Geometry			\$7,280.35			
Student Digita	<u>Algebra 2</u> Licenses					
789397 978035839876 Includes:	9 Into Algebra 2 Student License I	Digital 5 Year	\$90.00	35	\$3,150.00	
	ent Resource 5 Year Digital Algebra 2 ion Success					
Total for Stude	ent Digital Licenses		\$3,150.00			
Teacher Digita	l Licenses					
	Digital Teacher Resources 5 Year	Digital 5 Year	\$375.00			1
Access to Tea	cher's Corner		\$0.00			
	s Available for Purchase					
Teacher Mater						
742564 978035805532			\$150.00	1	\$150.00	
750382 978035811940	0	\$10.35	1	\$10.35		
Student Materi	0 0		ψ10.00	, i	ψ10.00	
			¢45.00	9 <i>F</i>	¢1 575 00	
742481 978035805529	<u> </u>	tion Warkhook 5 Voor Drint	\$45.00	35 35	\$1,575.00	
771585 9780358264736 Into Algebra 2 Journal and Practice Workbook 5 Year Print Total for A la Carte Items Available for Purchase		\$43.00	35	\$1,505.00		
i otal for A la C	arte items Available for Purch	ase	\$3,240.35			
otal for Algebra 2			\$6,390.35			
Send <u>Check Payme</u> Houghton Mifflin Ha 14046 Collections C Chicago, IL 60693	Harcourt Publishing Company Traci Lewin ns Center Drive tlewin@magnoliapublicschools.org 93 93			Send <u>Orders</u> to: k12orders@hmhco.com FAX: 800-269-5232 HMH Orders 9400 Southpark Center Loop		
	Sold:0000698750 Ship:000	HMH Confidential and Proprietary 0528106 Page 5 of 7		9400 Southpark Orlando, FL 3 his form with you	2819-8647	

ISBN	Title	Price	Quantity	Value of All Material	Free Materials Quantity
Total Savings: Subtotal Purchaso Amoun	4 -	\$2,250.00 \$36 611 10			
Subtour Furchase Amoun Shipping & Handling: Sales Tax:		\$4,764.33 \$2,007.00			
Total Cost of Proposal (PO A	mount): \$	43,382.43			
	Total Savings: Subtotal Purchase Amoun Shipping & Handling: Sales Tax:	Total Savings: Subtotal Purchase Amount: Shipping & Handling: Sales Tax:	Total Savings: \$2,250.00 Subtotal Purchase Amount: \$36,611.10 Shipping & Handling: \$4,764.33 Sales Tax: \$2,007.00	Total Savings:\$2,250.00Subtotal Purchase Amount:\$36,611.10Shipping & Handling:\$4,764.33Sales Tax:\$2,007.00	ISBN Title Price Quantity Material Total Savings: \$2,250.00 Subtotal Purchase Amount: \$36,611.10 Shipping & Handling: \$4,764.33 Sales Tax: \$2,007.00

Send <u>Check Payments</u> to: Houghton Mifflin Harcourt Publishing Company 14046 Collections Center Drive Chicago, IL 60693

Attention: Traci Lewin tlewin@magnoliapublicschools.org

HMH Confidential and Proprietary

Send <u>Orders</u> to: k12orders@hmhco.com FAX: 800-269-5232 HMH Orders 9400 Southpark Center Loop Orlando, FL 32819-8647

Page 6 of 7 Pleas

Date of Proposal: 2/0/2/2/3 at 5:00 PM Froposal: 2/0/2/2/3 at 5:00 PM Froposal Tor Froposal Tor

Magnolia Science Academy 5

Total Cost of Proposal (PO Amount): \$43,382.43

Thank you for considering HMH as your partner. We are committed to providing an excellent experience and delivering ongoing, highquality service to our customers. To meet these goals, we want to ensure you are aware of the below Terms of Purchase. These terms help us process your order quickly, efficiently, and accurately, ensuring successful delivery and implementation of our solutions.

- · Please return this cost proposal with your signed purchase order that matches product, prices and shipping charges.
- Provide the exact address for *delivery* of print materials. The shipping address may be your district warehouse or individual school sites, but it is essential that this is accurate.
- Please supply the name of each important district point of contact for all aspects of the solution including their direct contact information (email/phone):
 - o Point of Contact for Print materials
 - o Point of Contact for Digital materials
 - o Point of Contact for Scheduling Professional Development
- Please confirm that we have the correct 'Ship to' and 'Sold to' information on the cost proposal.
- **Ship to:** Magnolia Science Academy 5 18230 Kittridge St

Reseda, CA 91335-6121

Sold to:

Magnolia Educ and Research Found 250 E 1St St Los Angeles, CA 90012-3811

- Please provide funding start and end dates.
- · Please note that all products and services will be billed upon the processing of your purchase order.
- · Our payment terms are 30 days from the invoice date.
- Print subscription material quantities may be adjusted across grades for like products, to accommodate enrollment fluctuations, quantities cannot be adjusted between different programs or copyrights.
- · Our shipping terms are FOB shipping point. The shipping term for your proposal is Destination.
- Any proposed shipping or tax amount provided on this proposal, is based on the Ship To account location quoted within.
- If the location of your delivery changes, please include the proper sales tax and shipping charges for that location in the applicable Purchase Order
- Should any of these Terms of Sale conflict with any preprinted terms on your purchase order, the HMH terms of service shall apply.

Thank you in advance for supplying us with the necessary information at time of purchase.

Our goal is to ensure your success throughout the duration of this agreement, which starts with a highly successful delivery of our solution.

For greater detail, the complete Terms of Purchase may be reviewed here: http://www.hmhco.com/common/terms-conditions

Date of Proposal: 2/8/2023

Proposal Expiration Date: 3/25/2023

Houghton Mifflin Harcourt

Send <u>Check Payments</u> to: Houghton Mifflin Harcourt Publishing Company 14046 Collections Center Drive Chicago, IL 60693 Attention: Traci Lewin tlewin@magnoliapublicschools.org

HMH Confidential and Proprietary

Send <u>Orders</u> to: k12orders@hmhco.com FAX: 800-269-5232 HMH Orders 9400 Southpark Center Loop Orlando, FL 32819-8647

Page 7 of 7


Houghton Mifflin Harcourt

Proposal #008619755

Prepared For

Magnolia Science Academy 6

745 S Wilton Pl Los Angeles CA 90005

Attention: Traci Lewin tlewin@magnoliapublicschools.org

For the Purchase of:

Into Math 6-8 5 year

Prepared By Suzy Robins suzy.robins@hmhco.com

Please submit this proposal with your purchase order.

Purchase orders or duly executed service agreements for **Professional Services** purchased, must be submitted at least 30 days before the service event date.

For greater detail, the complete Terms of Purchases may be reviewed here: <u>http://www.hmhco.com/common/terms-conditions</u>

Send <u>Check Payments</u> to: Houghton Mifflin Harcourt Publishing Company 14046 Collections Center Drive Chicago, IL 60693 Attention: Traci Lewin tlewin@magnoliapublicschools.org Send <u>Orders</u> to: k12orders@hmhco.com FAX: 800-269-5232 HMH Orders 9400 Southpark Center Loop Orlando, FL 32819-8647

HMH Confidential and Proprietary

	ISBN		Title	Price	Quantity	Value of All Material	Free Materials Quantity
S	<u>Gi</u> tudent Digital Li	r <u>ade 6</u> icenses					
1789391	9780358398707 Includes: Digital Student R Implementation S	Into Math Student License Digital esources 5 Year Digital Grade 6-8 Success	5 Year Grades 6-8	\$90.00	40	\$3,600.00	
Т	otal for Student	Digital Licenses		\$3,600.00			
Т	eacher Digital L	icenses					
1808546	9780358555902 Includes: Into Math Digital Access to Teache	Into Math Teacher License Digital Teacher Resources 5 Year Grades er's Corner		\$375.00			2
Т	otal for Teacher	Digital Licenses		\$0.00			
А	la Carte Items	Available for Purchase					
Т	eacher Materials	5					
1732973	9781328614353	Into Math Premium Manipulatives	Kit Grades 6-8	\$378.90	2	\$757.80	
1750434	9780358116301	Into Math Planning and Pacing G	uide Grade 6	\$19.45	2	\$38.90	
1756245	9780358157038	Into Math Teacher Edition Collect	ion Grade 6	\$150.00	2	\$300.00	
S	tudent Materials	3					
1765490	9780358223597	Into Math Student Edition (Consu	mable) 5 Year Print Grade 6	\$35.00	40	\$1,400.00	
Т	otal for A la Car	te Items Available for Purcha	se	\$2,496.70			
Total fo	or Grade 6			\$6,096.70			
s	<u>Gi</u> tudent Digital Li	r <u>ade 7</u> icenses					
1789391	Includes:	Into Math Student License Digital esources 5 Year Digital Grade 6-8 Success	5 Year Grades 6-8	\$90.00	40	\$3,600.00	
Т	otal for Student	Digital Licenses		\$3,600.00			
Т	eacher Digital L	icenses					
1808546	9780358555902 Includes: Into Math Digital Access to Teache	Into Math Teacher License Digital Teacher Resources 5 Year Grades sr's Corner		\$375.00			2
Т	otal for Teacher	Digital Licenses		\$0.00			
Hough 14046	Check Payment nton Mifflin Harco Collections Cen go, IL 60693	urt Publishing Company	Attention: Traci Lewin tlewin@magnoliapublicschools.org HMH Confidential and Proprietary		Send <u>Ord</u> k12orders@hi FAX: 800-20 HMH Or 9400 Southpark	mhco.com 69-5232 ders Center Loop	
	008619755	Sold:0000698750 Ship:0000	0541327 Page 2 of 6 P	Please submit thi	Orlando, FL 32 s form with you)r

ISBN		Title	Price	Quantity	Value of All Material	Free Materials Quantity
A la Carte Iter	ns Available for Purchase					
Teacher Mate	rials					
1732973 97813286143	353 Into Math Premium Manipulativ	es Kit Grades 6-8	\$378.90	2	\$757.80	
1750436 97803581163	36 9780358116325 Into Math Planning and Pacing Guide Grade 7			2	\$38.90	
1756246 97803581570	045 Into Math Teacher Edition Colle	ection Grade 7	\$150.00	2	\$300.00	
Student Mate	rials					
1765491 97803582236	603 Into Math Student Edition (Cons	sumable) 5 Year Print Grade 7	\$35.00	40	\$1,400.00	
Total for A la	Carte Items Available for Purch	nase	\$2,496.70			
Total for Grade 7			\$6,096.70			
	Accelerated 7					
Student Digit						
1789391 97803583983 Includes:	707 Into Math Student License Digit	al 5 Year Grades 6-8	\$90.00	10	\$900.00	
	ent Resources 5 Year Digital Grade 6- ion Success	8				
Total for Stud	lent Digital Licenses		\$900.00			
Teacher Digit	al Licenses					
1808546 9780358555	002 Into Math Teacher License Digi	tal 5 Year Grades 6-8	\$375.00			1
	jital Teacher Resources 5 Year Grade acher's Corner	es 6-8				
	her Digital Licenses		\$0.00			
	ms Available for Purchase					
Teacher Mate						
1732973 97813286143		es Kit Grades 6-8	\$378.90	1	\$378.90	
1750439 97803581163			\$19.45	1	\$19.45	
1756250 97803581570			\$150.00	1	\$150.00	
Student Mate			• • • • •		• • • • •	
1765495 97803582233	702 Into Math Student Edition (Cons	sumable) 5 Year Print Accelerated 7	\$35.00	10	\$350.00	
	Carte Items Available for Purch		\$898.35			
Total for Accelera	<u>ted 7</u>		\$1,798.35			
Send <u>Check Paym</u> Houghton Mifflin H	i <u>ents</u> to: arcourt Publishing Company	Attention: Traci Lewin		Send <u>Ord</u> k12orders@h		
14046 Collections Chicago, IL 60693		tlewin@magnoliapublicschools.	org	FAX: 800-2 HMH Or	69-5232	
00961075	5 Sald:0000000750 Ship:00	HMH Confidential and Propriet	tary S	400 Southpark Orlando, FL 3	2819-8647	

Powered by BoardOnTrack

Please submit this form with your purchase order

ISBN	T	ïtle	Price	Quantity	Value of All Material	Free Material Quantit
<u>Gr</u> Student Digital Li	rade 8 censes					
1789391 9780358398707 Includes: Digital Student R Implementation S	Into Math Student License Digital 5 Yea esources 5 Year Digital Grade 6-8	ar Grades 6-8	\$90.00	40	\$3,600.00	
Total for Student			\$3,600.00			
Teacher Digital Li	censes					
808546 9780358555902 Includes: Into Math Digital T Access to Teache	Into Math Teacher License Digital 5 Ye ⁻ eacher Resources 5 Year Grades 6-8 r's Corner	ar Grades 6-8	\$375.00			2
Total for Teacher	Digital Licenses		\$0.00			
A la Carte Items A	Available for Purchase					
Teacher Materials	3					
732973 9781328614353	Into Math Premium Manipulatives Kit G	rades 6-8	\$378.90	2	\$757.80	
750438 9780358116349	0438 9780358116349 Into Math Planning and Pacing Guide Grade 8				\$38.90	
56247 9780358157052 Into Math Teacher Edition Collection Grade 8			\$150.00	2	\$300.00	
Student Materials						
765492 9780358223610	Into Math Student Edition (Consumable	e) 5 Year Print Grade 8	\$35.00	40	\$1,400.00	
Total for A la Carl	e Items Available for Purchase		\$2,496.70			
otal for Grade 8			\$6,096.70			
<u>Ac</u> Student Digital Li	Ivanced 1 censes					
789391 9780358398707 Includes: Digital Student Ri Implementation S	Into Math Student License Digital 5 Yea esources 5 Year Digital Grade 6-8 Success	ar Grades 6-8	\$90.00	10	\$900.00	
Total for Student	Digital Licenses		\$900.00			
Teacher Digital Li	censes					
1808546 9780358555902 Into Math Teacher License Digital 5 Year Grades 6-8 Includes: Into Math Digital Teacher Resources 5 Year Grades 6-8 Access to Teacher's Corner			\$375.00			1
Total for Teacher	Digital Licenses		\$0.00			
Send <u>Check Payments</u> Houghton Mifflin Harcor 14046 Collections Cent Chicago, IL 60693	urt Publishing Company er Drive tl	Attention: Traci Lewin ewin@magnoliapublicschools.org MH Confidential and Proprietary		Send <u>Ord</u> k12orders@hi FAX: 800-2i HMH Or 9400 Southpark	mhco.com 69-5232 ders	
008619755	Sold:0000698750 Ship:00005413		Please submit thi	Orlando, FL 3	2819-8647	

ISBN	Title	Price	Quantity	Value of All Material	Free Materials Quantity
A la Carte Items	Available for Purchase				
Teacher Material	s				
1732973 9781328614353	Into Math Premium Manipulatives Kit Grades 6-8	\$378.90	1	\$378.90	
1750435 9780358116318	Into Math Planning and Pacing Guide Advanced 1	\$19.45	1	\$19.45	
1756248 9780358157069	Into Math Teacher Edition Collection Advanced 1	\$150.00	1	\$150.00	
Student Material	s				
1765493 9780358223689	Into Math Student Edition (Consumable) 5 Year Print Advanced 1	\$35.00	10	\$350.00	
Total for A la Ca	rte Items Available for Purchase	\$898.35			
Total for Advanced 1		\$1,798.35			

otal Cost of Proposal (PO Amount):	\$25,799.63
Sales Tax:	\$1,145.22
Shipping & Handling:	\$2,767.61
Subtotal Purchase Amount:	\$21,886.80
Total Savings:	\$3,000.00

Send Check Payments to	0:		Attention:		Send Orders to:	
Houghton Mifflin Harcourt	Publishing Comp	any	Traci Lewin		k12orders@hmhco.com	
14046 Collections Center	Drive	tlewi	n@magnoliapublicschools.o	g	FAX: 800-269-5232	
Chicago, IL 60693				-	HMH Orders	
-		НМН	Confidential and Proprieta	ry	9400 Southpark Center Loop	
			•	•	Orlando, FL 32819-8647	
008619755	Sold:0000698750	Ship:0000541327	Page 5 of 6	Please submit th	nis form with your purchase order	

Date of Proposal: 2/0/2/2/2 Magnolia Public Schools - Academic Committee Meeting - Agenda - Thursday February 16, 2023 at 5:00 PM Proposal Tor Expiration Date: 3/25/2023

Magnolia Science Academy 6

Total Cost of Proposal (PO Amount): \$25,799.63

Thank you for considering HMH as your partner. We are committed to providing an excellent experience and delivering ongoing, highquality service to our customers. To meet these goals, we want to ensure you are aware of the below Terms of Purchase. These terms help us process your order quickly, efficiently, and accurately, ensuring successful delivery and implementation of our solutions.

- · Please return this cost proposal with your signed purchase order that matches product, prices and shipping charges.
- Provide the exact address for *delivery* of print materials. The shipping address may be your district warehouse or individual school sites, but it is essential that this is accurate.

Sold to:

250 E 1St St

Magnolia Educ and Research Found

Los Angeles, CA 90012-3811

- Please supply the name of each important district point of contact for all aspects of the solution including their direct contact information (email/phone):
 - o Point of Contact for Print materials
 - o Point of Contact for Digital materials
 - o Point of Contact for Scheduling Professional Development
- Please confirm that we have the correct 'Ship to' and 'Sold to' information on the cost proposal.
- Ship to: Magnolia Science Academy 6 3754 Dunn Dr
 - Los Angeles, CA 90034-5805
- · Please provide funding start and end dates.
- · Please note that all products and services will be billed upon the processing of your purchase order.
- · Our payment terms are 30 days from the invoice date.
- Print subscription material quantities may be adjusted across grades for like products, to accommodate enrollment fluctuations, quantities cannot be adjusted between different programs or copyrights.
- · Our shipping terms are FOB shipping point. The shipping term for your proposal is Destination.
- Any proposed shipping or tax amount provided on this proposal, is based on the Ship To account location quoted within.
- If the location of your delivery changes, please include the proper sales tax and shipping charges for that location in the applicable Purchase Order
- Should any of these Terms of Sale conflict with any preprinted terms on your purchase order, the HMH terms of service shall apply.

Thank you in advance for supplying us with the necessary information at time of purchase.

Our goal is to ensure your success throughout the duration of this agreement, which starts with a highly successful delivery of our solution.

For greater detail, the complete Terms of Purchase may be reviewed here: http://www.hmhco.com/common/terms-conditions

Date of Proposal: 2/8/2023

Proposal Expiration Date: 3/25/2023

Houghton Mifflin Harcourt

Send <u>Check Payments</u> to: Houghton Mifflin Harcourt Publishing Company 14046 Collections Center Drive Chicago, IL 60693 Attention: Traci Lewin tlewin@magnoliapublicschools.org

HMH Confidential and Proprietary

Send <u>Orders</u> to: k12orders@hmhco.com FAX: 800-269-5232 HMH Orders 9400 Southpark Center Loop Orlando, FL 32819-8647

008619755 Sold:0000698750 Ship:0000541327

Page 6 of 6

Please submit this form with your purchase order



Houghton Mifflin Harcourt

Proposal #008619761

Prepared For

Magnolia Science Academy 7

18355 Roscoe Blvd Northridge CA 91325

Attention: Traci Lewin tlewin@magnoliapublicschools.org

For the Purchase of:

Into Math K-5 5 year

Prepared By Suzy Robins suzy.robins@hmhco.com

Please submit this proposal with your purchase order.

Purchase orders or duly executed service agreements for **Professional Services** purchased, must be submitted at least 30 days before the service event date.

For greater detail, the complete Terms of Purchases may be reviewed here: <u>http://www.hmhco.com/common/terms-conditions</u>

Send <u>Check Payments</u> to: Houghton Mifflin Harcourt Publishing Company 14046 Collections Center Drive Chicago, IL 60693 Attention: Traci Lewin tlewin@magnoliapublicschools.org

HMH Confidential and Proprietary

Send <u>Orders</u> to: k12orders@hmhco.com FAX: 800-269-5232 HMH Orders 9400 Southpark Center Loop Orlando, FL 32819-8647

Please submit this form with your purchase order

	ISBN		Title	Price	Quantity	Value of All Material	Free Materials Quantity
Stud	<u>Gr</u> ent Digital Lie	<u>ade K</u> censes					
lnc [80358398677 cludes: Digital Student F Implementation	Into Math Student License Digital 5 Resources 5 Year Digital Grade K-5 Success	Year Grades K-5	\$90.00	50	\$4,500.00	
Total	I for Student	Digital Licenses		\$4,500.00			
Теас	her Digital Li	censes					
Inc Int	80358555780 cludes: to Math Digital T ccess to Teache	Into Math Teacher License Digital 5 eacher Resources 5 Year Grades K- r's Corner		\$375.00			2
Total	l for Teacher	Digital Licenses		\$0.00			
A la (Carte Items A	vailable for Purchase					
Teac	her Materials						
1732957 97	81328613998	Into Math Premium Manipulatives K	t Grade K	\$378.90	2	\$757.80	
1753079 97	80358132653	Into Math Teacher Edition Collection	n Grade K	\$150.00	2	\$300.00	
1749826 97	80358111931	Into Math Planning and Pacing Guid	e Grade K	\$19.45	2	\$38.90	
1749808 97	80358111757	Into Math TE Flipchart Grade K		\$109.90	2	\$219.80	
1749802 97	80358111696	Into Math Unit Project Cards Grade	к	\$14.85	2	\$29.70	
1749820 97	80358111870	Into Math Game and Activity Cards	Grade K	\$14.85	2	\$29.70	
1729167 97	81328584106	Into Math Math Reader Collection G	rade K	\$31.60	2	\$63.20	
Stud	ent Materials						
1814925 97	80358608776	2020 Into Math Student Edition Colle Homework Journal Set 5 Year Print		\$35.00	50	\$1,750.00	
Total	l for A la Cart	e Items Available for Purchase	•	\$3,189.10			
Total for G	Grade K			\$7,689.10			
Stud	<u>Gr</u> ent Digital Lie	<u>ade 1</u> censes					
lnc [80358398677 cludes: Digital Student F Implementation	Into Math Student License Digital 5 Resources 5 Year Digital Grade K-5 Success	Year Grades K-5	\$90.00	50	\$4,500.00	
Total	I for Student	Digital Licenses		\$4,500.00			
Houghton	llections Cent	urt Publishing Company	Attention: Traci Lewin tlewin@magnoliapublicschools.org		Send <u>Ord</u> k12orders@hi FAX: 800-20 HMH Or	mhco.com 69-5232 ders	
0	08619761	Sold:0000698750 Ship:000058	HMH Confidential and Proprietary B8043 Page 2 of 8	Please submit th	9400 Southpark Orlando, FL 32	2819-8647	or

	ISBN		Title	Price	Quantity	Value of All Material	Free Materials Quantity
т	eacher Digital L	icenses					
1808534	9780358555780 Includes: Into Math Digital Access to Teache	Into Math Teacher License Digi Teacher Resources 5 Year Grade er's Corner		\$375.00			2
Т	otal for Teacher	Digital Licenses		\$0.00			
А	la Carte Items	Available for Purchase					
Т	eacher Materials	6					
1732958	9781328614308	Into Math Premium Manipulative	es Kit Grade 1	\$378.90	2	\$757.80	
1753080	9780358132660	Into Math Teacher Edition Colle	ction Grade 1	\$150.00	2	\$300.00	
1749827	1749827 9780358111948 Into Math Planning and Pacing Guide Grade 1				2	\$38.90	
1749809	1749809 9780358111764 Into Math TE Flipchart Grade 1			\$109.90	2	\$219.80	
1749803	1749803 9780358111702 Into Math Unit Project Cards Grade 1			\$14.85	2	\$29.70	
1749821	1749821 9780358111887 Into Math Game and Activity Cards Grade 1			\$14.85	2	\$29.70	
1729168	9781328584113	Into Math Math Reader Collection	on Grade 1	\$37.80	2	\$75.60	
S	tudent Materials	5					
1814926	9780358608783	2020 Into Math Student Edition Homework Journal Set 5 Year I		\$35.00	50	\$1,750.00	
Т	otal for A la Car	te Items Available for Purch	lase	\$3,201.50			
<u>Total fo</u>	or Grade 1			\$7,701.50			
S	<u>Gi</u> tudent Digital Li	r <u>ade 2</u> icenses					
1789388	9780358398677 Includes: Digital Student Implementation	Into Math Student License Digit Resources 5 Year Digital Grade H Success		\$90.00	50	\$4,500.00	
Т	otal for Student	Digital Licenses		\$4,500.00			
Т	eacher Digital L	icenses					
1808534	Includes:	Into Math Teacher License Digi Teacher Resources 5 Year Grade ar's Corner		\$375.00			2
Т	otal for Teacher	Digital Licenses		\$0.00			
Α	la Carte Items	Available for Purchase					
Hough 14046	Check Payment nton Mifflin Harco Collections Cen go, IL 60693	urt Publishing Company	Attention: Traci Lewin tlewin@magnoliapublicschools.org HMH Confidential and Proprietary		Send <u>Ord</u> k12orders@hr FAX: 800-26 HMH Or 9400 Southpark	mhco.com 69-5232 ders Center Loop	
	008619761	Sold:0000698750 Ship:000	00588043 Page 3 of 8 P	Please submit th	Orlando, FL 32 his form with you		er

	ISBN		Title	Price	Quantity	Value of All Material	Free Materials Quantity
То	eacher Materials	6					
1732959	9781328614315	Into Math Premium Manipulatives	Kit Grade 2	\$378.90	2	\$757.80	
1753081	9780358132677	Into Math Teacher Edition Collection	on Grade 2	\$150.00	2	\$300.00	
1749828	9828 9780358111955 Into Math Planning and Pacing Guide Grade 2			\$19.45	2	\$38.90	
1749810	19810 9780358111771 Into Math TE Flipchart Grade 2			\$109.90	2	\$219.80	
1749804	9780358111719	Into Math Unit Project Cards Grade	2	\$14.85	2	\$29.70	
1749822	9780358111894	Into Math Game and Activity Cards	Grade 2	\$14.85	2	\$29.70	
1729169	9781328584120	Into Math Math Reader Collection	Grade 2	\$44.10	2	\$88.20	
St	tudent Materials	;					
1814927	9780358608790	2020 Into Math Student Edition Co Homework Journal Set 5 Year Prin		\$35.00	50	\$1,750.00	
Т	otal for A la Car	te Items Available for Purchas	e	\$3,214.10			
Total fo	or Grade 2			\$7,714.10			
Si	<u>Gr</u> tudent Digital Li	rade <u>3</u> censes					
1789388	9780358398677 Includes: Digital Student I Implementation	Into Math Student License Digital 5 Resources 5 Year Digital Grade K-5 Success	i Year Grades K-5	\$90.00	50	\$4,500.00	
Т	otal for Student	Digital Licenses		\$4,500.00			
Te	eacher Digital Li	icenses					
1808534	9780358555780 Includes: Into Math Digital T Access to Teache	Into Math Teacher License Digital Feacher Resources 5 Year Grades K n's Corner		\$375.00			2
Т	otal for Teacher	Digital Licenses		\$0.00			
Α	la Carte Items A	Available for Purchase					
Te	eacher Materials	6					
1732960	9781328614322	Into Math Premium Manipulatives	Kit Grade 3	\$378.90	2	\$757.80	
1753082	9780358132684	Into Math Teacher Edition Collection	on Grade 3	\$150.00	2	\$300.00	
1749829	9780358111962	Into Math Planning and Pacing Gui	ide Grade 3	\$19.45	2	\$38.90	
1749811	9780358111788	Into Math TE Flipchart Grade 3	Into Math TE Flipchart Grade 3		2	\$219.80	
1749805	9780358111726	Into Math Unit Project Cards Grade	93	\$14.85	2	\$29.70	
Hough 14046	Check Payments aton Mifflin Harco Collections Cent go, IL 60693	urt Publishing Company	Attention: Traci Lewin tlewin@magnoliapublicschools.org		Send <u>Orde</u> k12orders@hr FAX: 800-26 HMH Or	mhco.com 39-5232 ders	
	008619761	Sold:0000698750 Ship:00005	HMH Confidential and Proprietary 88043 Page 4 of 8 P		9400 Southpark Orlando, FL 32 is form with you	2819-8647	er

	ISBN		Title	Price	Quantity	Value of All Material	Free Materials Quantity
1749823	9780358111900	Into Math Game and Activity Card	s Grade 3	\$14.85	2	\$29.70	
1729170	9781328584137	Into Math Math Reader Collection	Grade 3	\$37.80	2	\$75.60	
S	tudent Materials	;					
1814928	9780358608806	2020 Into Math Student Edition Co Homework Journal Set 5 Year Pri		\$35.00	50	\$1,750.00	
Т	otal for A la Cart	te Items Available for Purcha	50	\$3,201.50			
Total fo	or Grade 3			\$7,701.50			
Si	<u>Gr</u> tudent Digital Li	rade 4 censes					
1789388	9780358398677	Into Math Student License Digital	5 Year Grades K-5	\$90.00	55	\$4,950.00	
	Includes: Digital Student Resources 5 Year Digital Grade K-5 Implementation Success						
Т	otal for Student	Digital Licenses		\$4,950.00			
Т	eacher Digital Li	icenses					
1808534	9780358555780 Includes: Into Math Digital 1 Access to Teache	Into Math Teacher License Digital Feacher Resources 5 Year Grades I ar's Corner		\$375.00			2
т	otal for Teacher	Digital Licenses		\$0.00			
A	la Carte Items A	Available for Purchase					
Т	eacher Materials	5					
1732961	9781328614339	Into Math Premium Manipulatives	Kit Grade 4	\$378.90	2	\$757.80	
1753083	9780358132691	Into Math Teacher Edition Collecti	on Grade 4	\$150.00	2	\$300.00	
1749830	9780358111979	Into Math Planning and Pacing Gu	ide Grade 4	\$19.45	2	\$38.90	
1749812	9780358111795	Into Math TE Flipchart Grade 4		\$109.90	2	\$219.80	
1749806	9780358111733	Into Math Unit Project Cards Grad	e 4	\$14.85	2	\$29.70	
1749824	9780358111917	Into Math Game and Activity Card	s Grade 4	\$14.85	2	\$29.70	
1729171	9781328584144	Into Math Math Reader Collection	Grade 4	\$44.10	2	\$88.20	
S	tudent Materials	;					
1814929	9780358608813	2020 Into Math Student Edition Co Homework Journal Set 5 Year Pri		\$35.00	55	\$1,925.00	
Т	otal for A la Cart	te Items Available for Purcha	se	\$3,389.10			
Hough 14046	Check Payments nton Mifflin Harco Collections Cent go, IL 60693	urt Publishing Company	Attention: Traci Lewin tlewin@magnoliapublicschools.org HMH Confidential and Proprietary		Send <u>Ord</u> k12orders@hu FAX: 800-20 HMH Or 9400 Southpark Orlando, FL 32	mhco.com 69-5232 ders Center Loop	

	ISBN	Title	Price	Quantity	Value of All Material	Free Materials Quantity
Total fo	or Grade 4		\$8,339.10			
S	<u>Gi</u> tudent Digital Li	rade 5 icenses				
1789388	9780358398677 Includes:	Into Math Student License Digital 5 Year Grades K-5	\$90.00	55	\$4,950.00	
		Resources 5 Year Digital Grade K-5 Success				
т	otal for Student	Digital Licenses	\$4,950.00			
т	eacher Digital L	icenses				
1808534	9780358555780 Includes:	Into Math Teacher License Digital 5 Year Grades K-5	\$375.00			2
		Teacher Resources 5 Year Grades K-5 er's Corner				
т	otal for Teacher	Digital Licenses	\$0.00			
Δ	la Carte Items /	Available for Purchase				
т	eacher Materials	S				
1732962	9781328614346	Into Math Premium Manipulatives Kit Grade 5	\$378.90	2	\$757.80	
1753084	9780358132707	Into Math Teacher Edition Collection Grade 5	\$150.00	2	\$300.00	
1749831	9780358111986	Into Math Planning and Pacing Guide Grade 5	\$19.45	2	\$38.90	
1749813	9780358111801	Into Math TE Flipchart Grade 5	\$109.90	2	\$219.80	
1749807	9780358111740	Into Math Unit Project Cards Grade 5	\$14.85	2	\$29.70	
1749825	9780358111924	Into Math Game and Activity Cards Grade 5	\$14.85	2	\$29.70	
1729172	9781328584151	Into Math Math Reader Collection Grade 5	\$50.50	2	\$101.00	
S	tudent/District N	Naterials				
1814930	9780358608820	2020 Into Math Student Edition Collection with Practice and Homework Journal Set 5 Year Print Grade 5	\$35.00	55	\$1,925.00	
т	otal for A la Car	te Items Available for Purchase	\$3,401.90			
Total f	or Grade 5		\$8,351.90			
1010110	or Graue 5		<i>40,331.90</i>			

Send <u>Check Payments</u> to: Houghton Mifflin Harcourt Publishing Company Attention: Send Orders to: Traci Lewin k12orders@hmhco.com 14046 Collections Center Drive tlewin@magnoliapublicschools.org FAX: 800-269-5232 HMH Orders Chicago, IL 60693 9400 Southpark Center Loop Orlando, FL 32819-8647 **HMH** Confidential and Proprietary 008619761 Sold:0000698750 Ship:0000588043 Please submit this form with your purchase order Page 6 of 8

	ISBN	Title	Price	Quantity	Value of All Material	Free Materials Quantity
\bigcap	Total Savings: Subtotal Purchase Amount Shipping & Handling: Sales Tax:	:	\$4,500.00 \$47,497.20 \$5,781.57 \$2,411.07			
	Total Cost of Proposal (PO Amount):		\$55,689.84			

Send <u>Check Payments</u> to: Houghton Mifflin Harcourt Publishing Company 14046 Collections Center Drive Chicago, IL 60693

Attention: Traci Lewin tlewin@magnoliapublicschools.org

HMH Confidential and Proprietary

Send <u>Orders</u> to: k12orders@hmhco.com FAX: 800-269-5232 HMH Orders 9400 Southpark Center Loop Orlando, FL 32819-8647

Page 7 of 8 P

Please submit this form with your purchase order

Date of Proposal: 2/0/2/2/2 Magnolia Public Schools - Academic Committee Meeting - Agenda - Thursday February 16, 2023 at 5:00 PM Proposal Tor Expiration Date: 3/25/2023

Magnolia Science Academy 7

Total Cost of Proposal (PO Amount): \$55,689.84

Thank you for considering HMH as your partner. We are committed to providing an excellent experience and delivering ongoing, highquality service to our customers. To meet these goals, we want to ensure you are aware of the below Terms of Purchase. These terms help us process your order quickly, efficiently, and accurately, ensuring successful delivery and implementation of our solutions.

- · Please return this cost proposal with your signed purchase order that matches product, prices and shipping charges.
- Provide the exact address for *delivery* of print materials. The shipping address may be your district warehouse or individual school sites, but it is essential that this is accurate.
- Please supply the name of each important district point of contact for all aspects of the solution including their direct contact information (email/phone):
 - o Point of Contact for Print materials
 - o Point of Contact for Digital materials
 - o Point of Contact for Scheduling Professional Development
- Please confirm that we have the correct 'Ship to' and 'Sold to' information on the cost proposal.
- Ship to: Magnolia Science Academy 7 18355 Roscoe Blvd

Northridge, CA 91325-4104

Sold to:

Magnolia Educ and Research Found 250 E 1St St Los Angeles, CA 90012-3811

· Please provide funding start and end dates.

- · Please note that all products and services will be billed upon the processing of your purchase order.
- · Our payment terms are 30 days from the invoice date.
- Print subscription material quantities may be adjusted across grades for like products, to accommodate enrollment fluctuations, quantities cannot be adjusted between different programs or copyrights.
- · Our shipping terms are FOB shipping point. The shipping term for your proposal is Destination.
- Any proposed shipping or tax amount provided on this proposal, is based on the Ship To account location quoted within.
- If the location of your delivery changes, please include the proper sales tax and shipping charges for that location in the applicable Purchase Order
- Should any of these Terms of Sale conflict with any preprinted terms on your purchase order, the HMH terms of service shall apply.

Thank you in advance for supplying us with the necessary information at time of purchase.

Our goal is to ensure your success throughout the duration of this agreement, which starts with a highly successful delivery of our solution.

For greater detail, the complete Terms of Purchase may be reviewed here: http://www.hmhco.com/common/terms-conditions

Date of Proposal: 2/8/2023

Proposal Expiration Date: 3/25/2023

Houghton Mifflin Harcourt

Send <u>Check Payments</u> to: Houghton Mifflin Harcourt Publishing Company 14046 Collections Center Drive Chicago, IL 60693 Attention: Traci Lewin tlewin@magnoliapublicschools.org Send <u>Orders</u> to: k12orders@hmhco.com FAX: 800-269-5232 HMH Orders 9400 Southpark Center Loop Orlando, FL 32819-8647

HMH Confidential and Proprietary
B8043 Page 8 of 8

Please submit this form with your purchase order



Houghton Mifflin Harcourt

Proposal #008619772

Prepared For

Magnolia Science Acad 8 Bell

6411 Orchard Ave Bell CA 90201

Attention: Traci Lewin tlewin@magnoliapublicschools.org

For the Purchase of:

Into Math 6-8 and AGA 5 year

Prepared By Suzy Robins suzy.robins@hmhco.com

Please submit this proposal with your purchase order.

Purchase orders or duly executed service agreements for **Professional Services** purchased, must be submitted at least 30 days before the service event date.

For greater detail, the complete Terms of Purchases may be reviewed here: <u>http://www.hmhco.com/common/terms-conditions</u>

Send <u>Check Payments</u> to: Houghton Mifflin Harcourt Publishing Company 14046 Collections Center Drive Chicago, IL 60693 Attention: Traci Lewin tlewin@magnoliapublicschools.org Send <u>Orders</u> to: k12orders@hmhco.com FAX: 800-269-5232 HMH Orders 9400 Southpark Center Loop Orlando, FL 32819-8647

HMH Confidential and Proprietary

Magnolia Science Acad 8 Bell

	ISBN		Title	Price	Quantity	Value of All Material	Free Materials Quantity
S	<u>Gi</u> tudent Digital Li	rade 6 censes					
1789391	9780358398707 Includes: Digital Student R Implementation S	Into Math Student License Digita esources 5 Year Digital Grade 6-8 Success		\$90.00	150	\$13,500.00	
Т	otal for Student	Digital Licenses		\$13,500.00			
Т	eacher Digital L	icenses					
1808546	9780358555902 Includes: Into Math Digital ⁻ Access to Teache	Into Math Teacher License Digit Feacher Resources 5 Year Grade r's Corner		\$375.00			1
Т	otal for Teacher	Digital Licenses		\$0.00			
Α	la Carte Items	Available for Purchase					
Т	eacher Materials	5					
1732973	9781328614353	Into Math Premium Manipulative	es Kit Grades 6-8	\$378.90	1	\$378.90	
1750434	9780358116301	Into Math Planning and Pacing	Guide Grade 6	\$19.45	1	\$19.45	
1756245	9780358157038	Into Math Teacher Edition Colle	ction Grade 6	\$150.00	1	\$150.00	
S	tudent Materials	6					
1765490	9780358223597	Into Math Student Edition (Cons	umable) 5 Year Print Grade 6	\$35.00	150	\$5,250.00	
Т	otal for A la Car	te Items Available for Purch	ase	\$5,798.35			
Tatal fa	w Oreda C			¢40.000.05			
<u>l otal fo</u>	or Grade 6			\$19,298.35			
S	<u>Gi</u> tudent Digital Li	rade 7 censes					
1789391	9780358398707 Includes:	Into Math Student License Digita	al 5 Year Grades 6-8	\$90.00	170	\$15,300.00	
		esources 5 Year Digital Grade 6-8 Success	3				
Т	otal for Student	Digital Licenses		\$15,300.00			
Т	eacher Digital L	icenses					
1808546	9780358555902 Includes: Into Math Digital ⁻	Feacher Resources 5 Year Grade		\$375.00			1
Т	Access to Teache	er's Corner Digital Licenses		\$0.00			
Hough 14046	Check Payments nton Mifflin Harco Collections Cent go, IL 60693	urt Publishing Company	Attention: Traci Lewin tlewin@magnoliapublicschools.org HMH Confidential and Proprietary		Send <u>Orda</u> k12orders@hr FAX: 800-26 HMH Or 9400 Southpark	mhco.com 69-5232 ders Center Loop	
	008619772	Sold:0000698750 Ship:000	00751227 Page 2 of 5 F	Please submit th	Orlando, FL 32 is form with you		er

Magnolia Science Acad 8 Bell

	ISBN	Title		Price	Quantity	Value of All Material	Free Materials Quantity
A la	a Carte Items A	vailable for Purchase					
Теа	acher Materials	1					
1732973	9781328614353	Into Math Premium Manipulatives Kit Grades 6-8	\$	378.90	1	\$378.90	
1750436	9780358116325	Into Math Planning and Pacing Guide Grade 7	s	\$19.45	1	\$19.45	
1756246	9780358157045	Into Math Teacher Edition Collection Grade 7	\$	5150.00	1	\$150.00	
Stu	udent Materials						
1765491 §	9780358223603	Into Math Student Edition (Consumable) 5 Year Print G	rade 7	\$35.00	170	\$5,950.00	
Tot	tal for A la Cart	e Items Available for Purchase	\$6	,498.35			
	0						
Total for	Grade /		\$Z I	1,798.35			
	Gr	ade 8					
Stu	udent Digital Li	censes					
	Includes:	Into Math Student License Digital 5 Year Grades 6-8	5	\$90.00	170	\$15,300.00	
	Digital Student R Implementation S	esources 5 Year Digital Grade 6-8 Success					
Tot	tal for Student	Digital Licenses	\$15	5,300.00			
Теа	acher Digital Li	censes					
	9780358555902 Includes:	Into Math Teacher License Digital 5 Year Grades 6-8	\$	375.00			1
l		eacher Resources 5 Year Grades 6-8 r's Corner					
Tot	tal for Teacher	Digital Licenses	:	\$0.00			
A la	a Carte Items A	vailable for Purchase					
Теа	acher Materials	i					
1732973	9781328614353	Into Math Premium Manipulatives Kit Grades 6-8	\$	378.90	1	\$378.90	
1750438	9780358116349	Into Math Planning and Pacing Guide Grade 8	s	\$19.45	1	\$19.45	
1756247	9780358157052	Into Math Teacher Edition Collection Grade 8	\$	5150.00	1	\$150.00	
Stu	udent Materials						
1765492	9780358223610	Into Math Student Edition (Consumable) 5 Year Print G	rade 8	\$35.00	170	\$5,950.00	
Tot	tal for A la Carl	e Items Available for Purchase	\$6	,498.35			
Total for	<u>Grade 8</u>		\$21	1,798.35			
Sand O	hook Dournort	> to:	antion:		Cond Oud-	re to:	
Houghto	heck Payments on Mifflin Harco Collections Cent	urt Publishing Company Trac	ention: ci Lewin iapublicschools org		Send <u>Orde</u> k12orders@hm FAX: 800-269	hco.com	
	o, IL 60693	0 0	iapublicschools.org		HMH Ord 9400 Southpark C	ers	
			and Fropheldly		Orlando, FL 328		

Magnolia Science Acad 8 Bell

ISBN	Title	Price	Quantity	Value of All Material	Free Materials Quantity
In Algebra 1	to AGA				
1808500 9780358555209	Into Algebra 1 Teacher License Digital 5 Year	\$375.00			1
1742482 9780358055303	Into Algebra 1 Teacher Edition	\$150.00	1	\$150.00	
1750380 9780358119388	Into Algebra 1 Planning and Pacing Guide Grade 9	\$10.35	1	\$10.35	
Total for Algebra	1	\$160.35			
Into Geometry					
1808522 9780358555322	Into Geometry Teacher License Digital 5 Year	\$375.00			1
1742563 9780358055310	Into Geometry Teacher Edition	\$150.00	1	\$150.00	
1750381 9780358119395	Into Geometry Planning and Pacing Guide Grade 10	\$10.35	1	\$10.35	
Total for Into Geo	ometry	\$160.35			
Total for Into AGA		\$320.70			

Shipping & Handling:	\$7,478.21
Sales Tax:	\$2,526.49
Total Cost of Proposal (PO Amount):	\$73,220.45

Send <u>Check Payment</u> Houghton Mifflin Harco 14046 Collections Cen Chicago, IL 60693	ourt Publishing Comp	tlewin@	Attention: Traci Lewin @magnoliapublicschools.co	HMH Orders •tary 9400 Southpark Center Loop
				Orlando, FL 32819-8647
008619772	Sold:0000698750	Ship:0000751227	Page 4 of 5	Please submit this form with your purchase order

Date of Proposal: 2/0/2/2/3 at 5:00 PM Froposal: 2/0/2/2/3 at 5:00 PM Froposal Tor Froposal Tor

Magnolia Science Acad 8 Bell

Total Cost of Proposal (PO Amount): \$73,220.45

Thank you for considering HMH as your partner. We are committed to providing an excellent experience and delivering ongoing, highquality service to our customers. To meet these goals, we want to ensure you are aware of the below Terms of Purchase. These terms help us process your order quickly, efficiently, and accurately, ensuring successful delivery and implementation of our solutions.

- · Please return this cost proposal with your signed purchase order that matches product, prices and shipping charges.
- Provide the exact address for *delivery* of print materials. The shipping address may be your district warehouse or individual school sites, but it is essential that this is accurate.

Sold to:

250 E 1St St

Magnolia Educ and Research Found

Los Angeles, CA 90012-3811

- Please supply the name of each important district point of contact for all aspects of the solution including their direct contact information (email/phone):
 - o Point of Contact for Print materials
 - o Point of Contact for Digital materials
 - o Point of Contact for Scheduling Professional Development
- Please confirm that we have the correct 'Ship to' and 'Sold to' information on the cost proposal.
- Ship to: Magnolia Science Academy 8 Bell
 - 6411 Orchard Ave
 - Bell Gardens, CA 90201-2222
- · Please provide funding start and end dates.
- · Please note that all products and services will be billed upon the processing of your purchase order.
- · Our payment terms are 30 days from the invoice date.
- Print subscription material quantities may be adjusted across grades for like products, to accommodate enrollment fluctuations, quantities cannot be adjusted between different programs or copyrights.
- · Our shipping terms are FOB shipping point. The shipping term for your proposal is Destination.
- Any proposed shipping or tax amount provided on this proposal, is based on the Ship To account location quoted within.
- If the location of your delivery changes, please include the proper sales tax and shipping charges for that location in the applicable Purchase Order
- Should any of these Terms of Sale conflict with any preprinted terms on your purchase order, the HMH terms of service shall apply.

Thank you in advance for supplying us with the necessary information at time of purchase.

Our goal is to ensure your success throughout the duration of this agreement, which starts with a highly successful delivery of our solution.

For greater detail, the complete Terms of Purchase may be reviewed here: http://www.hmhco.com/common/terms-conditions

Date of Proposal: 2/8/2023

Proposal Expiration Date: 3/25/2023

Houghton Mifflin Harcourt

Send <u>Check Payments</u> to: Houghton Mifflin Harcourt Publishing Company 14046 Collections Center Drive Chicago, IL 60693 Attention: Traci Lewin tlewin@magnoliapublicschools.org Send <u>Orders</u> to: k12orders@hmhco.com FAX: 800-269-5232 HMH Orders 9400 Southpark Center Loop Orlando, FL 32819-8647

008619772 Sold:0000698750 Ship:0000751227 P

HMH Confidential and Proprietary

Please submit this form with your purchase order



Houghton Mifflin Harcourt

Proposal #008619778

Prepared For

Magnolia Sci Acad-Santa Ana

2840 W 1st St Santa Ana CA 92703

Attention: Traci Lewin tlewin@magnoliapublicschools.org

For the Purchase of:

Into Math K-8 and AGA 5 year

Prepared By Suzy Robins suzy.robins@hmhco.com

Please submit this proposal with your purchase order.

Purchase orders or duly executed service agreements for **Professional Services** purchased, must be submitted at least 30 days before the service event date.

For greater detail, the complete Terms of Purchases may be reviewed here: <u>http://www.hmhco.com/common/terms-conditions</u>

Send <u>Check Payments</u> to: Houghton Mifflin Harcourt Publishing Company 14046 Collections Center Drive Chicago, IL 60693 Attention: Traci Lewin tlewin@magnoliapublicschools.org Send <u>Orders</u> to: k12orders@hmhco.com FAX: 800-269-5232 HMH Orders 9400 Southpark Center Loop Orlando, FL 32819-8647

HMH Confidential and Proprietary

	ISBN	ті	tle	Price	Quantity	Value of All Material	Free Materials Quantity
S	<u>Gr</u> Student Digital Li	<u>ade K</u> censes					
1789388	9780358398677 Includes: Digital Student I Implementation	Into Math Student License Digital 5 Year Resources 5 Year Digital Grade K-5 Success	Grades K-5	\$90.00	52	\$4,680.00	
т	otal for Student	Digital Licenses		\$4,680.00			
т	eacher Digital Li	censes					
1808534	9780358555780 Includes: Into Math Digital ⊺ Access to Teache	Into Math Teacher License Digital 5 Yea eacher Resources 5 Year Grades K-5 r's Corner	r Grades K-5	\$375.00			2
т	otal for Teacher	Digital Licenses		\$0.00			
А	la Carte Items A	vailable for Purchase					
т	eacher Materials						
1732957	9781328613998	Into Math Premium Manipulatives Kit Gr	ade K	\$378.90	2	\$757.80	
1753079	9780358132653	Into Math Teacher Edition Collection Gra	ade K	\$150.00	2	\$300.00	
1749826	9780358111931	Into Math Planning and Pacing Guide G	ade K	\$19.45	2	\$38.90	
1749808	9780358111757	Into Math TE Flipchart Grade K		\$109.90	2	\$219.80	
1749802	9780358111696	Into Math Unit Project Cards Grade K		\$14.85	2	\$29.70	
1749820	9780358111870	Into Math Game and Activity Cards Grad	le K	\$14.85	2	\$29.70	
1729167	9781328584106	Into Math Math Reader Collection Grade	К	\$31.60	2	\$63.20	
s	Student Materials						
1814925	9780358608776	2020 Into Math Student Edition Collectio Homework Journal Set 5 Year Print Gra		\$35.00	52	\$1,820.00	
т	otal for A la Car	e Items Available for Purchase		\$3,259.10			
Total fo	or Grade K			\$7,939.10			
S 1789388	Student Digital Li 9780358398677 Includes:	Into Math Student License Digital 5 Year Resources 5 Year Digital Grade K-5	Grades K-5	\$90.00	30	\$2,700.00	
т	otal for Student	Digital Licenses		\$2,700.00			
Hough 14046	Check Payments hton Mifflin Harco Collections Cent go, IL 60693	Irt Publishing Company er Drive tle	Attention: Traci Lewin win@magnoliapublicschools.org H Confidential and Proprietary		Send <u>Ord</u> k12orders@hi FAX: 800-20 HMH Or 9400 Southpark	mhco.com 69-5232 ders Center Loop	
	008619778	Sold:0000698750 Ship:000071073	39 Page 2 of 12	Please submit t	Orlando, FL 32 his form with yo	2819-8647 our purchase ord	der

	ISBN		Title	Price	Quantity	Value of All Material	Free Materials Quantity
Т	eacher Digital L	icenses					
1808534	9780358555780	Into Math Teacher License Digital	5 Year Grades K-5	\$375.00			2
	Into Math Digital		K-5				
Т	ISBN Title Price Quantity Value of All Mater 108534 Transberg Control Into Math Teacher Lonne Digital S Yeer Grades K-0 S77.00 2 3 108534 Into Math Teacher Lonne Digital S Yeer Grades K-0 S77.00 2 3 3 108534 Into Math Teacher Digital Licenses S0.00 All All All 3 108534 Into Math Teacher Materials S77.00 2 S77.70 3 108534 Into Math Teacher Edition Calcular Grade 1 S10.00 2 S00.00 174805 Into Math Teacher Edition Calcular Grade 1 S10.00 2 S20.00 174805 Into Math Teacher Edition Calcular Grade 1 S10.00 2 S20.00 174805 Into Math Teacher Edition Calcular Grade 1 S10.00 2 S20.00 174805 Into Math Math Teacher Edition Calcular Grade 1 S10.00 2 S20.00 174805 Into Math Math Math Reader Calledian Grade 1 S10.00 S1.000.00 S1.000.00 174805 Into Math Math Math Reader Calledian Grade 1 S10.00 S1.000.00 S1.000.00 174805 Into Alla Carle Items Available for Purchase S2.001.50 S1.000.00 S1.000.00 174805						
A	la Carte Items	Available for Purchase					
Т	eacher Materials	5					
1732958	9781328614308	Into Math Premium Manipulatives	Kit Grade 1	\$378.90	2	\$757.80	
1753080	9780358132660	Into Math Teacher Edition Collecti	on Grade 1	\$150.00	2	\$300.00	
1749827	9780358111948	Into Math Planning and Pacing Gu	ide Grade 1	\$19.45	2	\$38.90	
1749809	9780358111764	Into Math TE Flipchart Grade 1		\$109.90	2	\$219.80	
1749803	9780358111702	Into Math Unit Project Cards Grad	e 1	\$14.85	2	\$29.70	
1749821	9780358111887	Into Math Game and Activity Card	s Grade 1	\$14.85	2	\$29.70	
1729168	9781328584113	Into Math Math Reader Collection	Grade 1	\$37.80	2	\$75.60	
S	tudent Materials	5					
1814926	9780358608783			\$35.00	30	\$1,050.00	
Т	otal for A la Car	te Items Available for Purchas	se	\$2,501.50			
<u>Total fo</u>	or Grade 1			\$5,201.50			
S							
1789388		Into Math Student License Digital	5 Year Grades K-5	\$90.00	21	\$1,890.00	
Т	otal for Student	Digital Licenses		\$1,890.00			
Т	eacher Digital L	icenses					
1808534	9780358555780	Into Math Teacher License Digital	5 Year Grades K-5	\$375.00			1
	Into Math Digital		5-5				
Т	otal for Teacher	Digital Licenses		\$0.00			
A	la Carte Items /	Available for Purchase					
Send	Check Payment	<u>s</u> to:					
14046	Collections Cent				FAX: 800-26	69-5232	
Chica	go, IL 60693		HMH Confidential and Proprietary	/	9400 Southpark	Center Loop	
	008619778	Sold:0000698750 Ship:0000	710739 Page 3 of 12	Please submit th	his form with yo	our purchase or	ler

	ISBN		Title	Price	Quantity	Value of All Material	Free Materials Quantity
Т	eacher Materials	5					
1732959	9781328614315	Into Math Premium Manipulatives k	Kit Grade 2	\$378.90	1	\$378.90	
1753081	9780358132677	Into Math Teacher Edition Collectio	n Grade 2	\$150.00	1	\$150.00	
1749828	9780358111955	Into Math Planning and Pacing Gui	de Grade 2	\$19.45	1	\$19.45	
1749810	9780358111771	Into Math TE Flipchart Grade 2		\$109.90	1	\$109.90	
1749804	9780358111719	Into Math Unit Project Cards Grade	2	\$14.85	1	\$14.85	
1749822	9780358111894	Into Math Game and Activity Cards	Grade 2	\$14.85	1	\$14.85	
1729169	9781328584120	Into Math Math Reader Collection (Grade 2	\$44.10	1	\$44.10	
S	tudent Materials						
1814927	9780358608790	2020 Into Math Student Edition Col Homework Journal Set 5 Year Prin		\$35.00	21	\$735.00	
Т	otal for A la Cart	e Items Available for Purchas	e	\$1,467.05			
Total fo	or Grade 2			\$3,357.05			
s	<u>Gr</u> tudent Digital Li	rade 3 censes					
1789388	9780358398677 Includes: Digital Student F Implementation	Into Math Student License Digital 5 Resources 5 Year Digital Grade K-5 Success	Year Grades K-5	\$90.00	30	\$2,700.00	
Т	otal for Student	Digital Licenses		\$2,700.00			
Т	eacher Digital Li	censes					
1808534	9780358555780 Includes: Into Math Digital T Access to Teache	Into Math Teacher License Digital 5 Feacher Resources 5 Year Grades K r's Corner		\$375.00			2
т	otal for Teacher	Digital Licenses		\$0.00			
Α	la Carte Items A	Vailable for Purchase					
Т	eacher Materials	3					
1732960	9781328614322	Into Math Premium Manipulatives R	Kit Grade 3	\$378.90	2	\$757.80	
1753082	9780358132684	Into Math Teacher Edition Collectio	n Grade 3	\$150.00	2	\$300.00	
1749829	9780358111962	Into Math Planning and Pacing Gui	de Grade 3	\$19.45	2	\$38.90	
1749811	9780358111788	Into Math TE Flipchart Grade 3		\$109.90	2	\$219.80	
1749805	9780358111726	Into Math Unit Project Cards Grade	23	\$14.85	2	\$29.70	
Hough 14046	Check Payments hton Mifflin Harco Collections Cent go, IL 60693	urt Publishing Company	Attention: Traci Lewin tlewin@magnoliapublicschools.org		Send <u>Orde</u> k12orders@hr FAX: 800-26 HMH Or	mhco.com 39-5232 ders	
	008619778	Sold:0000698750 Ship:00007	HMH Confidential and Proprietary 10739 Page 4 of 12	Please submit t	9400 Southpark Orlando, FL 32 his form with yo	2819-8647	der

	ISBN		Title	Price	Quantity	Value of All Material	Free Materials Quantity
1749823 9	780358111900	Into Math Game and Activity Card	s Grade 3	\$14.85	2	\$29.70	
1729170 9	781328584137	Into Math Math Reader Collection	Grade 3	\$37.80	2	\$75.60	
Stu	dent Materials						
1814928 9	780358608806	2020 Into Math Student Edition Co Homework Journal Set 5 Year Prin		\$35.00	30	\$1,050.00	
Tota	al for A la Cart	te Items Available for Purchas	se	\$2,501.50			
Total for	Grade 3			\$5,201.50			
Stu	<u>Gr</u> dent Digital Li	rade 4 censes					
	780358398677	Into Math Student License Digital	5 Year Grades K-5	\$90.00	38	\$3,420.00	
I	ncludes: Digital Student F Implementation	Resources 5 Year Digital Grade K-5 Success					
Tota	al for Student	Digital Licenses		\$3,420.00			
Теа	cher Digital Li	censes					
lı lı	ncludes:	Into Math Teacher License Digital Teacher Resources 5 Year Grades H n's Corner		\$375.00			2
Tota	al for Teacher	Digital Licenses		\$0.00			
A la	Carte Items A	Available for Purchase					
Теа	cher Materials	5					
1732961 9	781328614339	Into Math Premium Manipulatives	Kit Grade 4	\$378.90	2	\$757.80	
1753083 9	780358132691	Into Math Teacher Edition Collecti	on Grade 4	\$150.00	2	\$300.00	
1749830 9	780358111979	Into Math Planning and Pacing Gu	ide Grade 4	\$19.45	2	\$38.90	
1749812 9	780358111795	Into Math TE Flipchart Grade 4		\$109.90	2	\$219.80	
1749806 9	780358111733	Into Math Unit Project Cards Grad	e 4	\$14.85	2	\$29.70	
1749824 9	780358111917	Into Math Game and Activity Card	s Grade 4	\$14.85	2	\$29.70	
1729171 9	781328584144	Into Math Math Reader Collection	Grade 4	\$44.10	2	\$88.20	
Stu	dent Materials						
1814929 9	780358608813	2020 Into Math Student Edition Co Homework Journal Set 5 Year Prin		\$35.00	38	\$1,330.00	
Tota	al for A la Cart	te Items Available for Purchas	Se	\$2,794.10			
Houghto 14046 C	neck Payments n Mifflin Harco collections Cent , IL 60693	urt Publishing Company	Attention: Traci Lewin tlewin@magnoliapublicschools.org HMH Confidential and Proprietary	Ş	Send <u>Ord</u> k12orders@hi FAX: 800-2i HMH Or 9400 Southpark Orlando, FL 3:	mhco.com 69-5232 ders Center Loop	
	008619778	Sold:0000698750 Ship:0000	710739 Page 5 of 12	Please submit th			ler

ISBN		Title	Price	Quantity	Value of All Material	Free Materials Quantity
Total for Grade 4			\$6,214.10			
Student Digit	<u>Grade 5</u> al Licenses					
	677 Into Math Student License Digita dent Resources 5 Year Digital Grade K- ation Success		\$90.00	45	\$4,050.00	
	dent Digital Licenses		\$4,050.00			
Teacher Digi	tal Licenses					
	780 Into Math Teacher License Digita gital Teacher Resources 5 Year Grades eacher's Corner		\$375.00			2
Total for Tea	cher Digital Licenses		\$0.00			
A la Carte Ite	ms Available for Purchase					
Teacher Mate	erials					
1732962 9781328614	346 Into Math Premium Manipulative	s Kit Grade 5	\$378.90	2	\$757.80	
1753084 9780358132	707 Into Math Teacher Edition Collect	tion Grade 5	\$150.00	2	\$300.00	
1749831 9780358111	986 Into Math Planning and Pacing C	Guide Grade 5	\$19.45	2	\$38.90	
1749813 9780358111	801 Into Math TE Flipchart Grade 5		\$109.90	2	\$219.80	
749807 9780358111	740 Into Math Unit Project Cards Gra	de 5	\$14.85	2	\$29.70	
1749825 9780358111	924 Into Math Game and Activity Car	ds Grade 5	\$14.85	2	\$29.70	
729172 9781328584	151 Into Math Math Reader Collectio	n Grade 5	\$50.50	2	\$101.00	
Student/Dist	ict Materials					
1814930 9780358608	820 2020 Into Math Student Edition (Homework Journal Set 5 Year P		\$35.00	45	\$1,575.00	
Total for A la	Carte Items Available for Purch	ase	\$3,051.90			
Total for Grade 5			\$7,101.90			
Student Digit	<u>Grade 6</u> al Licenses					
1789391 9780358398 Includes:	707 Into Math Student License Digita	l 5 Year Grades 6-8	\$90.00	70	\$6,300.00	
Send <u>Check Payn</u> Houghton Mifflin H 14046 Collections Chicago, IL 60693	arcourt Publishing Company Center Drive	Attention: Traci Lewin tlewin@magnoliapublicschools.org HMH Confidential and Proprietary		Send <u>Ord</u> k12orders@hi FAX: 800-20 HMH Or 9400 Southpark	mhco.com 69-5232 ders	
00064077	9 Saldinoncoszen Shiminon		Plaga aubrett	Orlando, FL 32	2819-8647	
00861977	8 Sold:0000698750 Ship:000	0710739 Page 6 of 12 Powered by BoardOnTrack	riease submit	uns iorm with yo	our purchase order	97 of 14

	ISBN		Title	Price	Quantity	Value of All Material	Free Materials Quantity
	Digital Student R	esources 5 Year Digital Grade 6-8 Success					
т	otal for Student	Digital Licenses		\$6,300.00			
т	eacher Digital L	icenses					
1808546	9780358555902 Includes:	Into Math Teacher License Digita	ıl 5 Year Grades 6-8	\$375.00			2
		Teacher Resources 5 Year Grades er's Corner	6-8				
т	otal for Teacher	Digital Licenses		\$0.00			
A	la Carte Items	Available for Purchase					
т	eacher Material	S					
1732973	9781328614353	Into Math Premium Manipulatives	s Kit Grades 6-8	\$378.90	2	\$757.80	
1750434	9780358116301	Into Math Planning and Pacing G	Buide Grade 6	\$19.45	2	\$38.90	
1756245	9780358157038	Into Math Teacher Edition Collec	tion Grade 6	\$150.00	2	\$300.00	
S	tudent Materials	5					
1765490	9780358223597	Into Math Student Edition (Consu	umable) 5 Year Print Grade 6	\$35.00	70	\$2,450.00	
т	otal for A la Car	te Items Available for Purcha	3Se	\$3,546.70			
Total fo	or Grade 6			\$9,846.70			
				<i>,,,,,,,,,,</i> ,,,,,,,,,,,,,,,,,,,,,,,,,,			
S	<u>Gi</u> Student Digital Li	rade 7 icenses					
1789391	9780358398707 Includes:	Into Math Student License Digita	I 5 Year Grades 6-8	\$90.00	80	\$7,200.00	
	Digital Student R Implementation S	tesources 5 Year Digital Grade 6-8 Success					
т	otal for Student	Digital Licenses		\$7,200.00			
т	eacher Digital L	icenses					
1808546	9780358555902 Includes:	Into Math Teacher License Digita	Il 5 Year Grades 6-8	\$375.00			1
	Into Math Digital Access to Teache	Teacher Resources 5 Year Grades er's Corner	6-8				
т	otal for Teacher	Digital Licenses		\$0.00			
А	la Carte Items	Available for Purchase					
т	eacher Materials	S					
1732973	9781328614353	Into Math Premium Manipulatives	s Kit Grades 6-8	\$378.90	1	\$378.90	
Send	Check Payment	<u>s</u> to:	Attention:		Send Ord	ers to:	
14046	Collections Cen	urt Publishing Company ter Drive	Traci Lewin tlewin@magnoliapublicschools.org		k12orders@hi FAX: 800-20	69-5232	
Chica	go, IL 60693		HMH Confidential and Proprietary		HMH Or 9400 Southpark Orlando, FL 32	Center Loop	
	008619778	Sold:0000698750 Ship:000	0710739 Page 7 of 12	Please submit th	nis form with yo	our purchase or	der

ISBN	Title	Price	Quantity	Value of All Material	Free Materials Quantity
1750436 9780358116325	Into Math Planning and Pacing Guide Grade 7	\$19.45	1	\$19.45	
1756246 9780358157045	Into Math Teacher Edition Collection Grade 7	\$150.00	1	\$150.00	
Student Material	s				
1765491 9780358223603	Into Math Student Edition (Consumable) 5 Year Print Grade 7	\$35.00	80	\$2,800.00	
Total for A la Ca	rte Items Available for Purchase	\$3,348.35			
Total for Grade 7		\$10,548.35			
<u>G</u> Student Digital L	irade 8 icenses				
1789391 9780358398707	Into Math Student License Digital 5 Year Grades 6-8	\$90.00	75	\$6,750.00	
Includes: Digital Student I Implementation	Resources 5 Year Digital Grade 6-8 Success				
Total for Studen	t Digital Licenses	\$6,750.00			
Teacher Digital I	licenses				
1808546 9780358555902 Includes:	Into Math Teacher License Digital 5 Year Grades 6-8	\$375.00			1
	Teacher Resources 5 Year Grades 6-8 er's Corner				
Total for Teache	r Digital Licenses	\$0.00			
A la Carte Items	Available for Purchase				
Teacher Materia	Is				
1732973 9781328614353	Into Math Premium Manipulatives Kit Grades 6-8	\$378.90	1	\$378.90	
1750438 9780358116349	Into Math Planning and Pacing Guide Grade 8	\$19.45	1	\$19.45	
1756247 9780358157052	Into Math Teacher Edition Collection Grade 8	\$150.00	1	\$150.00	
Student Material	s				
1765492 9780358223610	Into Math Student Edition (Consumable) 5 Year Print Grade 8	\$35.00	75	\$2,625.00	
Total for A la Ca	rte Items Available for Purchase	\$3,173.35			
Total for Grade 8		\$9,923.35			
Δ	lgebra 1				
Student Digital L					
1789394 9780358398738 Includes:	Into Algebra 1 Student License Digital 5 Year	\$90.00	80	\$7,200.00	
Send Check Paymen			Send Ord		
14046 Collections Cer	burt Publishing Company Traci Lewin ter Drive tlewin@magnoliapublicsc	hools.org	k12orders@h FAX: 800-2	69-5232	
Chicago, IL 60693	HMH Confidential and P	roprietary	HMH Oi 9400 Southpark Orlando FL 3	Center Loop	
008619778	Sold:0000698750 Ship:0000710739 Page 8 of 12	Please submit th	Orlando, FL 3	2819-8647	ler

ISBN		Title	Price	Quantity	Value of All Material	Materia Quantii
Digital Student Implementatior	Resource 5 Year Digital Algebra 1 Success					
Total for Student	t Digital Licenses		\$7,200.00			
Teacher Digital L	licenses					
08500 9780358555209 Includes:	6	Digital 5 Year	\$375.00			2
Access to Teach	igital Teacher Resources 5 Year er's Corner					
Total for Teache	r Digital Licenses		\$0.00			
A la Carte Items	Available for Purchase					
Teacher Material	s					
12482 9780358055303	Into Algebra 1 Teacher Edition		\$150.00	2	\$300.00	
60380 9780358119388	Into Algebra 1 Planning and Pac	ing Guide Grade 9	\$10.35	2	\$20.70	
Student Material	s					
05762 9781328951816	Into Algebra 1 Student Edition		\$45.00	80	\$3,600.00	
1584 9780358264729	Into Algebra 1 Journal and Pract	ice Workbook 5 Year Print	\$43.00	80	\$3,440.00	
Total for A la Ca	rte Items Available for Purch	ase	\$7,360.70			
	rte Items Available for Purch	ase	\$7,360.70 \$14,560.70			
otal for Algebra 1 <u>G</u>	eometry	ase				
otal for Algebra 1 <u>G</u> Student Digital L	eometry licenses			90	\$8,100.00	
otal for Algebra 1 <u>G</u> Student Digital L 39400 9780358398790 Includes:	ieometry icenses Into Geometry Student License I Resource 5 Year Digital Geometry	Digital 5 Year	\$14,560.70	90	\$8,100.00	
otal for Algebra 1 <u>G</u> Student Digital L 39400 9780358398790 Includes: Digital Student Implementation	ieometry icenses Into Geometry Student License I Resource 5 Year Digital Geometry	Digital 5 Year	\$14,560.70	90	\$8,100.00	
otal for Algebra 1 <u>G</u> Student Digital L 39400 9780358398790 Includes: Digital Student Implementation	ieometry icenses Into Geometry Student License I Resource 5 Year Digital Geometry n Success t Digital Licenses	Digital 5 Year	\$14,560.70 \$90.00	90	\$8,100.00	
otal for Algebra 1 <u>G</u> Student Digital L 39400 9780358398790 Includes: Digital Student Implementation Total for Student Teacher Digital L 08522 9780358555322 Includes:	icenses Into Geometry Student License I Resource 5 Year Digital Geometry o Success t Digital Licenses Licenses Into Geometry Teacher License	Digital 5 Year	\$14,560.70 \$90.00	90	\$8,100.00	2
G G Student Digital L 39400 9780358398790 Includes: Digital Student Digital Student Implementation Total for Student Total for Student Teacher Digital L 08522 97803585555322 Includes:	ieometry icenses Into Geometry Student License I Resource 5 Year Digital Geometry n Success t Digital Licenses icenses Into Geometry Teacher License igital Teacher Resources 5 Year	Digital 5 Year	\$90.00 \$8,100.00	90	\$8,100.00	2
Stal for Algebra 1 G Student Digital L 39400 9780358398790 Includes: Digital Student Digital Student Implementation Total for Student Teacher Digital L 08522 9780358555322 Includes: Includes: Into Geometry D Access to Teach	ieometry icenses Into Geometry Student License I Resource 5 Year Digital Geometry n Success t Digital Licenses icenses Into Geometry Teacher License igital Teacher Resources 5 Year	Digital 5 Year	\$90.00 \$8,100.00	90	\$8,100.00	2
otal for Algebra 1 G Student Digital L 39400 9780358398790 Includes: Digital Student Digital Student Implementation Total for Student Teacher Digital L 08522 9780358555322 Includes: Includes: 1ncludes: Includes: 08522 9780358555322 Includes: Into Geometry D Access to Teach Total for Teacher	ieometry icenses Into Geometry Student License I Resource 5 Year Digital Geometry n Success t Digital Licenses Licenses Into Geometry Teacher License igital Teacher Resources 5 Year er's Corner	Digital 5 Year	\$14,560.70 \$90.00 \$8,100.00 \$375.00	90	\$8,100.00	2
otal for Algebra 1 G Student Digital L 39400 9780358398790 Includes: Digital Student Digital Student Implementation Total for Student Teacher Digital L 08522 9780358555322 Includes: Includes: 1ncludes: Includes: 08522 9780358555322 Includes: Into Geometry D Access to Teach Total for Teacher	ieometry icenses Into Geometry Student License I Resource 5 Year Digital Geometry n Success t Digital Licenses Licenses Into Geometry Teacher License igital Teacher Resources 5 Year er's Corner r Digital Licenses Available for Purchase	Digital 5 Year	\$14,560.70 \$90.00 \$8,100.00 \$375.00	90	\$8,100.00	2
Detail for Algebra 1 G Student Digital L 89400 9780358398790 Includes: Digital Student Digital Student Implementation Total for Student Implementation Total for Student Includes: 108522 9780358555322 Includes: Into Geometry D Access to Teach Total for Teacher A la Carte Items	icenses Into Geometry Student License I Resource 5 Year Digital Geometry n Success t Digital Licenses Licenses Into Geometry Teacher License igital Teacher Resources 5 Year er's Corner r Digital Licenses Available for Purchase	Digital 5 Year	\$14,560.70 \$90.00 \$8,100.00 \$375.00	90	\$8,100.00	2
Detail for Algebra 1 G Student Digital L 39400 9780358398790 Includes: Digital Student Digital Student Implementation Total for Student Implementation Total for Student Includes: Includes: Into Geometry D Access to Teach Total for Teacher A la Carte Items Teacher Material 42563 9780358055310 Send Check Payment Check Payment	ieometry icenses Into Geometry Student License I Resource 5 Year Digital Geometry n Success t Digital Licenses Into Geometry Teacher License igital Teacher Resources 5 Year er's Corner r Digital Licenses Available for Purchase Is Into Geometry Teacher Edition	Digital 5 Year Digital 5 Year	\$14,560.70 \$90.00 \$8,100.00 \$375.00 \$0.00	2 Send <u>Ord</u>	\$300.00	2
ytal for Algebra 1 G Student Digital L 39400 9780358398790 Includes: Digital Student Digital Student Implementation Total for Student Implementation Total for Student Includes: Includes: Includes: Includes: Into Geometry D Access to Teach Total for Teacher A la Carte Items Teacher Material 42563 9780358055310 Send Check Payment Send Check Payment	ieometry icenses Into Geometry Student License I Resource 5 Year Digital Geometry n Success t Digital Licenses into Geometry Teacher License igital Teacher Resources 5 Year er's Corner r Digital Licenses Available for Purchase Is Into Geometry Teacher Edition ts to: purt Publishing Company	Digital 5 Year Digital 5 Year	\$14,560.70 \$90.00 \$8,100.00 \$375.00 \$0.00	2	\$300.00 ers to: mhco.com	2

ISBN	Title	Price	Quantity	Value of All Material	Free Materials Quantity
1750381 9780358119395 li	nto Geometry Planning and Pacing Guide Grade 10	\$10.35	2	\$20.70	
Student Materials					
1742480 9780358055280 li	nto Geometry Student Edition	\$45.00	90	\$4,050.00	
1771586 9780358264743 lı	nto Geometry Journal and Practice Workbook 5 Year Print	\$43.00	90	\$3,870.00	
Total for A la Carte	Items Available for Purchase	\$8,240.70			
Total for Geometry		\$16,340.70			
<u>Alga</u> Student Digital Lice	ebra 2 enses				
1789397 9780358398769 li Includes:	nto Algebra 2 Student License Digital 5 Year	\$90.00	70	\$6,300.00	
	source 5 Year Digital Algebra 2 uccess				
Total for Student Di	igital Licenses	\$6,300.00			
Teacher Digital Lice	enses				
Includes:	nto Algebra 2 Teacher License Digital 5 Year al Teacher Resources 5 Year s Corner	\$375.00			1
Total for Teacher D	igital Licenses	\$0.00			
A la Carte Items Av	ailable for Purchase				
Teacher Materials					
1742564 9780358055327 li	nto Algebra 2 Teacher Edition	\$150.00	1	\$150.00	
1750382 9780358119401 li	nto Algebra 2 Planning and Pacing Guide Grade 11	\$10.35	1	\$10.35	
Student Materials					
1742481 9780358055297 li	nto Algebra 2 Student Edition	\$45.00	70	\$3,150.00	
1771585 9780358264736 lı	nto Algebra 2 Journal and Practice Workbook 5 Year Print	\$43.00	70	\$3,010.00	
Total for A la Carte	Items Available for Purchase	\$6,320.35			
Total for Algebra 2		\$12,620.35			

Send Check Payments			Attention:	Send Orders to:
Houghton Mifflin Harcou	t Publishing Comp	any	Traci Lewin	k12orders@hmhco.com
14046 Collections Cente	r Drive	tlewing	@magnoliapublicschools.org	FAX: 800-269-5232
Chicago, IL 60693				HMH Orders
		НМН С	Confidential and Proprietary	9400 Southpark Center Loop
				Orlando, FL 32819-8647
008619778	Sold:0000698750	Ship:0000710739	Page 10 of 12	Please submit this form with your purchase order

	ISBN Title	Price	Quantity	Value of All Material	Free Materials Quantity
$ \begin{tabular}{ c c c c c } \hline \end{tabular} \end{tabular} \end{tabular}$	Total Savings: Subtotal Purchase Amount: Shipping & Handling: Sales Tax:	\$7,500.00 \$108,855.30 \$13,870.54 \$5,682.86			
	Total Cost of Proposal (PO Amount):	\$128,408.70			J

Send <u>Check Payments</u> to: Houghton Mifflin Harcourt Publishing Company 14046 Collections Center Drive Chicago, IL 60693

Attention: Traci Lewin tlewin@magnoliapublicschools.org

Send <u>Orders</u> to: k12orders@hmhco.com FAX: 800-269-5232 HMH Orders 9400 Southpark Center Loop Orlando, FL 32819-8647 Please submit this form with your purchase order

HMH Confidential and Proprietary

Date of Proposal: 2/0/2/2/3 at 5:00 PM Froposal: 2/0/2/2/3 at 5:00 PM Proposal Tor Proposal Tor

Magnolia Sci Acad-Santa Ana

Total Cost of Proposal (PO Amount): \$128,408.70

Thank you for considering HMH as your partner. We are committed to providing an excellent experience and delivering ongoing, highquality service to our customers. To meet these goals, we want to ensure you are aware of the below Terms of Purchase. These terms help us process your order quickly, efficiently, and accurately, ensuring successful delivery and implementation of our solutions.

- · Please return this cost proposal with your signed purchase order that matches product, prices and shipping charges.
- Provide the exact address for *delivery* of print materials. The shipping address may be your district warehouse or individual school sites, but it is essential that this is accurate.
- Please supply the name of each important district point of contact for all aspects of the solution including their direct contact information (email/phone):
 - o Point of Contact for Print materials
 - o Point of Contact for Digital materials
 - o Point of Contact for Scheduling Professional Development
- Please confirm that we have the correct 'Ship to' and 'Sold to' information on the cost proposal.
- **Ship to:** Magnolia Sci Acad Santa Ana-Santa A 2840 W 1St St

Sold to:

Magnolia Educ and Research Found 250 E 1St St Los Angeles, CA 90012-3811

· Please provide funding start and end dates.

Santa Ana, CA 92703-4102

- · Please note that all products and services will be billed upon the processing of your purchase order.
- · Our payment terms are 30 days from the invoice date.
- Print subscription material quantities may be adjusted across grades for like products, to accommodate enrollment fluctuations, quantities cannot be adjusted between different programs or copyrights.
- · Our shipping terms are FOB shipping point. The shipping term for your proposal is Destination.
- Any proposed shipping or tax amount provided on this proposal, is based on the Ship To account location quoted within.
- If the location of your delivery changes, please include the proper sales tax and shipping charges for that location in the applicable Purchase Order
- Should any of these Terms of Sale conflict with any preprinted terms on your purchase order, the HMH terms of service shall apply.

Thank you in advance for supplying us with the necessary information at time of purchase.

Our goal is to ensure your success throughout the duration of this agreement, which starts with a highly successful delivery of our solution.

For greater detail, the complete Terms of Purchase may be reviewed here: http://www.hmhco.com/common/terms-conditions

Date of Proposal: 2/8/2023

Proposal Expiration Date: 3/25/2023

Houghton Mifflin Harcourt

Send <u>Check Payments</u> to: Houghton Mifflin Harcourt Publishing Company 14046 Collections Center Drive Chicago, IL 60693 Attention: Traci Lewin tlewin@magnoliapublicschools.org Send <u>Orders</u> to: k12orders@hmhco.com FAX: 800-269-5232 HMH Orders 9400 Southpark Center Loop Orlando, FL 32819-8647

008619778 Sold:0000698750 Ship:0000710739 Pag

HMH Confidential and Proprietary
0739 Page 12 of 12

Please submit this form with your purchase order

Powered by BoardOnTrack



Houghton Mifflin Harcourt

Proposal #008619782

Prepared For

Magnolia Sci Acad-San Diego

6525 Estrella Ave San Diego CA 92120

> Attention: Traci Lewin

For the Purchase of:

Into Math 6-8 5 year

Prepared By Suzy Robins suzy.robins@hmhco.com

Please submit this proposal with your purchase order.

Purchase orders or duly executed service agreements for **Professional Services** purchased, must be submitted at least 30 days before the service event date.

For greater detail, the complete Terms of Purchases may be reviewed here: <u>http://www.hmhco.com/common/terms-conditions</u>

Send <u>Check Payments</u> to: Houghton Mifflin Harcourt Publishing Company 14046 Collections Center Drive Chicago, IL 60693

008619782

Attention: Traci Lewin

HMH Confidential and Proprietary

Send <u>Orders</u> to: k12orders@hmhco.com FAX: 800-269-5232 HMH Orders 9400 Southpark Center Loop Orlando, FL 32819-8647

Magnolia Sci Acad-San Diego

	ISBN		Title	Price	Quantity	Value of All Material	Free Materials Quantity
S	<u>Gi</u> tudent Digital Li	rade 6 icenses					
1789391	9780358398707 Includes: Digital Student R Implementation S	Into Math Student License Digital esources 5 Year Digital Grade 6-8 Success	5 Year Grades 6-8	\$90.00	140	\$12,600.00	
Т	otal for Student	Digital Licenses		\$12,600.00			
Т	eacher Digital L	icenses					
1808546	9780358555902 Includes: Into Math Digital Access to Teache	Into Math Teacher License Digital Teacher Resources 5 Year Grades (r's Corner		\$375.00			1
Т	otal for Teacher	Digital Licenses		\$0.00			
Α	la Carte Items	Available for Purchase					
Т	eacher Materials	5					
1732973	9781328614353	Into Math Premium Manipulatives	Kit Grades 6-8	\$378.90	1	\$378.90	
1750434	9780358116301	Into Math Planning and Pacing Gu	ide Grade 6	\$19.45	1	\$19.45	
1756245	9780358157038	Into Math Teacher Edition Collecti	on Grade 6	\$150.00	1	\$150.00	
S	tudent Materials	3					
1765490	9780358223597	Into Math Student Edition (Consur	nable) 5 Year Print Grade 6	\$35.00	140	\$4,900.00	
Т	otal for A la Car	te Items Available for Purcha	se	\$5,448.35			
Total fo	or Grade 6			\$18,048.35			
	<u>or Grade o</u>			φ10,0 4 0.35			
S	<u>Gi</u> tudent Digital Li	rade 7 icenses					
1789391	9780358398707 Includes: Digital Student R Implementation S	esources 5 Year Digital Grade 6-8	5 Year Grades 6-8	\$90.00	150	\$13,500.00	
Т	otal for Student	Digital Licenses		\$13,500.00			
Т	eacher Digital L	icenses					
1808546	Includes:	Into Math Teacher License Digital Teacher Resources 5 Year Grades (r's Corner		\$375.00			2
Т	otal for Teacher	Digital Licenses		\$0.00			
Hough 14046	Check Payment nton Mifflin Harco Collections Cen go, IL 60693	urt Publishing Company	Attention: Traci Lewin		Send <u>Ord</u> k12orders@hi FAX: 800-20 HMH Or	mhco.com 69-5232	
	008619782	Sold:0000698750 Ship:0000	HMH Confidential and Prop 483941 Page 2 of 5	rietary 9 Please submit this	400 Southpark Orlando, FL 32	Center Loop 2819-8647	ər

Magnolia Sci Acad-San Diego

ISBN		Title	Price	Quantity	Value of All Material	Free Materials Quantity
A la Carte Items	Available for Purchase					
Teacher Materia	als					
1732973 9781328614353	3 Into Math Premium Manipulatives Kit	Grades 6-8	\$378.90	2	\$757.80	
1750436 978035811632	5 Into Math Planning and Pacing Guide	Grade 7	\$19.45	2	\$38.90	
1756246 978035815704	5 Into Math Teacher Edition Collection	Grade 7	\$150.00	2	\$300.00	
Student Materia	lls					
1765491 9780358223603	3 Into Math Student Edition (Consumat	le) 5 Year Print Grade 7	\$35.00	150	\$5,250.00	
Total for A la Ca	arte Items Available for Purchase		\$6,346.70			
Total for Grade 7			\$19,846.70			
	Overde 0					
Student Digital	<u>Grade 8</u> Licenses					
1789391 9780358398703 Includes:	7 Into Math Student License Digital 5 Y	ear Grades 6-8	\$90.00	150	\$13,500.00	
	Resources 5 Year Digital Grade 6-8					
Total for Stude	nt Digital Licenses		\$13,500.00			
Teacher Digital	Licenses					
1808546 9780358555902	2 Into Math Teacher License Digital 5 Y	′ear Grades 6-8	\$375.00			2
Includes: Into Math Digita Access to Teac	al Teacher Resources 5 Year Grades 6-8					
			\$0.00			
	er Digital Licenses s Available for Purchase		\$0.00			
Teacher Materia					A=== 0.0	
1732973 978132861435			\$378.90	2	\$757.80	
1750438 978035811634	с с		\$19.45	2	\$38.90	
1756247 9780358157052		Grade 8	\$150.00	2	\$300.00	
Student Materia						
1765492 9780358223610		le) 5 Year Print Grade 8	\$35.00	150	\$5,250.00	
Total for A la Ca	arte Items Available for Purchase		\$6,346.70			
Total for Grade 8			\$19,846.70			
Send <u>Check Payme</u> r Houghton Mifflin Hard 14046 Collections Ce Chicago, IL 60693	court Publishing Company	Attention: Traci Lewin		Send <u>Ord</u> k12orders@hi FAX: 800-2 HMH Or	mhco.com 69-5232	
		HMH Confidential and Proprie	-	9400 Southpark Orlando, FL 32	Center Loop 2819-8647	
008619782	Sold:0000698750 Ship:0000483	3941 Page 3 of 5	Please submit th	nis form with you	ir purchase orde	er

Magnolia Sci Acad-San Diego

ISB	N	Title	Price	Quantity	Value of All Material	Free Materials Quantity
	Total Savings:		\$1,875.00			
	Subtotal Purchase Amoun Shipping & Handling: Sales Tax:	it:	\$57,741.75 \$6,851.85 \$1,937.02			
	Total Cost of Proposal (PO A	mount):	\$66,530.62			

Attention: Traci Lewin

HMH Confidential and Proprietary

Send <u>Orders</u> to: k12orders@hmhco.com FAX: 800-269-5232 HMH Orders 9400 Southpark Center Loop Orlando, FL 32819-8647

Page 4 of 5 Plea

Please submit this form with your purchase order

107 of 148

Date of Proposal: 2/0/2023 at 5:00 PM

Magnolia Sci Acad-San Diego

Total Cost of Proposal (PO Amount): \$66,530.62

Thank you for considering HMH as your partner. We are committed to providing an excellent experience and delivering ongoing, highquality service to our customers. To meet these goals, we want to ensure you are aware of the below Terms of Purchase. These terms help us process your order quickly, efficiently, and accurately, ensuring successful delivery and implementation of our solutions.

- Please return this cost proposal with your signed purchase order that matches product, prices and shipping charges.
- Provide the exact address for delivery of print materials. The shipping address may be your district warehouse or individual school sites, but it is essential that this is accurate.
- Please supply the name of each important district point of contact for all aspects of the solution including their direct contact information (email/phone):
 - o Point of Contact for Print materials
 - o Point of Contact for Digital materials
 - o Point of Contact for Scheduling Professional Development
- Please confirm that we have the correct 'Ship to' and 'Sold to' information on the cost proposal.
- Ship to: Magnolia Science Academy San Diego 6525 ESTRELLA AVE SAN DIEGO, CA 92120-2795

Sold to:

Magnolia Educ and Research Found 250 E 1St St Los Angeles, CA 90012-3811

- Please provide funding start and end dates.
- Please note that all products and services will be billed upon the processing of your purchase order.
- Our payment terms are 30 days from the invoice date.
- Print subscription material quantities may be adjusted across grades for like products, to accommodate enrollment fluctuations, quantities cannot be adjusted between different programs or copyrights.
- Our shipping terms are FOB shipping point. The shipping term for your proposal is Destination. .
- Any proposed shipping or tax amount provided on this proposal, is based on the Ship To account location quoted within. .
- If the location of your delivery changes, please include the proper sales tax and shipping charges for that location in the applicable Purchase Order
- Should any of these Terms of Sale conflict with any preprinted terms on your purchase order, the HMH terms of service shall apply.

Thank you in advance for supplying us with the necessary information at time of purchase.

Our goal is to ensure your success throughout the duration of this agreement, which starts with a highly successful delivery of our solution.

For greater detail, the complete Terms of Purchase may be reviewed here: http://www.hmhco.com/common/terms-conditions

Date of Proposal: 2/8/2023

Proposal Expiration Date: 3/25/2023

Houghton Mifflin Harcourt

Send Check Payments to: Houghton Mifflin Harcourt Publishing Company 14046 Collections Center Drive Chicago, IL 60693

Attention: Traci Lewin

Send Orders to: k12orders@hmhco.com FAX: 800-269-5232 HMH Orders 9400 Southpark Center Loop Orlando, FL 32819-8647

HMH Confidential and Proprietary Page 5 of 5

Please submit this form with your purchase order
Magnolia Public Schools - Academic Committee Meeting - Agenda - Thursday February 16, 2023 at 5:00 PM



Math Curriculum Adoption Recommendation

February 16, 2023

Powered by BoardOnTrack



Background

- Current materials were adopted in 2014
 - At the implementation of common core state standards.
- The materials were adopted for an eight-year cycle
 - Current math materials will expire at the end of the 2022/2023 school year.
- Curriculum review and reflection sessions were held with elementary, math teachers and school site leaders to determine if our current materials met the needs of the organization.
 - Current materials do not meet the alignment to common core state standards per EdReports
 - Teachers are spending time finding outside resources, many which are not vetted properly

Background (Cont.)

- High School Pathway
 - Common Core State Standards introduced the offering of two high school mathematics pathway- traditional and integrated
 - MPS switched from traditional to integrated pathway in 2014
 - A vote was conducted regarding the high school mathematics pathway.
 - Majority of teachers (76%) and school leaders (58.3%) voted to return to the traditional mathematics pathway as it would better serve our students.

Magnolia Public Schools - Academic Committee Meeting - Agenda - Thursday February 16, 2023 at 5:00 PM

High School Mathematics Pathway Voting Results

High School Math Teachers:

Currently, we offer the Integrated Math Pathway with Integrated Math I, II, and III. The other option is to offer the traditional math pathway of Algebra...u feel we should offer at Magnolia Public Schools? ^{25 responses}



- Integrated Mathematics Pathway (current pathway)
- Traditional Mathematic Pathway of Algebra I, Geometry, and Algebra II

School Leaders:

Currently, we offer the Integrated Math Pathway with Integrated Math I, II, and III. The other option is to offer the traditional math pathway of Algebra...u feel we should offer at Magnolia Public Schools? ^{12 responses}



 Integrated Mathematics Pathway (current pathway)
Traditional Mathematic Pathway of Algebra I, Geometry, and Algebra II

MAGNOLIA PUBLIC SCHOOLS Connection • Innovation • Exc¹¹² of 148

Timeline



Powered by BoardOnTrack

MAGNOLIA PUBLIC SCHOOLS Connection • Innovation • Exc¹¹³ of 148

Magnolia Public Schools - Academic Committee Meeting - Agenda - Thursday February 16, 2023 at 5:00 PM

Timeline (Cont.)



MAGNOLIA PUBLIC SCHOOLS Connection • Innovation • Exc^{114 of 148}

Powered by BoardOnTrack

- Applied and were selected to receive support from the CalCurriulum Mathematics Materials Adoption Cohort for both the 2019/2020 and 2020/2021 school years.
 - Offered professional development to design a curriculum adoption process to meet the needs of our organization
 - Helped in developing a clear process and timeline for this math curriculum adoption
 - Process ensured requirements for adopting off cycle were met (California Ed. Code 60210)

- Curriculum Adoption Intensive Materials Investigation
 - Occurred summer 2022
 - Each school site had a representative from each grade band (elementary, middle school, and high school)
 - Participants engaged in professional development in selecting high-quality curriculum using an equity lens, criteria for materials and the materials review rubrics
 - They participated in deep dives of curriculum meeting the criteria for materials
 - Interacted with and heard from publishers.
 - Made recommendations for two curricula to field test across the organization during the 1st semester of the 2022/2023 school year.

- Field Test
 - Elementary and math teachers participated in a materials review, lesson study and field testing of the 2 curricula selections
 - Collaborated in PLCs with grade level teams to align to current instruction
 - Used both sets of materials with students and gathered feedback
 - Participated in publisher presentations and a Q & A session

- Voting Results
 - Math teachers voted in December 2022 and elementary teachers cast votes in January 2023

Which of the materials would you like to propose MPS adopts for its math curriculum? ^{33 responses}



Powered by BoardOnTrack

- Voting Results
 - In addition to casting votes, teachers were asked to identify why they selected the materials they chose. Here are a few quotes:
 - "The material and the content of the HMH is well-designed and organized. It also allows for differentiating instruction." -Math Teacher at MSA-3
 - "HMH emphasizes the importance of establishing conceptual understanding and reinforces that understanding with procedural practice." -Math Teacher at MSA-2
 - "Into Math has more opportunities for mathematical discourse; Into Math felt more accessible to students (ex: English learners, families, etc); options for warm-ups; language objectives. The mathematics components are interwoven with SEL and language supports AND having a variety of high-quality resources readily available so I don't need to spend my own money on TPT or even use extra time to make my own resources" -Math Teacher at MSA-5
 - "This had more problem solving and hands-on activities. There are also CGI strategies in this program." -Elementary Teacher at MSA-SA

Proposal for Adoption

- Houghton Mifflin Harcourt (HMH) as new mathematics curriculum provider and the adoption Into Math/ Into AGA as official org-wide mathematics curriculum for Magnolia Public Schools
 - Initial 5 year adoption length
 - Inclusion of both print and digital materials for students and teachers
 - Would include annual student consumables replenishment
 - Hand-on activity materials (manipulatives) for teachers to utilize with students in class
 - Ongoing professional development and support
 - Professional development to ensure teachers are confident with the materials and use in delivering instruction
 - Specialized professional learning based on grade level bands and coaching
 - Support from HMH for implementation of curriculum with fidelity
 - Including on-demand online support via HMH's Teacher's Corner
 - Would ensure proper onboarding for new to Magnolia teachers

Budget Implications

- Cost for 5 year subscription, including print and digital materials
 - TK-6th grade:
 - \$125 per student
 - \$1,096 per teacher set of materials
 - 7-8th grade:
 - \$125 per student
 - \$865 per teacher set of materials
 - High School
 - \$178 per student
 - \$536 per teacher set of materials
- Professional Development Costs \$28,100
- Total organization cost for 5 years of math materials & professional development: \$638,264.77

Budget Implications by School Site

School Site	Estimated Cost
MSA-1	\$119,296.42
MSA-2	\$95,662.92
MSA-3	\$85,474.66
MSA-4	\$22,604.97
MSA-5	\$43,382.43
MSA-6	\$25,799.63
MSA-7	\$55,689.84
MSA-Bell	\$73,220.45
MSA-Santa Ana	\$128,408.70
MSA-San Diego	\$66,530.62

Powered by BoardOnTrack

Coversheet

Academic Updates

Section: Item: Purpose: Submitted by: Related Material: III. Discussion Item A. Academic Updates Discuss

IIIA- Discussion Items .pdf





Agenda Item:	IIIA: Discussion Item
Date:	February 16, 2023
To:	Magnolia Educational & Research Foundation dba Magnolia Public Schools ("MPS") Academic
	Committee (the "Committee")
From:	Alfredo Rubalcava, CEO & Superintendent
Staff Lead(s):	Mr. Erdinc Acar , Chief Academic Officer
RE:	Academic Updates

Action Proposed for Board Recommendation:

Information Only

Purpose:

To provide the Academic Committee Members updates for the current school year.

Background:

MPS Chief Academic Officer and members of the Academic Team will provide an update to the Academic Committee Members on events and activities regarding the academic program and services organization-wide.

<u>Analysis:</u>

See above.

Impact:

None

Budget Implications:

None

Exhibits:

Slide Deck



Academic Committee Meeting

Academic Updates February 16, 2023

Agenda



- General Updates
- Student Achievement Data Updates
 - Analyzing MAP Winter
 - IAB
 - IXL
- Instructional Programs and Support
 - New Teacher Programs
 - Instructional Rounds School visits and classroom observations
- College Programs Update Dual Enrollment
- Student Attendance Data School Climate Data
- Program Updates from MPS Home Office Academic Team Members

General Updates/Celebrations



CAASPP State Assessments Preparations

- School teams reviewed and reflected 21-22 data and Semester 1 data
- Working on Semester 2 plans and SBAC Action plans

Renewal Readiness for MSA-1, 2 and 3

 Have been updating the Educational Program collaboratively based on current needs and initiatives

MTSS Pathway Certification Program

- Grant funded and I year course certification program for all instructional staff
- Universal Design For Learning (UDL), Culturally and Linguistically Responsive Teaching (CLRT), and Mental Health and Social Emotional Learning (SEL)
- About 40% on pace.

WASC Accreditation

• In progress - Thanks board members for attending



127 of 148

Achievement Data: IABs



School Site	ELA IAB Assessments Taken	ELA Projected Proficiency	Math IAB Assessments Taken	Math Projected Proficiency
MSA-1	1077	42.06%	631	42.55%
MSA-2	679	40.21%	647	39.8%
MSA-3	208	36.54%	279	41.22%
MSA-4	92	36.23%	137	54.74%
MSA-5	275	41.64%	216	42.82%
MSA-6	170	48.24%	176	48.86%
MSA-7	109	33.49%	124	22.58%
MSA-8	779	46.54%	370	27.97%
MSA-SA	352	47.73%	649	74.27%
MSA-SD	857	55.19%	429	60.61%
MPS Overall	4,629	45.18%	3658	48.33%

Magnolia Public Schools - Academic Committee Meeting - Agenda - Thursday February 16, 2023 at 5:00 PM

Achievement Data: IXL



129 of 148

DISTRICT DASHBOARD



Teacher Support & Collaboration



Support and Collaboration

- Academic Team hosted 3 in-person New Teacher Training Days
- Monthly Department PLC ZOOM meetings (survey feedback below)

	Question	Sept.	Oct.	Nov.	Dec.	Feb.	Avg.
2022-	Practical Strategies	4.15	4.09	4.2	3.92	4.39	4.15
2023	Good use of Time	4.22	3.95	4.01	3.99	4.1	4.05
	Number of responses		95	92	78	88	91
	Question	Sept.	Oct.	Dec.	Jan.	Feb.	Avg.
2021-	Practical Strategies	3.69	4.05	4.18	4.24	3.98	4.01
2022	Good use of Time	3.61	4.09	4.18	4.21	3.84	3.96
	Number of responses	55	41	55	94	64	60.5



Instructional Rounds Updates

Instructional Rounds are day-Long visits to schools conducted by the Academic Team **four times a year**. A schedule is created for each visit that includes a morning leadership meeting, observation of classes, time for document review, and a debrief that highlights glows and grow trends for the school and next steps.

Purpose & Scope

- **September**: Baseline observations used to gather data around instructional practices for the year.
- **November/December**: Check-in #1 to observe, provide feedback around instructional practices goals, and support schools with initial preparation for authorizer visits.
- January/February: Check-in #2 to observe, provide feedback around instructional practices goals, and support schools with preparation for authorizer visits. (replaces mock visits for LAUSD schools & adds an additional visit for other schools)
- **April**: Summative observations for the year regarding instructional practices goals. Final feedback loop for the school with recommendations to consider when planning for next school year.

Highlights

- All 10 schools have been visited for rounds 1 and 2, round 3 is currently in process
- 421 classrooms have been observed with coaching feedback given to school leaders
- All school leaders have taken part in instructional rounds
- Action plans have been developed and implemented based on feedback and plans are consistently being monitored.

131 of 148

Magnolia Public Schools - Academic Committee Meeting - Agenda - Thursday February 16, 2023 at 5:00 PM

College: Courses, Applications and Coaches Dual Enrollment - snapshot data

- Los Angeles Valley College and Santa Ana College are our partners for facilitated courses
- Dual Enrollment has increased 31% since 21-22
- Current students have earned 2825 College Credits since Fall 2021 and 627 credits in Fall 2022
 - 65% of students have a DE grade from Fall 2022 (data is still be entered)
- 36% of HS students enrolled in a Dual Enrollment Course this academic year
- Spring 2023 update: 443 seats of Dual Enrollment across 15 courses including:
 - Anthropology, Sociology, Digital Media, Real Estate,
 - Broadcasting, Psychology, Ethnic Studies

College Applications & Financial Aid (~260 seniors)

- 1,431+ College Applications Submitted with the help of College Counselors
- 96 students have completed the FAFSA/CADAA

Alumni Success Coaches

 5 of our schools have hired ASCs to gather data and provide support to graduates

School Attendance



	2018-19	2019-20	2020-21	2021-22	2022-23 in-progress
Average Daily Attendance (ADA) Rate (P-2 ADA)	95.50%	96.08%	97.80%	90.36%	92.4% (months 1-5)
Chronic Absenteeism Rate	9.9 %	N/A	5.2%	25.8%	27.9% (as of 11/12/22)
SART Meetings	*	*	*	*	42 (as of 2/1/23)
Disenrollment due to SART Violation	*	*	*	*	6 (as of 2/1/23)



School Culture Data



	2018-19	2019-20	2020-21	2021-22	2022-23 in-progress
Suspension Data Out-of-School	73	29	0	66	56
Suspension Data In-School	8	3	0	6	7
Expulsion Data	3	I	0	2	0

Magnolia Public Schools - Academic Committee Meeting - Agenda - Thursday February 16, 2023 at 5:00 PM

School Culture



Criteria #1 - Tiered Fidelity Inventory (3x/year)

- Criteria #2 Collect Major Office Discipline Referral (0-1, 2-5, 6+)
- Criteria #3 Review the provided literature on Equity and Mental Health
- Criteria #4 Document an Action Plan to include TFI area of need, must include who, when, etc.
- Criteria #5 Tier 2/3 intervention that is evidence based (Gold & Platinum)
- Criteria #6 Academic Impact Identifier NWEA MAP
- Criteria #7 External Reviewer (ACER) conducts a Classroom Walkthrough (<u>Evidence Based</u> <u>Practices</u>)

Application Due on May 12, 2023

2021-22 Bronze Recipients: MSA; MSA3; MSA7; MSABell 2021-22 Silver Recipients: MSA2; MSA4; MSA5; MSA6; MSASA; MSASD





CIF Sports Offerings 2022-23

	Magnolia Science Academy - Warriors
Fall	Girls Volleyball
Winter	Boys Basketball; Girls Basketball
Spring	Boys Soccer; Girls Soccer; Boys Volleyball



	Magnolia Science Academy 2 - Mustangs
Fall	Boys Cross Country; Girls Cross Country; Girls Volleyball
Winter	Boys Soccer; Girls Soccer; Boys Basketball
Spring	Boys Volleyball; Girls Beach Volleyball; Boys Track & Field; Girls Track & Field







CIF Sports Offerings 2022-23

	Magnolia Science Academy 3 - Vipers
Fall	Girls Volleyball; Cross Country
Winter	Boys Basketball; Girls Basketball; Boys Soccer; Girls Soccer
Spring	Boys Volleyball; Competitive Cheer



	Magnolia Science Academy 4 - Eagles
Fall	Girls Volleyball
Winter	Boys Basketball; Co-Ed Soccer
Spring	Boys Volleyball







CIF Sports Offerings 2022-23

	Magnolia Science Academy 5 - Los Lobos
Fall	Girls Volleyball, Boys Cross-Country
Winter	Girls Basketball, Boys Basketball, Co-Ed Soccer
Spring	Boys Volleyball



	Magnolia Science Academy Santa Ana - Pirates
Fall	Girls Volleyball; Boys Cross-Country
Winter	Girls Basketball; Boys Basketball; Co-Ed Soccer; eSport
Spring	Boys Volleyball; Girls Track & Field; eSport



Special Education & Support Services Dr.Artis Callaham

Supporting SPED and Support Services



- With the Academic Team Assisting with the implementation of UDL, Team Teaching and MTSS Programs
- Gifted OLSAT/ Raven's Testing Coordination /Support to MPS Schools/ Developing Enrichment Program for 22-23 school year This year have assessed the following grade levels to increase equitable identification levels 3, 6, and 9. School sites are averaging an increase from approximately 2-3 students per school to 15-20 potential GATE students per school.
- Supporting school site leaders in preparation for closing out the school year grants, personnel, and service providers

Supporting School Sites with Special Education Compliance and Service Provision

- Support Schools in CDE Monitoring Procedures/Assist with CCEIS Team Quarterly Reporting, STEPS Grant Reporting and LLR ADR grant report narratives (metrics, student performance data etc.) LTEL Student support/ All schools are now implementing a reinstatement process at each triennial evaluation meeting to determine if students are eligible to transition out of SPED.
- Working with MPS Outreach and Fiscal Teams / Support for monitoring LLR, LEGAL Cost, and COP 3 Grants
- Attend all Authorizer and SELPA professional Development Meetings/ Share with SPED and Academic Teams as appropriate

Supporting Student Support Services /Overall Program

- Provide Guidance and support for all MPS School Psychologists, Social Workers and Counseling Interns
- Work with Accountability Team to Assist Schools in Completing the Quarterly Cal-PADS Mergers/State/SELPA Required Reports
- Completing and submitting all SELPA, Authorizer and State required Reports (I.e. Personnel Data, Extraordinary costs, NPS Reimbursements, Fiscal, ERMHS etc)

- Working on establishing MPS wide Speech and Language program
- Establishing a GATE Curriculum MPS Wide



Special Services Coordinator Krystal Zavala

Supporting MPS Educational Services



- Assisting with the implementation of UDL, Team Teaching and MTSS Programs as a member of the academic team
- Assisting with Gifted OLSAT/ Raven's Testing Coordination /Support to MPS Schools/ Developing Enrichment Program for 22-23 school year - This year have assessed the following grade levels to increase equitable identification levels 3, 6, and 9. School sites are averaging an increase from approximately 2-3 students per school to 15-20 potential GATE students per school.
- Vetted new MOU for additional NPS services

Supporting School Sites with Special Education Compliance and Service Provision

- Pulling all Weekly Service provision and IEP Meeting Tracking Documents from SEIS and Welligent. Sharing weekly to review in weekly follow-up meetings to establish and maintain closer management of SPED Compliance.
- Support Check-ins with targeted Sped Team members for additional guidance and support.
- Supports CAL-PADs mergers for all MPS Schools

Supporting Student Support Services /Overall Program

- Providing Daily/Weekly Guidance and support for all MPS School Psychologists, Social Workers and Counseling Interns
- Providing oversight for 504 program implementation
- Supporting Instructional Rounds specific to appropriate accommodation strategies for implementing differentiation of instruction

- Created Case Review panels for additional support for Psychologists with difficult/ potentially litigious cases
- Working on establishing MPS wide Speech and Language program
- Establishing a GATE Curriculum MPS Wide



Educational Services

Mr. William Gray

Supporting College Counselors and College & Career Readiness Program:

- Provide relevant, timely feedback and guidance to College Counselors
- Increase the percentage of all HS students that have met with their College Counselor, overall and by grade.
- Support expansion and improvement of site Dual Enrollment practices (296 F21 to 388 F22)
- Roll out Alumni Support Program including training and supervising new Alumni Success Coaches

Supporting new TOSAs and TOSA Program:

- Implement structure for submission, review, and revision of OrgWide Department Meeting Agendas
- Support TOSAs generation of OrgWide Departmental Instructional Assessment Goal
- Support TOSAs generation of OrgWide Departmental Cultural Events

- Every school will be in compliance with AB1505 and Ind. Study requirements.
- Each school will be prepared for authorizer and accreditation visits including data analysis and plan-writing, document preparation, presentation preparation, and compliance with all relevant policies. Guidance/coaching will be provided to leaders to improve practices



Student Services

Mr. Jason Hernandez

Discipline Procedures

- Support for Disciplinary Matter
- Planning in progress: community and restorative circles
- Refinement of PBIS and MTSS practices
- Refining Title IX process & investigation

Child Welfare & Attendance

- Attendance Intervention Refinement
- SART meetings have increased
- Non-violent Crisis Intervention Crisis Prevention Institute (PLC)
- Work Permits
- MPS Student Board Elections

School Safety

• Comprehensive School Safety Plan were re-organized (Purpose, Preparation, Prevention, Response)

CIF

• Quarterly meetings to share promising practices

- MSA 2 and MSA SA are participating within a CIF Division
- Instructional Rounds
- New Teacher Training





Mrs. Traci Lewin

Supporting Math Teachers

- Onboarded 12 new MPS math teachers
- Holding one-on-one meetings for individualized support
- Conducted demo lessons to model instructional practices for teachers
- Planning and hosting 7 monthly math department meetings (PLCs)

Math Curriculum Adoption Project

- Held intensive materials investigation in June 2022
 - Committee narrowed the curricula to 2 \bigcirc
- Conducted lesson studies of the potential curricula with math teachers during Oct, Nov, and Dec PLCs
 - Publishers presented to all elementary and math teachers during November PLC
- Teachers overwhelmly (66.7%) voted for Houghton Mifflin Harcourt (HMH) Into Math as their choice of new math materials

- Supporting school leaders
 - Conducting instructional rounds with Academic Team, Formative Walkthrough book study, Ο Liaison visits
- Along with the Academic Team, hosted 3 in-person New Teacher Training Days
- Supported schools with the implementation of the CA MTSS Pathways Certification for schools during the Summer and Fall Symposia Planning supports for Spring Symposium



EL and ELA Programs

Mrs. Katie Mann

Supporting EL Programs



- 8/10 MPS Schools exceeded the state levels on the Dashboard EL Performance Indicator (ELPI)
- Summative ELPAC testing began February 1, 2023. MPS has 661 enrolled EL students as of February 2, 2023, all of whom will be tested.

Supporting ELA Teachers

- Continued onboarding and support of 15 new ELA teachers (43% of our department)
- Hosted 5 ELA department org-wide PLC meetings, with 2 more scheduled this Spring
- Preparing to kick-off the Second Annual ELA essay contest in alignment with the STEAM EXPO

- Along with Traci Lewin, provided professional development on Collaborative Learning Strategies at MSA-3 and MSA-SA, and scheduled for MSA-8 and MSA-2
- Supporting school leaders
 - Conducting instructional rounds with Academic Team
 - Formative Walkthrough book study
 - Liaison visits and meetings with MSA-2, MSA-6, MSA-SA, and MSA-SD
- Along with the Academic Team, hosted 3 in-person New Teacher Training Days
- Supported schools with the implementation of the CA MTSS Pathways Certification for schools during the Summer and Fall Symposia. Planning supports for Spring Symposium.



Magnolia Public Schools - Academic Committee Meeting - Agenda - Thursday February 16, 2023 at 5:00 PM Extended Learning Opportunities Programs

Mr.Andross Milteer

Supporting ELOP Programs

- Planning and hosting ELOP monthly meetings
- Provided monthly Average Daily Attendance(ADA) progress reports to all 10 schools
- Working with schools to ensure targeted ADA goals are met
- Worked with schools to update Magnolia wide clubs tracker

Supporting

- Planning professional development/training for internal expanded learning staff
- Perform site observations for all schools to improve quality of programming
- Along with MSA Santa Ana Secondary administration, provided support in applying for the ASSETS/21st Century grant

- Monthly administrative meetings with Think Together regional leadership where they provide updates to attendance, staff personnel, and challenges and highlights
- MSA-6 began partnership with Think Together in November 2022 to provide after-school services to 20 students









Artwork Requirements



Entries must be ORIGINAL student Art Work done in the 2022-2023 school year



Can be any art form, painting, drawing, singing, instruments, theater, sculptures, media, dance, photography, etc. Must include: Artist Statement with a description of the student's artwork describing what it is, how they connect to the culture selected and what materials were used.

Must include first /last

name, grade, and

school

**ALL SUBMISSIONS MUST BE TURNED INTO YOUR SCHOOL'S MPS TOSA BY 02/14/2023 by 4pm, NO EXCEPTIONS/NO LATE SUBMISSIONS.



Powered by BoardOnTrack



Questions or Comments ?



Powered by BoardOnTrack